AGREEMENT

# **BETWEEN THE**

# **CITY OF SAN DIEGO**



AND

TREEBEARD LANDSCAPING, INC.

TO PROVDE LANDSCAPE SERVICES, IMPROVEMENTS AND ACTIVITIES TO THE TIERRASANTA MAINTENANCE ASSESSMENT DISTRICT

#### AGREEMENT

This Agreement (Agreement) is entered into by and between the City of San Diego, a municipal corporation (City), and Treebeard Landscape, Inc., a California corporation, (Contractor).

#### RECITALS

A. City wishes to retain Contractor to provide landscaping services, improvements, and projects (Services) within the Tierrasanta Maintenance Assessment District (MAD) as further described in the Scope of Work, attached hereto as Exhibit A.

B. Contractor has the expertise, experience, and personnel necessary to provide the Services.

C. City and Contractor (collectively, the "Parties") wish to enter into an agreement whereby City will retain Contractor to provide the Services.

D. This Agreement is exempt from competitive bidding requirements pursuant to San Diego Municipal Code (SDMC) section 22.3208(d) because the Purchasing Agent has certified that the award of a sole source contract number 20000086-25-L is necessary under SDMC section 22.3016(a).

NOW, THEREFORE, for good and valuable consideration, the sufficiency of which is acknowledged, City and Contractor agree as follows:

#### ARTICLE 1 CONTRACTOR SERVICES

**1.1 Scope of Services.** Contractor shall provide the Services to the City as described in Exhibit A, Scope of Work, which is incorporated herein by reference.

**1.2 Contract Administrator.** The Parks and Recreation Department (Department) is the Contract Administrator for this Agreement. Contractor shall provide the Services under the direction of a designated representative of the Department as follows:

Monica Honoré District Manager 9485 Aero Dr Parks and Recreation 619-685-1325 MHonore@sandiego.gov

**1.3** General Contract Terms and Provisions. This Agreement incorporates by reference the General Contract Terms and Provisions, attached hereto as Exhibit B.

**1.4 Submittals Required with the Agreement**. Contractor is required to submit all forms and information delineated in Exhibit C before the Agreement is executed.

#### ARTICLE 2 DURATION OF AGREEMENT

**2.1** Term. This Agreement shall be for an initial term of one (1) year beginning on the Effective Date and extending through October 20, 2025. The term of this Agreement shall not exceed five years unless approved by the City Council by ordinance.

**2.2** Effective Date. This Agreement shall be effective on October 21, 2024, after it is executed by the last Party to sign the Agreement and approved by the City Attorney in accordance with San Diego Charter Section 40 (Effective Date).

#### ARTICLE 3 COMPENSATION

**3.1 Amount of Compensation.** City shall pay Contractor for performance of all Services rendered in accordance with this Agreement in an amount not to exceed \$732,412.85.

#### ARTICLE 4 WAGE REQUIREMENTS

**4.1 Wage Requirements.** This Contract incorporates by reference the City's Wage Requirements, attached hereto as Exhibit D.

## ARTICLE 5 CONTRACT DOCUMENTS

**5.1 Contract Documents.** This Agreement including its exhibits completely describes the goods and services to be provided.

**5.2 Counterparts.** This Agreement may be executed in counterparts, which when taken together shall constitute a single signed original as though all Parties had executed the same page.

IN WITNESS WHEREOF, this Agreement is executed by City and Contractor acting by and through their authorized officers.

CONTRACTOR Treebeard Landscaping, Inc.

<u>Diane Patterson</u> 

Name: \_Diane Patterson

Title: \_\_\_\_\_

CITY OF SAN DIEGO A Municipal Corporation

By: \_

Name: <u>Claudia</u> Abarca

Director, Purchasing & Contracting

Dec 10, 2024 Date:

Approved as to form this <u>10th</u> day of December , 20 24 . MARA W. ELLIOTT, City Attorney

By: Daphne Skogen
Deputy City Attorney

Daphne Skogen

Print Name

#### EXHIBIT A SCOPE OF WORK

#### **SPECIFICATIONS**

#### A. SPECIFICATIONS

**1. Landscape Maintenance Specifications.** Contractor shall perform complete landscape maintenance and improvements of all contract areas identified in **Paragraph N** of these Specifications (Contract Sites) within the Tierrasanta Maintenance Assessment District, including, but not limited to, the following: irrigation, pruning, shaping and training of trees, shrubs, turf, and groundcover plants; fertilization; litter control; weed control; control of all plant diseases and pests; mowing; edging; renovation and aeration; sweeping; irrigation; and all other maintenance required to maintain the Contract Sites included in this Contract in a safe, attractive and useable condition and to maintain the plant material in good condition with horticulturally acceptable growth and color.

During and at the end of the maintenance period, all plant material shall be in a healthy, growing condition. The Contractor shall provide all equipment, labor, and materials necessary for performing landscape maintenance and irrigation services according to the following specifications.

**2. Improvements and Activities.** Contractor shall install and maintain certain improvements including, but not limited to the following: irrigation; plant material; and planting areas. Contractor services under these Specifications related to Improvements and Activities, including any extraordinary labor, shall be consistent with Improvements and Activities as authorized pursuant to the Assessment Engineer's Report for the Tierrasanta Maintenance Assessment District (MAD).

	Registration No.	Expiration Date	Name
DIR Registration No.	1000030259	6/30/25	Treebeard Landscape
Subcontractor's DIR Registration No.	N/A		

# B. DEPARTMENT OF INDUSTRIAL RELATIONS (DIR) REGISTRATION NUMBER:

# C. LICENSES

To perform the work described in these Specifications, the Contractor must hold a C-27 State of California Contractors License. Any Contractor holding a different license who feels qualified to submit a proposal on this work must notify the City Contact in writing at least seven days prior to the proposal due date. After a thorough review of the proposed license substitution, the City will inform the Contractor, in writing, of its decision prior to the proposal closing. The City's decision is final.

Any person supervising the use of pesticides, herbicides, or rodenticides must possess a valid Qualified Applicator's Certificate for Category B. The Contractor must also hold a Pest Control Business License, must retain the services of a licensed Pest Control Advisor (PCA), and must be registered with the County Agriculture Commissioner. <u>The Contractor must possess the below licenses prior to submitting their proposal.</u>

	License Number	Expiration Date	Name
State of California Contractors License	Class:C-27 No.: 388579	4/30/26	Treebeard Landscape Tim Hillman
Qualified Applicator Certificate	101044 Tim Hillman	12/31/24	Tim Hillman
Pest Control Business License	38808 Tim Hillman	12/31/24	Tim Hillman Treebeard Landscape
Pest Control Advisor	75356	12/31/24	Timothy Faucett

# D. SCHEDULING OF WORK

The Contractor shall establish an annual schedule of work (Work Schedule) to be followed in the performance of this Contract. In addition, the Contractor shall provide the Contract Administrator (as defined in Exhibit A, **Paragraph G** of this Contract) with a list(s) of exact start dates for fertilization, renovation, aeration, and other infrequent operations at each of the Contract Sites at least ten working days in advance of performing any of these operations.

Unless otherwise specified, the Contractor shall accomplish all normal landscape maintenance required under this Contract between the hours of 6:00 a.m. and 6:00 p.m., Monday through Friday, excluding holidays (normal working hours). If a specific task falls on a holiday, Contractor must complete the task on the following business day, or on an acceptable alternate date as authorized

# Exhibit A Page **2** of 77

by the Contract Administrator in writing. The Contract Administrator may grant, on an individual basis, permission to perform contract maintenance at other hours where the public's use of the Contract Sites is too great to allow for proper maintenance during normal working hours. Maintenance functions that generate excess noise, which would cause unreasonable annoyance to residents of the area, e.g., operations of power equipment, shall not commence before 8:00 a.m.

The Work Schedule, provided by the Contractor, must be completed, and submitted to the Contract Administrator prior to the commencement of work on this contract. Any changes in scheduling shall be reported, in writing, to the Contract Administrator immediately. This Work Schedule shall include routine work as well as infrequent operations such as fertilization and pruning.

The Contractor shall conduct the work at all times in a manner which will not unreasonably interfere with pedestrian traffic on adjacent sidewalks or vehicular traffic on adjacent streets.

In performing periodic operations required in this Contract, the Contractor shall continue routine grounds maintenance services within all Contract Sites without interruption.

# E. QUALITY OF WORK

The Contractor shall perform all work in accordance with the best landscape maintenance practices and in keeping with the high aesthetic level of the Contract Sites being maintained. The Contract Administrator shall periodically inspect all maintenance operations and approve or reject the work performed and methods or materials used.

# F. CONTRACTOR'S RESPONSIBILITIES

**1.** Company Representative. A company representative, authorized to discuss matters related to this Contract, must be available during normal working hours, Monday through Friday between 6:00a.m. and 6:00 p.m. All calls from the Contract Administrator shall be returned within a one-hour period.

**2. Emergency Calls.** The Contractor shall have the capability to receive and to respond immediately to calls of an emergency nature during normal working hours and outside of normal working hours. Calls of an emergency nature received by the Contract Administrator shall be referred to the Contractor for immediate disposition.

Emergency calls relating to irrigation shall be referred to the Contractor. A 24-hour emergency telephone number shall be provided by the Contractor for this purpose.

**3.** Reporting of Damages. Upon finding any hazard, damage, defect, leak, power outage, or other issue or situation that poses a threat to safety of the public or employees, or a loss of City assets (including water), the Contractor shall notify the Contract Administrator immediately. Safety problems must be reported by calling the Contract Administrator during the City's normal business hours, Monday through Friday between 7:00a.m. and 4:00p.m. (City's normal business

Exhibit A Page **3** of 77 hours). If these problems are encountered outside of the City's normal business hours, Contractor shall call (619) 685-1370 and email the Contract Administrator and provide the name and address of the Contract Site and a description of the problem.

Other hazards, damages, defects, other problems or irregularities, or maintenance issues must be reported to the Contract Administrator within 24 hours of discovery.

# 4. Staffing

# a. Supervision

The Contractor shall furnish sufficient supervisory and working personnel capable of promptly accomplishing on schedule, and to the satisfaction of the Contract Administrator, all work required under this Contract during the regular and prescribed hours.

i. Contractor shall provide a minimum of one qualified working field supervisor (Field Supervisor) who shall be at the Contract Sites at all times work is being performed by the Contractor. The Field Supervisor shall provide the necessary supervision to ensure work is completed as specified under the Contract. The Field Supervisor(s) must have at least three years of experience overseeing, implementing, and maintaining landscape enhancement projects and personnel, on a site of comparable acreage and plant material. It is desirable that the Field Supervisor have over three years of qualifying experience and highly desirable for the Field Supervisor to have over five years of qualifying experience. Contractor must submit a resume of the assigned Field Supervisor(s) with the proposal. The Field Supervisor will be interviewed by the Contract Administrator prior to acceptance. Payroll records may be utilized to verify experience. The Field Supervisor(s) must be employed by the successful Contractor at the time this Contract is awarded. Any changes in Field Supervisor(s) must be submitted in writing to the Contract Administrator.

In addition, the Field Supervisor shall inspect all Contract Sites a minimum of once per week. These inspections shall include a written punch list (to be completed by the Field Supervisor) of deficient items and dates of correction. Punch lists are to be given to the Contract Administrator on a weekly basis. Date and time will be determined by the Contract Administrator upon approval.

# b. Adequate Personnel

The Contractor shall maintain a sufficient number of full-time employees for each project/assignment during working hours/days specified, Monday through Friday. Staffing for this Contract requires a total minimum of twelve full-time employees, including the Non-Working Supervisor, and one full-time Irrigation Specialist, as described in further detail in Exhibit A, Subsection U.

All landscape maintenance workers, also referred to as laborers, in this document must have at least one year of fulltime paid experience in performing all aspects of landscape maintenance. It is desirable that all landscape maintenance workers/laborers have more than one year of fulltime paid experience, and highly desirable for all landscape maintenance workers/laborers to have

more than four years of fulltime paid experience. Qualifying paid experience must include all of the following: maintaining lawns, shrubs, trees, and ground covers; fertilizing plant material, cultivating, pruning shrubs and trees, mowing lawn areas, edging lawn areas, edging ground covers; operating and maintaining Irrigation systems, and performing minor irrigation repairs such as repairing/replacing broken or damaged irrigation heads and risers; and proper operation of landscape equipment.

# c. Ability to Perform Work

Contractor must have the staffing, equipment knowledge and financial resources to perform landscape maintenance projects in a timely manner with a quality end product. The plant material(s) on this site require uncommon maintenance practices. Contractor must have experience implementing and maintaining similar projects and personnel and overseeing all phases of landscape maintenance and personnel for a site of comparable square footage, scope of work and plant materials. This includes, but is not limited to, implementing, and maintaining landscape enhancement projects and personnel on a site of comparable acreage and plant material. All personnel shall be physically able to do their assigned work.

Contractor shall provide all of the following with the proposal:

- References for work completed by Contractor for a similar scope of work and size with similar dollar value as it compares to this RFP.
- A purchase order, contract, or other document that demonstrates Contractor's previous or existing responsibilities for work of a similar scope and size as it compares to this RFP.
- Examples and references for work completed as it relates to the following: landscaped and hardscaped medians, landscaped and undeveloped rights-of-ways, enhanced and native Open Space habitats and trail systems, parks with playground structures, joint-use sports fields, turf renovations, large irrigation systems, smart controllers, hardscaped surfaces including gutters, parking lots, sidewalks, concrete brow ditches and storm drains, comfort stations, landscaped library, recreation center facilities, or other public use locations.
- References and resumes for the working Field Supervisor(s) and Irrigation Specialist(s) proposed for work on this Contract and currently employed by Contractor. Resumes should include description of working knowledge of sports turf, smart controllers, and related software.
- A statement demonstrating the capacity and capability to provide enhanced service to the Tierrasanta MAD as it relates to Exhibit A and the associated frequencies in a timely manner.
- A proposed work schedule that demonstrates the fulfillment of the established frequencies.

 References and resumes of landscape maintenance workers/laborers proposed to work on this Contract and are currently employed by the Contractor. Resumes should include a description of the work experience and type of landscape maintenance performed.

Some priority projects may need to be performed immediately. In the event Contractor is awarded Extraordinary Work (as described in Exhibit A, **Paragraph X** of this Contract), the Contractor shall provide a separate specific work crew to accomplish projects as may be required.

# d. Proper Conduct

The Contractor, Contractor's employees, and Subcontractors shall conduct themselves in a proper and efficient manner at all times and shall cause the least possible annoyance to the public.

# e. Uniforms

The Contractor's staff and Subcontractors shall work in neat and clean uniforms. The Contractor shall furnish Contractor's employees with a shirt, or some other type of upper body wear, bearing the company's identification (a safety vest with the company identification on back will be considered as an adequate company identifier). Appropriate uniform shall be worn at all times, while on the job site. Failure to do so may result in termination of the Contract.

# f. Removal of Employee

The Contract Administrator may require the Contractor to remove from any of the Contract Sites any employee(s) if the Contract Administrator reasonably determines the employee(s) to be: (a) careless or incompetent, (b) unable to fulfill any of Contractor's material obligations under this Contract, or (c) has engaged in acts or omissions contrary to public health, safety, welfare, or morals.

# g. Communication Skills

The Contractor shall ensure that all on-site supervisors and Field Supervisor(s) can communicate in English both verbally and in writing. The on-site supervisor and Field Supervisor(s) shall be capable of completing, in English, legible written forms and shall be capable of understanding oral and/or written instructions in English.

# h. Repairs to Existing Facilities and Irrigation Systems

# a. Damage or Alteration Resulting from Contract Performance

i. The Contractor shall be responsible, at no cost to the City, for the repair or replacement of all portions of existing structures or facilities, including irrigation systems, which are damaged or altered in any way as a result of the performance of this Contract. Contractor shall

# Exhibit A Page **6** of 77

immediately, in writing, report all damages and alterations to the Contract Administrator. Damages and alternations shall be repaired or replaced in kind, as approved by the Contract Administrator.

ii. Unless otherwise directed, Contractor shall make repairs to facilities immediately after damage or alteration occurs as a result of Contractor's performance of work under this Contract. A comprehensive testing and check of all irrigation systems shall be made approximately thirty (30) days prior to the end of the Contract, and any repairs deemed the responsibility of the Contractor shall be made by the Contractor prior to the end of the Contract. If repairs are not made by the Contractor to the satisfaction of the Contract Administrator, deductions shall be made from the final payment in the amount to cover the cost of repairs, as determined by the Contract Administrator. Any difference of cost shall be paid by the Contractor.

# b. Other Damage or Alteration

i. All portions of existing structures or facilities, including irrigation systems, which require repair must be pre-approved by the Contract Administrator. All work will be repaired or replaced in kind, unless otherwise approved by the Contract Administrator. Compensation for labor and materials associated with irrigation systems repair shall be in accordance with the terms identified in Exhibit A, **Paragraph X** of this Contract.

# i. Maintenance of Controller Cabinets and Battery Numbers

At no cost to the City, the Contractor shall be responsible for maintaining the painted surfaces of irrigation and lighting controller cabinets as well as the corresponding automatic irrigation battery numbers on the lids of the automatic control valve boxes and light bulb replacements in controller cabinets, as necessary.

# j. Operation of Automatic Irrigation Controllers

Where the operation of automatic irrigation controllers is required as part of this Contract the Contractor shall:

a. Not duplicate any coded City key furnished by the City of access and operation of the controller.

b. Surrender all keys furnished by the City, promptly at the end of the Contract Term, or at any time deemed necessary by the Contract Administrator to prevent serious loss to the City of San Diego.

c. Protect the security of the City's property by keeping controller cabinet and building doors locked at all times.

d. Refrain from using premises behind locked doors for storage of materials, supplies, or tools except as approved by the Contract Administrator.

# Exhibit A Page **7** of 77

#### k. Safety Requirements

1. All work under this Contract shall be performed in such manner as to provide maximum safety to the public and, where applicable, to comply safety standards required by the federal Occupational Safety and Health Administration (OSHA) and the State of California's Division of Occupational Safety and Health (Cal/OSHA). The Contract Administrator reserves the right to issue restraint or cease and desist orders to the Contractor when unsafe or harmful acts are observed or reported relative to the performance of the work under this Contract.

#### I. Hazardous Conditions

The Contractor shall maintain all Contract Sites and work sites free of hazards to persons and property resulting from Contractor's operations. Contractor shall immediately report to the Contract Administrator any hazardous conditions, within or affecting a Contract Site, noted by the Contractor which are not a result of the Contractor's operations.

During and after periods of rain, Contractor shall immediately address hazardous conditions resulting from rain, and shall maintain all Contract Sites in a safe condition, free from fallen branches and trees, plants, trash, and soil debris from gutters, storm drain inlets, and brow ditches.

#### m. Hazardous Wastes Disposal Procedure

In all areas covered by this Contract the Contractor and/or Contractor's subordinate staff, upon finding illegally dumped debris which might reasonably be considered hazardous to the health and/or safety of Contractor's staff, the public, the landscape environment and/or adjacent properties, shall adhere to the following procedures:

a.Cordon off the area where the material has been found, to the extent possible.

b.Immediately call 911 (Fire Department) and provide all relevant information possible:

- i. Finder's name and company.
- ii. Specific location of material.
- iii. Try to determine:
  - (1) Number, size, and types of containers
  - (2) Description of labels
  - (3) Spillage to soil, pavement, water
  - (4) Description: solid, liquid, color
  - (5) Any danger to public

c.Inform the appropriate supervisor and the City Contract Administrator as soon as possible.

# Exhibit A Page **8** of 77

d.Remain at site until the Fire Department arrives.

e.Do not move, touch, or sniff any of the material.

## n. Use of Chemicals

The Contractor shall submit sample labels and Safety Data Sheets for all chemical herbicides, insecticides, and rodenticides proposed for use under this Contract for approval by the Contract Administrator. Materials included shall be limited to chemicals approved by the State of California Department of Agriculture. The use of any chemical shall be based on the recommendations of a licensed PCA. Annual PCA Pesticide Recommendations are required for each pesticide proposed to be used under this Contract for this specific site and shall be submitted to the Contract Administrator. The use of chemicals shall conform to the current San Diego County Department of Agriculture regulations. No chemical herbicides, insecticides, or rodenticides shall be applied until its use is approved, in writing, by the Contract Administrator as appropriate for the purpose and area proposed.

A Monthly Pesticide Use Report shall be submitted monthly with the Contractor's invoices for payment. This report shall include a statement of all applications of herbicides, insecticides, and rodenticides, detailing the chemical used, undiluted quantity, rate of application, are in which used, applicator's name and the date and purpose of the application. For months in which no pesticides are applied, state "No Pesticide Used" on the Monthly Pesticide Use Report.

## o. Litter

# a. Contractor Generated Trash

The Contractor shall promptly remove all debris generated by Contractor's pruning, trimming, weeding, edging and other work required in the Specifications of this Contract. Immediately after working in areas of public streets and park walks, gutters, driveways, and paved areas, the Contractor shall clean them with suitable equipment. A green waste tonnage report is required at the end of each calendar year.

#### b.Litter Pick-Up

In all Contract Sites, litter, including bottles, glass, cans, paper, cardboard, fecal matter, leaves, branches (any type and regardless of size), metallic items, cigarette butts, and other debris, shall be removed as shown in the Service Frequencies Schedule. The Contractor shall be responsible for paying all fees associated with the disposal of debris or trash accumulated during the performance of routine maintenance activities described above.

#### c.Hazardous Litter

Hazardous litter, including but not limited to wire, broken glass, jagged metal, and similar kinds

# Exhibit A Page **9** of 77

of litter, shall be immediately picked up and removed from the site by the Contractor upon notice or observation thereof.

# G. CONTRACT ADMINISTRATION

The Contract Administrator for this Contract is the City Park and Recreation Department's designee specified on Notice to Proceed letter issued under this Contract. The Contract Administrator will provide daily oversight of this Contract to ensure compliance to the scope of work and/or performance to Contract Specifications. The Contract Administrator, or designee, is also responsible for oversight of all invoice payments and billing questions for Purchase Orders issued under this Contract.

The Purchasing Agent shall be responsible for all contractual matters and is the only individual authorized to make changes of any kind to the Contract. The Contractor shall not rely upon any oral change from anyone, or a written request for change from someone other than the Purchasing Agent. All changes must be in writing, signed by the Purchasing Agent.

# H. FAILURE TO PERFORM SATISFACTORILY

It is agreed and understood that if the Contractor fails to perform the work as specified herein, the City will pay only for the amount of service actually received, as determined by the Contract Administrator, with an appropriate downward adjustment in Contract price. Such adjustments may be in accordance with the Pricing Page, or the Schedule of Task Costs provided herein by the Contractor.

The City shall perform inspections of the Contract Sites to ensure that staffing and maintenance is adequate and that all work complies with these Specifications. Discrepancies and deficiencies will be noted on Field Inspection Notices (FIN) and shall be corrected within the time frame specified. If the Contractor fails to take corrective action within the noted time frame on the FIN, the City may withhold payment and/or proceed with termination of the contract. If City finds, upon inspection, that staffing on a Contract Site does not meet Contract Specifications, Contract Administrator may withhold payment for charges associated with the staffing deficiency. Billing adjustments for unsatisfactory service shall be a permanent retention of the estimated monthly cost for work that is incomplete or deficient as stated herein.

When negligence on the part of the Contractor results in excessive use or waste of irrigation water, the estimated cost of this water shall be deducted from the Contract payment. Any monetary fines or other damages assessed to the City for failure to follow water conservation regulations imposed by the State of California, the County Water Authority, or other legal entity will be the responsibility of the Contractor unless cause to the contrary is substantiated to the satisfaction of the Contract Administrator.

# I. PAYMENTS WITHHELD

The City may withhold payment to such extent as may be necessary to protect the City from loss

due to:

1. Work required in the Specifications which is defective, incomplete, or not performed.

2. Staffing not provided as required under the Specifications or as proposed by Contractor.

**3.** Claims filed against the City for damage caused by the Contractor's acts or omissions, or reasonable evidence indicating probable filing of such claims.

**4.** Failure of the Contractor to make payments properly to Sub-Contractors for materials or labor.

5. A reasonable doubt that the Contract can be completed for the balance then unpaid.

#### J. INVOICING PROCEDURES

The Contractor shall be paid in accordance with Article III of the City's General Contract Terms and Provisions for work performed satisfactorily. The Contractor shall be paid monthly, in arrears, for work performed satisfactorily. Billing shall be in accordance with the current Purchasing Contract, allowing for City approved adjustments if any. Invoices shall be submitted to the Contract Administrator or designee, at the address specified on the Purchase Order(s).

The Contractor shall submit an invoice to the Contract Administrator by the tenth of the following month in which work was performed. The invoice shall reference the purchase order number, include a description of the work performed in each maintenance category outlined in the Contract, and correspond with the Pricing Agreement provided by Purchasing and Contracting Department.

Any invoices for payment related to Extraordinary Labor and/or Extraordinary Work shall include the location the work was performed and attached written authorization from the Contract Administrator approving Extraordinary Labor and/or Extraordinary Work. Failure to do so will result in payment being withheld for such services. Compensation for materials associated with Extraordinary Labor shall be the wholesale cost of the items involved plus 10 percent for the Contractor's cost of handling.

A Monthly Pesticide Use Report shall also be submitted in accordance with Exhibit A, Paragraph F, Subsection 15, **Use of Chemicals**. This report shall accompany the above invoice.

#### K. WATER CONSERVATION

Water conservation shall be diligently practiced. Irrigation shall be done in a manner to minimize run-off or other wastage. Failure to properly manage and conserve water resources may result in deductions or other penalties. The Contractor shall turn off irrigation systems during periods of rainfall and at such other times when suspension of irrigation is desirable to conserve water and to remain within the guidelines of good horticulturally acceptable landscape maintenance practices. Irrigation run times shall be adjusted weekly to compensate for current weather conditions

Exhibit A Page **11** of 77 (unless/until a weather-based controller is installed).

# L. IRRIGATION WATER - COSTS

The City of San Diego shall bear all the costs for water used in the maintenance of sites covered by this Contract with the exception of negligent water waste, which will be charged to the Contractor.

# M. METHOD OF PERFORMING WORK

# 1. Irrigation

Irrigation shall be done by the use of automatic, mechanical sprinkler systems where available and operable; however, failure of the existing irrigation system to provide full and proper coverage shall not relieve the Contractor of the responsibility to provide adequate irrigation with full and proper coverage to all areas.

In those areas where a manual sprinkler system (including drip) is installed, the Contractor shall once a week, thoroughly inspect the operation of the system for any malfunction. The Contractor shall advise the Contract Administrator within 24 hours of those malfunctions.

The Contractor shall maintain all sprinkler systems in such a way as to guarantee proper coverage and full working capability and shall make whatever adjustments may be necessary to prevent excessive run-off into street rights-of-way or other areas not meant to be irrigated.

All areas not adequately covered by a sprinkler system shall be irrigated by a portable irrigation method. The Contractor shall furnish all hoses, nozzles, sprinklers, etc. necessary to accomplish this supplementary irrigation. Care shall be exercised to prevent water waste, erosion, and/or detrimental seepage into existing underground improvements or structures. The cost of wasted water may be charged to Contractor as explained in Exhibit A, **Paragraphs K-M**. Irrigation shall be accomplished as follows:

**a.** Landscaped improved <u>banks and slopes</u> shall be irrigated Monday through Thursday as required to maintain horticulturally acceptable growth and color, and to encourage deep rooting.

**b.** Shrub <u>beds</u> shall be irrigated as required to maintain horticulturally acceptable growth and color, and to promote deep rooting. Shrub areas shall be irrigated at a rate which keeps surface runoff to a minimum. The irrigation rate shall be adjusted to the needs of shrub types, seasons, and weather conditions.

**c.** <u>Newly Planted Trees, Shrubs, and Groundcover</u> shall receive special attention until these plants are established. Adequate water and fertilizer shall be applied to promote normal, healthy growth. Proper berms or basins shall be maintained during the establishment period.

The Contractor shall comply, at all times, with the current level of the Emergency Water Regulations (see San Diego Municipal Code section 67.38) and any adopted City policies or procedures with respect to water usage and /or irrigation, as amended from time to time. The

# Exhibit A Page **12** of 77

Contractor must obtain prior written approval from the Contract Administrator before exceeding any applicable water regulations.

When excessive use or waste of irrigation water results from the Contractor's or any Sub-Contractor's performance under this Contract, the estimated cost of such water shall be deducted from the City's payment. The Contractor shall also pay any monetary fines or other damages assessed to the City for failure to follow water conservation regulations imposed by the State of California, The County Water Authority, or other legal entity arising out of performance of this Contract.

# 2. Pruning Shrubs and Groundcover Plants

All shrubs and groundcover plants growing in the work areas shall be pruned as required to maintain plants in a healthy, growing condition; to maintain plant growth within reasonable bounds; and to prevent encroachment of passageways, walks, streets, or view of signs; or encroachment in any manner deemed objectionable by the Contract Administrator. Dead or damaged limbs shall be removed with sharp pruning tools, with no stubs remaining. Pruning shall be done so as to permit plants to grow naturally in accordance with their normal growth characteristics except where box hedging is required by the Contract Administrator. Shearing, hedging or severe pruning of plants, unless authorized by the Contract Administrator, shall not be permitted. Contract or shall perform all corrective pruning methods to all plant materials as directed by the Contract Administrator. This includes but is not limited to the pruning of plants which have been hedge pruned in the past in order to return them to their natural growth characteristics. Contractor shall perform all such pruning including the removal of pruned materials at no additional cost to the City. Growth regulators shall not be used.

# 3. Tree Maintenance

**a.** All trees shall be maintained in their natural shapes. Pruning shall be performed in such a manner as to promote the best growth habits, appearance, and health of the tree, and to prevent encroachment which blocks vision or is in any manner deemed undesirable by the Contract Administrator. The Contractor shall, as part of this Contract be responsible for tree pruning that can be accomplished with a 12' pole saw by a worker standing on the ground. Trees shall not be topped. The Contractor shall bring to the attention of the Contract Administrator within 24 hours any tree that shows signs of root heaving or leaning or is in any manner a safety hazard.

The Contractor shall be responsible for the complete removal and replacement of those trees lost due to Contractor's faulty maintenance or negligence, as determined by the Contract Administrator. Replacement shall be made by the Contractor in the kind and size of tree determined by the Contract Administrator. Where there is a difference in value between the tree lost and the replacement tree, the difference will be deducted from the Contract payment. In all cases, the value of the tree lost shall be determined by the Contract Administrator, using the latest International Society of Arboriculture (I.S.A.) guidelines for value determination.

**b.** All newly planted trees shall be securely staked with two "lodge pole" type stakes placed on opposite sides of the tree, outside the root ball, and secured to the tree with at least two flexible rubber tree ties.

**c.** Tree ties shall be inspected regularly to ensure against girdling and abrasion.

**d.** Trees and shrubs that are uprooted and/or broken due to storms, regardless of size, shall be up righted immediately, if possible. If this is not possible, they shall be removed immediately (including roots), and the holes must be filled. The Contractor shall be responsible for paying any and all fees associated with the disposal of tree debris under the terms of this contract.

## 4. Fertilization

The Contractor shall inform the Contract Administrator at least 48 hours before beginning any fertilization and shall have previously submitted a Safety Data Sheet (SDS), schedule of application showing the site, date, and approximate time of application of the fertilizer. Submission of the fertilizer schedule does not release the Contractor from any of the other obligations described in this Subsection 4 or any other provisions. The fertilization schedule, regardless of its intensity, timing, or the number of sites covered daily or weekly, shall not excuse the Contractor from performing any other work regularly required under this contract.

Fertilizer shall be delivered to the site only in the original unopened containers bearing the manufacturer's guaranteed analysis. Damaged packages will not be accepted. The Contractor shall furnish the Contract Administrator with duplicate signed and legible copies of all certificates and invoices for all fertilizer to be used in this contract. The invoices must state the grade, amount, and quantity received. Both the copy and invoice to be retained by the City and the Contractor's copy must be signed by the Contract Administrator, on site, before any material may be used.

The Contractor may not begin the actual application until the obligations in the preceding paragraph have been complied with.

Fertilizers shall be applied at the rates specified below:

- One pound of actual nitrogen per 1,000 square feet of planted area shall be applied to turf, shrubs, vines, groundcovers, and trees as specified.
- Acceptable complete fertilizers include but are not limited to: Best Turf Supreme 16-6-8, Best Super Turf 25-5-5, Yara Turf Royale 21-7-14.
- Contractors shall include material costs for the following specified fertilizer products in 50 lb. bags:
  - Best Turf Supreme 16-6-8, two times per year in February and June (544 bags annually); and

#### Exhibit A Page **14** of 77

- Best Super Turf 25-5-5, two times per year in April and September (348 bags annually); and
- Yara Turf Royale 21-7-14, one time per year in December (207 bags annually).

The Contractor's materials costs in their proposal shall reflect these specified fertilizers. The Contract Administrator reserves the right and authority to specify alternative fertilizer materials. No changes in fertilizer materials shall be utilized without written approval from the Contract Administrator prior to the fertilizer application. The Contractor shall provide cost per bag with proposal submittal.

As deemed necessary by the Contract Administrator to achieve required results, other materials including, but not limited to, iron chelate, soil sulfur, gypsum, surfactant enzymes such as Sarvon or Naiad, etc., may be needed and shall be applied as necessary at the Contractor's expense.

Adequate irrigation shall immediately follow the application of fertilizers and/or amendments to force fertilizer material to rest directly on the soil surface. Drip irrigated areas shall be adequately hand watered using quick coupler valves and hoses to dissolve fertilizer.

Fertilization must occur in prescribed months and shall be accomplished in a manner so as to achieve an even green. If fertilization results are patchy, remedial fertilizer must be applied immediately.

# 5. Weed Control

Weeds shall be <u>removed</u> from all shrub and groundcover beds, planters, tree wells, cracks in paved areas, including sidewalks, and areas covered with ornamental rocks, as shown in Service Frequencies Schedule.

This means <u>complete removal</u> of all weed growth. For the purpose of this specification, a weed will be considered "any undesirable or misplaced plant". Weeds shall be controlled by manual, mechanical, or chemical methods.

The Contract Administrator may restrict the use of chemical weed control in certain areas.

Center Island maintenance shall include the removal of weed growing in all paved or unpaved surfaces of the Center Island.

# 6. Disease and Pest Control

The Contractor shall regularly inspect all landscaped areas for presence of disease, insect, or rodent infestation. The Contractor shall advise the Contract Administrator within four days if disease, insect, or rodent infestation is found; Contractor shall identify the disease, insect, or rodent and specify control measures to be taken. Upon approval of the Contract Administrator, the Contractor shall implement the approved control measures, exercising extreme caution in the application of all sprays, dusts, or other materials utilized. Approved control measures shall be continued until the disease, insect or rodent is controlled to the satisfaction of the Contract Administrator. The Contractor shall utilize all safeguards necessary during disease, insect, or rodent control operations

to ensure safety of the public and the employees of the Contractor, in accordance with current standard practices accepted by the California Department of Food and Agriculture. If Contractor is unable to control the pest or disease, a pest control company will be hired, and the billing will be deducted from Contractor's monthly payment.

All individuals who supervise the mixing and application of herbicides, insecticides, and rodenticides shall possess valid Qualified Applicators Certificate for Category B issued to them by the California Department of Pesticide Regulation and submit to the Contract Administrator within 30 days of expiration a copy of the valid certificate.

# 7. Replacement of Plant Material

The Contractor shall notify the Contract Administrator within four days of the loss of plant material due to any cause.

**a.** The Contractor shall supply, at its own expense, the labor, and all materials to replace any tree, shrub, groundcover, or other plant which is damaged or lost as a result of Contractor's faulty maintenance or negligence. The size and species of replacement plant materials shall be as directed by the Contract Administrator.

**b.** To ensure maximum healthy growth and overall aesthetic appearance of planting in the work area, it may be desirable to replace certain plants. The necessity or desirability of such plant replacement shall be determined by the Contract Administrator. If for any reason, such plant replacements are deemed necessary, the City will pay for labor at the Contractor's extraordinary labor rate in accordance with rates quoted for Extraordinary Labor. For plantings, plant material shall be reimbursed to the Contractor at the wholesale cost of the plants required plus 10 percent for the Contractor's cost of handling.

#### 8. Groundcovers

Groundcovers are low growing plants that grow in colonies to form a solid mat over the surface of the ground. They spread by rhizomes, by stolons or by roots which form at the nodes of trailing branches that come in contact with the soil. The plants give a flat or two-dimensional effect to the landscape; such plants include, but are not limited to: arctotheca, osteospermum, trailing gazania and lantana, ivy, trachelospermum, baccharis, and varieties of ice plant and myoporum.

#### **a.** Irrigation

All areas planted with groundcovers shall be adequately irrigated and fertilized to maintain the planting in a healthy condition. Frequent, light irrigations shall be avoided.

# **b.** Edging

Groundcover beds shall be maintained within their intended bounds and shall not be permitted to

# Exhibit A Page **16** of 77

encroach into lawns, shrub beds, sidewalks, or adjacent areas, or to encroach in any manner deemed undesirable by the Contract Administrator. Edging is to be completed as specified in the Service Frequencies and shall include all fixtures (e.g., fire hydrants, manhole covers, meter boxes, valve boxes, quick couplers, gate valves). All edging must have a clean cut with the cut perpendicular to the hard surface and not removed from it. Chemical edging is unacceptable.

**c.** Pruning

All groundcover plantings shall be thinned and pruned as necessary to maintain them within their intended bounds, and at such other times as directed by the Contract Administrator for the health of the planting and the appearance of the site.

**d.** Replanting

Replanting will be required to maintain the continuity of the groundcover area, and replacements shall be as approved by the Contract Administrator, according to Exhibit A, Paragraph M, Subsection 7, **Replacement of Plant Material**.

e. Cultivation

The open soil between plants shall be cultivated where the planting permits.

# 9. Facility Maintenance

**a.** Sidewalks and Paved Areas (Including Paved Center Islands)

All sidewalks and other paved surfaces shall be maintained in a safe, non-hazardous, and useable condition at all times. The Contractor shall remove fecal matter, stones, glass, paper, leaves, twigs, wood chips, sand, all other debris from paved areas. Any damage or repairs required shall be reported within 24 hours to the Contract Administrator. See Service Frequencies Schedule.

**b.** Repair of Damage or Malfunction

Damage to or malfunction of any facility not specifically provided for shall be reported within 24 hours to the Contract Administrator.

**c.** Storm Drain Inspection & Cleaning

All storm drains at work sites are to be periodically inspected and cleaned according to the Service Frequencies schedule. Contract Site maps will be provided by the Contract Administrator. The following Storm Drain BMPs are to be followed: Inlets/Drains. Keep all inlets/drains free of debris and sediment at the entrance or grate of drain. Contractors are not expected to lift the grate, but if debris can be reached with a pickup stick that is allowed. Remove sediment build up.

**d.** Park Signs

# Exhibit A Page **17** of 77

All Park Signs at work sites are to be periodically inspected and cleaned according to the Service Frequencies schedule. Signs are to be kept clean, legible, upright, litter free, graffiti free, and free from defects, damage, or vandalism. Any damage or repairs required shall be reported to the Contract Administrator within 24 hours.

e. Benches and Tables

All Benches and Tables at work sites are to be periodically inspected and cleaned according to the Service Frequencies schedule. Benches and Tables are to be kept clean, litter free, graffiti free, and free from defects, damage, or vandalism. Leaves and other debris shall be swept or blown. All trash and debris are to be removed from the work site. Any damage or repairs required shall be reported to the Contract Administrator within 24 hours.

**f.** BBQ's and Hot Coal Dispensers

All BBQ's and Hot Coal Dispensers at work sites are to be periodically inspected and cleaned according to the Service Frequencies schedule. BBQ's and Hot Coal Dispensers are to be kept clean, litter free, graffiti free, and free from defects, damage, or vandalism. All trash and debris are to be removed from work site. Any damage or repairs required shall be reported to the Contract Administrator within 24 hours.

**g.** Multi-Purpose Courts and Tennis Courts

All Multi-Purpose Courts and Tennis Courts at work sites are to be periodically inspected and cleaned according to the Service Frequencies schedule. Multi-Purpose Courts and Tennis Courts are to be kept clean, litter free, graffiti free, and free from damage or vandalism. Leaves and other debris shall be swept or blown. All trash and debris are to be removed from work site. Any damage or repairs required shall be reported to the Contract Administrator within 24 hours.

h. Stairways, Railings, Fencing, Bleachers, and Dug-Outs

All Stairways, Railings, Fencing, Bleachers, and Dug outs at work sites are to be periodically inspected and cleaned according to the Service Frequencies schedule. Stairways, Railings, Fencing, Bleachers, and Dug-Outs are to be kept clean, litter free, graffiti free, and free from defects, damage, or vandalism. Leaves and other debris shall be swept or blown. All trash and debris are to be removed from work site. Any damage or repairs required shall be reported to the Contract Administrator within 24 hours.

i. Par Course Fitness Equipment

All Par Course Fitness Equipment at work sites are to be periodically inspected and cleaned according to the Service Frequencies schedule. Par Course Fitness Equipment are to be kept clean, litter free, graffiti free, and free from defects, damage, or vandalism. Leaves and other debris shall be swept or blown. All trash and debris are to be removed from work site. Any damage or repairs

# Exhibit A Page **18** of 77

required shall be reported to the Contract Administrator within 24 hours.

j. Playgrounds

All Playgrounds at work sites are to be periodically inspected and maintained according to the Service Frequency schedule. Equipment and Climbing Structures are to be kept clean, litter free, graffiti free, and free from defects, damage, or vandalism. They shall be inspected to ensure that no bolts, fasteners, or hardware is missing or loose. Protective Surfacing areas are to be kept free of litter, glass, dirt, leaves, or other debris. Contractor will level out loose-fill material such as Sand or Engineered Wood Fiber to keep fall zones level and all depressions filled to grade. Areas under swings, slides, and platforms are to be kept at a safe and level surface. Any damage or repairs required shall be reported to the Contract Administrator within 24 hours.

**k.** Drinking Fountains

All Drinking Fountains at work sites are to be periodically inspected and cleaned according to the Service Frequency schedule. Drinking fountains are to be kept clean, litter free, graffiti free, and free from defects, damage, or vandalism. They shall be inspected to ensure that water flows and drains properly. Any damage or repairs required shall be reported to the Contract Administrator within 24 hours.

**I.** Comfort Stations

All Comfort Stations at work sites are to be periodically inspected and cleaned according to the Service Frequencies schedule. Comfort Rooms are to be kept clean, litter free, graffiti free, and free from defects, damage, or vandalism. All trash and debris are to be removed from work site. Floors are to be swept & mopped, fixtures cleaned & polished, and walls & partitions to be cleaned and disinfected according to the Service Frequency schedule. The City must approve all disinfectants and cleaners used. All dispensers are to be kept full. Paper products include both toilet paper and seat protectors. Any damage or repairs required including plumbing repairs shall be reported to the Contract Administrator within 24 hours.

#### 10. Inspection`

The Contractor shall provide comprehensive ongoing inspection of the Contract Sites. This inspection shall be performed by the Field Supervisor as well as a Non-Working Supervisor who shall provide the Contract Administrator with a written punch list each week of items requiring remedial action or attention together with dates when the required work will be performed. Failure to provide such a punch list will indicate that no remedial action is required and that all work has been performed in accordance with the Contract Specifications.

The City shall provide continuing inspection of the work area to ensure that maintenance is adequate and that all work complies with these Specifications. Discrepancies and deficiencies will be noted on FIN and shall be corrected within the time frame specified. If the Contractor fails to take corrective action within the noted time frame on the FIN, the City may withhold payment

and/or proceed with termination of the contract.

#### **11. Site Inspection and Turnover**

**a.** Approximately 30 days prior to the end of the Contract Term, the Contract Administrator will inspect the Contract Sites with the current Contractor to ensure that sites are turned over at the end of the Contract Term in a condition that conforms to the Contract Specifications. If a new Contractor is to perform thereafter, the new Contractor shall be a part of the inspection party. Any deficiencies found in the specified maintenance level shall be noted and presented to the current Contractor in writing. The City shall be the sole judge as to what constitutes a deficiency. The current Contractor fails to correct the noted deficiencies and turns over the Contract Sites in an unacceptable condition, as determined by the Contract Administrator, the City will correct the deficiencies that remain. All costs incurred by the City to correct deficiencies will be deducted from the current Contractor's final payment. The City shall be the sole judge as to what constitutes a reasonable cost for work authorized.

**b.** Approximately ten days after commencing work, the Contractor shall tour Contract Sites with the Contract Administrator. The Contract Administrator may authorize a mutually agreed upon one-time payment to the Contractor for correcting any identified and agreed upon deficiencies. If payment and work are authorized, the Contractor shall bring the Contract Sites into compliance with these Contract Specifications and thereafter maintain them at that level.

#### **12. Traffic Control Plans**

On those occasions when the requested work requires a street, sidewalk, alley, or bikeway to be blocked, wholly or partially, the Contractor is to comply with the traffic control plans as prescribed in Chapter 5 of the Caltrans Traffic Manual Traffic Control for Construction and Maintenance Work Zones. Information and the required written notices shall be obtained from the City of San Diego Traffic Engineering Division, Plan Check Counter, 1222 First Avenue, San Diego, CA 92101, phone (619) 446-5284. The required written notice must be filed prior to commencing work in the impacted area.

#### 13. Turf Maintenance

**a.** Mowing

Turf shall be mowed in accordance with the Service Frequencies.

The Contractor shall mow all turf grass in the Contract Sites so that no more than 1/3 of the grass blade is removed during each mowing in returning the grass to the accepted height for the species of grass being mowed in inclement weather may preclude adherence to the frequency schedule; the Contractor may request that the Contract Administrator alter mowing frequency because of rain or prolonged cold. A missed mowing cannot be "made up" by mowing twice in the subsequent

## Exhibit A Page **20** of 77

week(s).

Mowing must be done in a neat pattern. Mowing patterns are to be alternated to avoid compaction of soil. Contractor shall immediately clean all sidewalks after mowing. Cuttings shall be removed from all hardscape and turf areas and not blown into the street or shrub beds. Contractor shall report wet soggy areas in turf due to over watering or leaks to the Field Supervisor immediately.

Mowing Equipment shall be maintained so as to provide a smooth, even cut without tearing. The blade adjustment shall provide a uniform, level cut without ridges or depressions. The mower blades shall be kept sharp. Equipment shall not be allowed to create ruts or depressions in the turf.

**b.** Edging

All turf shall be edged in accordance with the Service Frequencies.

The Contractor shall edge all turf areas in the Contract Sites that are adjacent to improved surfaces. Where no improved surfaces exist, turf edges shall be maintained if the turf area abuts a shrub bed or property line or any other area where turf delineation is required by the Contract Administrator. All edging must have a clean cut with the cut perpendicular to the hard surface and not removed from it. Contractor shall edge all fixtures (e.g., fire hydrants, manhole covers, meter boxes, valve boxes, quick couplers, gate valves). Chemical edging is unacceptable.

**c.** Renovation

Renovation shall be the operation approved by the Contract Administrator that removes accumulated thatch from turf areas. A schedule of equipment to be utilized by the Contractor shall be submitted to the Contract Administrator at least ten days prior to beginning work. Refuse generated from renovation shall be removed from the work site no later than the day following renovation. Thatch and other debris left on the site overnight shall be completely contained in bags or burlap sheets so that it does not migrate to adjacent areas. A Work Schedule shall also be submitted showing the site, date, and time the actual operation is to be performed, and the Contractor shall not begin the actual renovation until approval is given by the Contract Administrator for the type of equipment and Work Schedule. The Contract Administrator may delete the renovation requirement from a particular site.

#### **d.** Aeration

The Contractor shall aerate all turf areas in the Contract Sites by core removal to a depth of two inches in accordance with the Service Frequencies. Under adverse conditions or where turf is suffering from compaction due to high use, aeration may be necessary at more frequent intervals. The frequency interval shall be as required to promote healthy, vigorous growth. Contractor shall inform Contract Administrator if, for any of these reasons, Contractor deems aeration beyond the frequencies listed in the Service Frequencies as necessary. Aeration beyond the frequencies listed

# Exhibit A Page **21** of 77

in the Service Frequencies shall be considered Extraordinary Work and is subject to Exhibit A, **Paragraph X** of this Contract.

A schedule of aeration equipment to be used shall be submitted to the Contract Administrator ten days prior to beginning work.

In performing periodic operations as required herein, routine grounds maintenance services at the same work site such as, but not limited to, litter control, weed control, and irrigation shall continue without interruption.

# 14. Mulch

The Contractor shall mulch all planter beds as required in the Service Frequencies. Mulch shall be specified as 2" size untreated. Landfill mulch is acceptable for use. Mulch shall be installed to a minimum 2" depth around trees and shrubs in planter beds. Contractors shall include material costs for cubic yards per year for the areas specified in the Schedule of Tasks. Other areas requiring mulch may be billed to the City as Extra Labor projects with prior written approval from the Contract Administrator and in accordance with all applicable provisions of this Contract, including Section X, Extraordinary Labor

# 15. Decomposed Granite

All Decomposed Granite (DG) areas at work sites are to be periodically inspected and filled according to the Service Frequencies schedule. The Contractor shall order, schedule delivery, dump, and spread DG material as needed to maintain a level surface. The Contractor shall level out low areas to fill in ruts, holes, grooves, depressions, etc. DG material and delivery fees may be billed to the City as Extraordinary Labor projects with prior written approval from the Contract Administrator, and in accordance with all applicable provisions of this Contract, including Section X, Extraordinary Labor.

# 16. Joint-Use Sites

Contract Sites include six Joint-Use sites which shall be maintained in accordance with this Paragraph M.

- **a.** Contractor shall maintain all of the following in accordance with this Section M as described above:
  - i. Turf
  - ii. Shrubs and Groundcovers
- iii. Trees
- iv. Facilities

# Exhibit A Page **22** of 77

#### **b.** Athletic Field Surface

All Athletic Field Surfaces at work sites are to be periodically inspected and filled according to the Service Frequencies schedule. The Contractor shall order, schedule delivery, dump, and spread topsoil or sand as needed to maintain a level surface. The Contractor shall level out low areas to fill in ruts, holes, grooves, depressions, etc. Material and delivery fees may be billed to the City as Extraordinary Labor projects with prior written approval from the Contract Administrator and in accordance with all applicable provisions of this Contract, including Section X, Extraordinary Labor.

# c. Decomposed Granite Area

All DG areas at work sites are to be periodically inspected and filled according to the Service Frequencies schedule. The Contractor shall order, schedule delivery, dump, and spread DG material as needed to maintain a level surface. The Contractor shall level out low areas to fill in ruts, holes, grooves, depressions, etc. Decomposed Granite (DG) material and delivery fees shall be billed to the City as Extraordinary Labor projects with prior written approval from the Contract, including Section X, Extraordinary Labor.

## d. Infields

All Infield areas at work sites are to be periodically inspected and filled according to the Service Frequencies schedule. The Contractor shall order, schedule delivery, dump, and spread CA/San Diego Gold DG with Stabilizer as needed to maintain a level surface. The Contractor shall level out low areas to fill in ruts, holes, grooves, depressions, etc. Decomposed Granite (DG) material and delivery fees shall be billed to the City as Extraordinary Labor projects with prior written approval from the Contract Administrator, and in accordance with all applicable provisions of this Contract, including Section X, Extraordinary Labor.

# N. CONTRACT SITES

The sites to be maintained under the terms of this Contract, collectively referred to as the "Contract Sites," include Medians, Rights-of-Way, Slopes, Streets, Brow Ditches, Gutters and Curbs, Open Space Trails, Overlooks, Neighborhood Parks, Joint-Use Sports Fields, and other specified areas within the Tierrasanta Maintenance Assessment District, as specified in the subsequent pages. The Contract Sites are divided into categories as described below:

1.	<b>CATEGORY II:</b>	Street Medians Landscaped with Trees, Shrubs, &
	Groundcover	

- 2. CATEGORY III: Street Medians Hardscaped/Paved
- 3. CATEGORY V: Parkway Right-of-Way Landscaped with Turf, Trees, Shrubs & Groundcover
- 4. CATEGORY VI: Parkway Right-of-Way Undeveloped
- **5. CATEGORY VIII:** Open Space-Enhanced with Turf, Trees, Shrubs, & Groundcover, and adjacent hardscape and gutters.
- 6. CATEGORY IX: Open Space-Native includes trails, paths, pond areas, and adjacent hardscape and gutters.
- 7. CATEGORY X(a): Roadrunner Neighborhood Park
- 8. CATEGORY X(b): Tierrasanta Community Park
- 9. CATEGORY X(c): Villa Monserate Neighborhood Park
- **10.** CATEGORY X(d): Villa Norte Neighborhood Park
- 11. CATEGORY X(e): Gaspar DePortola Middle School (Joint-Use Site)
- 12. CATEGORY X(f): Farb Middle School (Joint-Use Site)
- **13.** CATEGORY X(g): Kumeyaay Elementary School (Joint-Use Site)
- 14. CATEGORY X(h): Canyon Hills (formerly Serra) High School (Joint-Use Site)
- **15.** CATEGORY X(i): Tierrasanta Elementary School (Joint-Use Site)
- 16. CATEGORY X(j): Vista Grande Elementary School (Joint-Use Site)
- **17. CATEGORY XI:** Curbs and Gutters
- **18. CATEGORY XIII:** Concrete Brow Ditches
- **19.** CATEGORY XIV: Tierrasanta Branch Library
- 20. CATEGORY XV(a): Other-Park Acreage Undeveloped
- 21. CATEGORY XV(b): Mission Trails Regional Park Trash Receptacles (4 Total)

## Exhibit A Page **24** of 77

The Contract Sites are as follows:

CATEGORY II: Street Medians-Landscaped with Trees, Shrubs and Ground Cover (includes Hardscape and Cobble). Approximately 177,297 Sq. Ft. of Landscaped Area and 166,046 Sq. Ft. of Hardscape. Approximately 343,343 Sq. Ft. Total

#### 1. ANTIGUA BOULEVARD

Santo Rd. east to Via Valarta. Four (4) medians landscaped.

# 2. <u>CLAIREMONT MESA BOULEVARD</u>

Interstate 15 east to road terminus. Fourteen (14) medians.

# 3. <u>REMORA STREET</u>

Santo Road east to Montego Dr. One (1) median.

## 4. <u>SANTO ROAD</u>

El Comal Dr. south to Aero Dr. Nine (9) medians.

## 5. <u>TIERRASANTA BOULEVARD</u> Interstate-15 east to road terminus. Nine (9) medians.

## CATEGORY III: Street Medians-Hardscaped/Paved Approximately 29,568 Sq. Ft. Total

1. <u>ANTIGUA BOULEVARD</u> Across from Kumeyaay Elementary School. Two (2) medians.

#### 2. <u>CLAIREMONT MESA BOULEVARD</u> Antigua Blvd. east to Santo Rd. One (1) median.

# 3. SANTO ROAD

Interstate-15 south to El Comal Dr. Three (3) medians. Clairemont Mesa Blvd. south to Porto Ct. One (1) median. Aero Dr. south to road terminus. Four (4) medians.

#### CATEGORY V: Parkway Rights-of-Way or Adjacent Areas Landscaped with Turf, Trees/Shrubs/Groundcover (includes Hardscape). Approximately 137,995 Sq. Ft. of Landscaped Area and 103,805 Sq. Ft. of Hardscape. Approximately 241,800 Sq. Ft. Total.

Exhibit A Page **25** of 77

## 1. ANTIGUA BOULEVARD

North Side:Santo Rd east to Calle Mariselda Dr.South Side:Santo Rd. east to Maintenance Pull-Out.10 ft. setback from curb.

## 2. <u>CLAIREMONT MESA BOULEVARD</u>

Antigua Blvd. north side Two (2) corner lawns. Setback from curb to toe of slope.

Antigua Blvd. east to Shepherd's Canyon, both sides 18 ft. setback from curb.

- North Side: Antigua Blvd. east to Shopping Center entrance.
- South Side: Condominiums east to Open Space gate

Santo Rd. east to De Portola Middle School exit driveway, north side. Setback to Barbados Wall.

Seda Dr. east to road terminus, mulched Rights-of-Way, north side.

## 3. SANTO ROAD

East Side:Antigua Blvd. south to Tierrasanta Blvd. 25ft. setback from curb.West Side:Antigua Blvd. at Open Space gate south to Shopping Center.

#### 4. TIERRASANTA BOULEVARD

North Side:	Ducos Pl. east to Open Space gate.
	10 ft. setback from curb.
South Side:	Santo Rd. at bank (first wood post) east to SDGE substation. 26 ft. setback from curb.

#### CATEGORY VI: Parkway Rights-of-Way or Adjacent Areas –Undeveloped. (Approximately 10 ft. in from curb) Includes Sidewalks. Approximately 226,780 Sq. Ft. Total

# 1. CALLE DE VIDA/COLINA DORADA

Rueda Dr. south to Madrugada Ct. Both sides.

#### 2. <u>CLAIREMONT MESA BOULEVARD</u>

East of Santo Road:	
North Side:	De Portola Middle School east to the church at Via Valarta.
South Side:	Old Water Pump Station east to road terminus.
West of Santo Road:	
North Side:	Interstate-15 east to Antigua Blvd.
South Side:	Interstate-15 east to Antigua Blvd.
	Shepherd's Canyon at ice plant strip east to Santo Rd.

Exhibit A Page **26** of 77

#### 3. <u>SANTO ROAD</u>

West Side: Portobelo Drive south to Shepherd's Canyon Open Space gate.

#### 4. <u>TIERRASANTA BOULEVARD</u>

North Side:	Interstate-15 east to Santo Rd.
	Colina Dorada east to road terminus.
South Side:	Interstate-15 east to Santo Rd.
	El Dorado green condominiums east to road terminus.

#### 5. VIA VALARTA / PORTOBELO

Portobelo Pocket Park southeast to Montenosa Apts. property. Both sides. Camino Playa Norte south to Via Dominique. Both sides.

#### CATEGORY VIII and IX: Enhanced and Native Open Space (806.01 total acres) -Includes Hardscape

1. Open Space Entrance/Access Locations

The open space accessible from these locations is a combination of enhanced and native with the vast majority of acreage mostly native. These are provided as a guide to the maintenance areas requiring more than the native, 'undeveloped' acreage or as information to gain access into the native open space and some trailheads.

There are 40 trash cans with liners and 40 Mutt Mitt pet waste bag dispensers throughout the open space trails and pocket parks within the Contract Sites that need to be refilled and maintained in working order. City will provide Contractor with pet waste bags to use in the pet waste dispensers. Contractor must supply all trash can liners.

- **2.** Irrigated With Turf (9 Pocket Parks)
  - Percer/Antigua Pocket Park
  - Cascajo Ct.
  - Via Playa Los Santos
  - Portobelo Pocket Park
  - Callejon Quintana
  - Viacha Dr. (Banjo Park)
  - Corte Playa San Juan
  - Vivaracho Ct.
  - Avenida Playa Veracruz (Boy Scout Park)

#### Exhibit A Page **27** of 77

- **3.** Irrigated Without Turf
  - La Cuenta Dr.-at Baroque Ln., west side
  - La Cuenta Dr.-south end road terminus
  - Cartulina Dr.-west off of Rueda Dr.
  - La Morada slope at road terminus
  - Corte Playa Los Brisas
  - Lugar Playa Catalina
  - Area G-Via Playa de Cortes north to Avenida Playa Cancun and continues east. Right-of-way on Via Playa de Cortes up to 5393 Belardo Dr.
  - Belardo Dr. from Calle Quintana south to Camino Playa Catalina.
  - Rueda Dr. from Via Promesa south to Palabra Cir. Both Sides. Restoration Site to the east and below right-of-way included.
  - Via del Cosira
  - Cosira Ct.
  - Valiente Ct. East and west of Rueda Dr.
  - Vivaracho Way at cul-de-sac.
  - Tambor Ct.
  - Percer Canyon from Antigua Pocket Park to Shepherd's Canyon.
  - Bravo Ct.
  - Guincho Ct.
  - Tortuga Ct.
  - Matador Ct.
  - Carioca Ct.
  - Veracruz Ct.
  - Antigua Blvd. from maintenance pull-out to Avenida Playa Veracruz. South side along guardrail.
  - Avenida Playa Veracruz right-of-way east of Boy Scout Park.
  - Clairemont Mesa Blvd. from Antigua Blvd. east to Santo Rd., North side right-of-way Restoration Site.
  - Mission Trails Regional Park Staging Area-DG parking lot at the end of Clairemont Mesa Blvd.
- 4. Non-Irrigated
  - Camino Playa Portofino
  - Corte Playa de Cortes
  - Terraza Playa Catalina
  - Promesa Dr.-road terminus.
  - Via Promesa
  - Gabacho Dr. entrance between 10710 and 10720.
  - La Cuenta Dr.-north end road terminus.
  - Rueda Dr.-across Zorita Ct.
  - Cartulina Rd.-both sides by 4250.
  - Baroque Ln.-by 10940.

#### Exhibit A Page **28** of 77

- Corte Playa Catalina
- Clairemont Mesa Blvd. from HOA across Rec. Center east to terminus.
- Seda Dr. from Clairemont Mesa Blvd. south to Calle de Vida, both sides.
- Calle de Vida-by 4494.
- Valiente-east.
- Pallon Way-11047 north to Tambor Ct. East side.
- Portobelo-by 10921.
- Villarica Way- Portobelo Rd south to Camino Playa Carmel, both sides.
- Calle Mariselda-north from HOA.
- Camino Playa Portofino-at Antigua Blvd, guardrail, and sidewalk.
- All other Open Space acreage not included in these, more highly profiled areas.

CATEGORY X(a):	Roadrunner Neighborhood Park	<b>2.01 Acres</b>
CATEGORY X(b):	Tierrasanta Community Park	16.82 Acres
CATEGORY X(c):	Villa Monserate Neighborhood Park	3.24 Acres
CATEGORY X(d):	Villa Norte Neighborhood Park	4.10 Acres
CATEGORY X(e):	De Portola Middle School (Joint-Use Site)	13.42 Acres
CATEGORY X(f):	Farb Middle School (Joint-Use Site)	4.00 Acres
CATEGORY X(g):	Kumeyaay Elementary School (Joint-Use Site)	4.04 Acres
CATEGORY X(h):	Canyon Hills (formerly Serra) High School (Joint	t-Use Site) 6.45 Acres
CATEGORY X(i):	Tierrasanta Elementary School (Joint-Use Site)	1.70 Acres
CATEGORY X(j):	Vista Grande Elementary School (Joint-Use Site)	4.10 Acres
CATEGORY XI:	Gutters (Approx.) 177,9 All gutters by parks, pocket parks, Open Space entra medians, and Rights-of-Ways.	
CATEGORY XIII:	Concrete Brow Ditches	

(Approx.) 26,400 Lin. Ft. In all open space, behind parks, homes, athletic fields, etc.

> Exhibit A Page **29** of 77

<b>CATEGORY XIV:</b>	Tierrasanta Branch Library	.28 Acres
	4985 La Cuenta Drive	

# CATEGORY XV(a): Other-Park Acreage Undeveloped 29.40 Acres

No Well-Defined Property Lines

- Tierrasanta Community Park
- Roadrunner Neighborhood Park
- Villa Monserate Neighborhood Park

This undeveloped park acreage is directly adjacent to the parks and is considered 'Park' acreage. It is mostly native vegetation and looks like native Open Space. Most areas are located on the other side of the park fencing or 'developed' footprint and is often a slope or canyon area.

# CATEGORY XV (b): Mission Trails Regional Park Trash Receptacles (4)

- Two (2) at Kiosks off of Calle de Vida/Colina Dorada, north side.
- One (1) off Corte Playa Catalina at trailhead.
- One (1) off Seda Dr/Renovo Way at trailhead.

#### **O. SERVICE FREQUENCIES**

CATEGORY II:	Street Medians-Landscaped with Trees, Shrubs and Groun Cover (includes Hardscape and Cobble). Approx. 343,343 Ft.
Supervisor Inspection	ONE (1) time per week the non-working supervisor shall inspect all areas under the contract and submit a written punch list of all deficiencies.
	All major problems shall be reported to the Contract Administrator within twenty-four (24) hours.
Irrigation Inspection	<ul><li>ONE (1) time per week, all systems including drip are to be thoroughly inspected to ensure complete electronic/battery or solar operation and proper distribution of water.</li><li>An irrigation checklist shall be completed as each system is inspected.</li><li>ONE (1) time per week inspection checklists must be submitted to the Contract Administrator. Inspection checklists will be provided.</li></ul>
Irrigation	As necessary to promote healthy plant growth.
Irrigation Systems:	As needed to ensure proper operation.

Maintenance & Repair	
Litter Removal	ONE (1) time per week by 11:00 a.m. to keep all areas litter free.
Weed Removal	ONE (1) time per month to maintain areas in a weed free condition.
Pruning-Shrubs &	FOUR (4) times per year.
Groundcover	Prune shrubs and groundcover to prevent encroachment into public thoroughfare/sidewalk or into other plant material and to prevent blockage of irrigation system components & patterns and for plant health. All shrubs are to be maintained at a height that does not obstruct visibility. Includes deadheading.
Pruning – Trees	<ul> <li>TWO (2) times per year to shape, train, and prevent encroachment into public thoroughfare/sidewalk or into other plant material, and to ensure clear visibility of all street signs and traffic signals.</li> <li>All sucker growth is to be removed as it appears.</li> <li>Prune to correct hazards and to remove all dead, diseased, or damaged limbs, as well as those limbs crossing or competing.</li> </ul>
Fertilization – Complete	<ul> <li>FIVE (5) times per year to promote healthy plant growth:</li> <li>Feb, Apr, June, Sept, and Dec.</li> <li>Best Turf Supreme 16-6-8 shall be used in: February and June.</li> <li>Best Super Turf 25-5-5 shall be used in: April and September.</li> <li>Yara Turf Royale 21-7-14 shall be used in: December.</li> <li>No Substitutions shall be made on fertilizers without the consent of the Contract Administrator.</li> </ul>
Pest Control	Prompt remedial action as necessary to maintain plant material in optimum condition.
Fungicide or other Special Treatment	Prompt remedial action as necessary to maintain plant material in optimum condition.
Plant Replacement	As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's negligence.
Sweeping-Hardscape	ONE (1) time per week. All areas shall be swept to remove sand, dirt, and debris. Blowers may be used if operated in a responsible manner.

# CATEGORY III: Street Medians-Hardscaped/Paved

# Approx. 29,568 Sq. Ft.

Supervisor Inspection	ONE (1) time per week the non-working supervisor shall
	inspect all_areas under the contract and submit a written
	punch list of all deficiencies.
	All major problems shall be reported to the Contract
	Administrator within twenty-four (24) hours.
Litter Removal	ONE (1) time per week by 11:00 a.m. to keep all areas litter free.
Weed Removal	TWO (2) times per month to maintain areas in a weed free condition.
Sweeping-Hardscape	ONE (1) time per week. All areas shall be swept to remove sand, dirt, and debris. Blowers may be used if operated in a responsible manner.
CATEGORY V:	Parkway Rights-of-Way or Adjacent Areas Landscaped wit Turf, Trees/Shrubs/Groundcover (includes Hardscape). Approximately 241,800 Sq. Ft.
Supervisor Inspection	ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies.
	All major problems shall be reported to the Contract Administrator within twenty-four (24) hours.
Irrigation Inspection	ONE (1) time per week, all systems including drip are to be thoroughly inspected to ensure complete electronic/battery or solar operation and proper distribution of water. An irrigation checklist shall be completed as each system is
	inspected. ONE (1) time per week inspection checklists must be submitted to the Contract Administrator. Inspection checklists will be provided.
Irrigation	As necessary to promote healthy plant growth.
Irrigation Systems:	As needed to ensure proper operation.
Maintenance & Repair Litter Removal	ONE (1) time per week by 11:00 a.m. to keep all areas litter free.
Weed Removal	TWO (2) times per month to maintain areas in a weed free condition.
Mowing Lawns	ONE (1) time per week, March 1 - November 30. Every

	other week December 1 February 29/20
	other week December 1 - February 28/29.
	Sweeping is mandatory if excessive amounts of grass
Edaina Laura	clippings remain after mowing.
Edging Lawns	Edging and Line Trimming to be done every mow time to
<b>D</b>	remove all overgrown grasses.
Renovation	ONE (1) time per year in August/September to ensure turf
	health. Renovation shall be accomplished in conjunction
	with aeration and fertilization.
Aeration	FOUR (4) times per year to ensure turf health. Aeration
	shall be accomplished prior to fertilization.
Pruning – Shrubs and	FOUR (4) times per year.
Ground Cover	Prune shrubs and groundcover to prevent encroachment
	into public thoroughfare/sidewalk or into other plant
	material and to prevent blockage of irrigation system
	components and patterns and for plant health.
	All shrubs are to be maintained at a height that does not
	obstruct visibility. Includes deadheading.
– Trees	TWO (2) times per year to shape, train, and prevent
	encroachment into public thoroughfare/sidewalk or into
	other plant material, and to ensure clear visibility of all
	street signs and traffic signals.
	All sucker growth is to be removed as it appears.
	Prune to correct potential hazards and to remove all dead,
	diseased, or damaged limbs, as well as those limbs crossing
	or competing.
	Includes removing seed pods off the Cassia Trees.
Fertilization –	FIVE (5) times per year to promote healthy plant growth:
Complete	Feb, Apr, June, Sept, and Dec.
	Best Turf Supreme 16-6-8 shall be used in: February and
	June.
	Best Super Turf 25-5-5 shall be used in: April
	and September.
	Yara Turf Royale 21-7-14 shall be used in: December.
Pest Control	Prompt remedial action as necessary to maintain plant
	material in optimum condition.
Fungicide or other	Prompt remedial action as necessary to maintain plant
Special Treatment	material in optimum condition.
Plant Replacement	As deemed necessary by Contract Administrator to replace
r funt reeptacement	plant material damaged or killed due to Contractor's
	negligence.
Sweeping-Hardscape	ONE (1) time per week. All areas shall be swept to remove
Sweeping manuscape	sand, dirt, and debris. Blowers may be used if operated in a
	responsible manner.

#### CATEGORY VI: Parkway Rights-of-Way or Adjacent Areas –Undeveloped. (Approximately 10 ft. in from curb) Includes Sidewalks. Approximately 226,780 Sq. Ft.

Supervisor Inspection	ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies. All major problems shall be reported to the Contract Administrator within twenty-four (24) hours.
Litter Removal	TWO (2) times per week, by 11:00 a.m. to keep all areas litter free.
Weed Removal	TWO (2) times per month to maintain areas in a weed free condition.
Pruning – Shrubs and Ground Cover	FOUR (4) times per year. Prune shrubs and groundcover to prevent encroachment into public thoroughfare/sidewalk or into other plant material and to prevent blockage of irrigation system components and patterns and for plant health. All shrubs are to be maintained at a height that does not obstruct visibility. Includes deadheading.
Sweeping-Hardscape	ONE (1) time per week. All areas shall be swept to remove sand, dirt, and debris. Blowers may be used if operated in a responsible manner.

### **CATEGORY VIII:**

#### Open Space-Developed/Enhanced (Approximately 49.91 total acres), 1.25 Acres Turf. Other acreage: trees/shrubs/etc. Includes Hardscape & Gutters.

Supervisor Inspection	<ul> <li>ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies.</li> <li>All major problems shall be reported to the Contract Administrator within twenty-four (24) hours.</li> </ul>
Irrigation Inspection	<ul> <li>ONE (1) time per week, all systems including drip are to be thoroughly inspected to ensure complete electronic/battery or solar operation and proper distribution of water.</li> <li>An irrigation checklist shall be completed as each system is inspected.</li> <li>ONE (1) time per week inspection checklists must be submitted to the Contract Administrator. Inspection checklists will be provided.</li> </ul>
Irrigation	As necessary to promote healthy plant growth.

Irrigation Systems:	As needed to ensure proper operation.
Maintenance & Repair	
Litter Removal	TWO (2) times per week, by 11:00 a.m. to keep all areas litter
	free.
Weed Removal	TWO (2) times per month to maintain areas in a weed free
	condition.
Mowing Lawns	ONE (1) time per week, March 1 - November 30. Every other
_	week December 1 - February 28/29.
	Sweeping is mandatory if excessive amounts of grass clippings
	remain after mowing.
Edging Lawns	Edging and Line Trimming to be done every mow time to
	remove all overgrown grasses.
Renovation	ONE (1) time per year in August/September to ensure turf
	health. Renovation shall be accomplished in conjunction with
	aeration and fertilization.
	Nine (9) Pocket Parks with turf.
Aeration	FOUR (4) times per year to ensure turf health. Aeration shall
	be accomplished prior to fertilization.
	Nine (9) Pocket Parks with turf.
Pruning/Edging Shrubs	FOUR (4) times per year.
and Groundcover	Prune shrubs and groundcover to prevent encroachment into
	public thoroughfare/sidewalk or into other plant material and to
	prevent blockage of irrigation system components and patterns
	and for plant health.
	All shrubs are to be maintained at a height that does not
	obstruct visibility. Includes deadheading.
Pruning – Trees	TWO (2) times per year to shape, train, and prevent
	encroachment into public thoroughfare/sidewalk or into other
	plant material, and to ensure clear visibility of all street signs
	and traffic signals.
	All sucker growth is to be removed as it appears.
	Prune to correct potential hazards and to remove all dead,
	diseased, or damaged limbs, as well as those limbs crossing or
Fertilization –	competing. EIVE (5) times per year to promote healthy plant growth: Ech
	FIVE (5) times per year to promote healthy plant growth: Feb,
Complete	Apr, June, Sept, and Dec. Best Turf Supreme 16-6-8 shall be used in: February and
	June.
	Best Super Turf 25-5-5 shall be used in: April and
	September.
	Yara Turf Royale 21-7-14 shall be used in: December.
Watering Restoration	TEN (10) times per year. Individual plants will require hose or
Sites	bucket watering until established.
01005	ouvret watering until established.

Removing Debris Piles	TWELVE (12) times per year. This includes labor, truck, and
from Volunteer Events	dump fees to clean up after various events.
Pest Control	Prompt remedial action as necessary to maintain plant material in optimum condition.
Fungicide or other	Prompt remedial action as necessary to maintain plant material
Special Treatment	in optimum condition.
Plant Replacement	As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's negligence.
Refill Mutt Mitt Dispensers	TWO (2) times per week, Monday and Friday. Contractor is responsible for refilling dispensers and keeping them locked with locks working properly.
Ordinance Signs:	ONE (1) time per month to ensure signs are upright, clearly
Inspect & Maintain	visible, and graffiti free.
	Eighty-two signs are placed throughout open space trailheads, paths, and overlooks. A map of general locations will be provided by the City.
Drag DG Parking Lot at Mission Trails Regional Park (MTRP)	TWO (2) times per year to smooth out and fill in depressions. City will pay for DG. (30 yds each).
Staging Area.	
Refresh Paint on Red	ONE (1) time per year. Located on sidewalk to pedestrian
Curb at Mission Trails	bridge.
Regional Park (MTRP)	č
Staging Area	
Sweeping-Hardscape	ONE (1) time per week. All areas shall be swept to remove sand, dirt, and debris. Blowers may be used, if operated in a responsible manner outside of Bird Nesting Season (February 15 – September 15).

CATEGORY IX:	Open Space-Undeveloped/Native. Includes: Trails,
	Paths, Pond, Misc. Amenities, Adjacent Hardscape
	(Approx. 756.10 Total Acres)

Supervisor Inspection	ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies. All major problems shall be reported to the Contract
	Administrator within twenty-four (24) hours.

Dishwasher Pond: Inspect and Fill Water Level.	ONE (1) time per week to keep water full. Overflow for more than a day may be required at the direction of the Contract Administrator.
Litter Removal: Dishwasher Pond	TWO (2) times per week, by 11:00 a.m. to keep all areas litter free. Contractor required to remove debris from water if requested by Contract Administrator. Cleaning debris/removing dead fish/animals is not scheduled maintenance but may be required. No motorboats.
Litter Removal: Jogging/Walking/Hikin g Trails and adjacent areas including Service Roads and behind Vons.	ONE (1) time per week to keep areas litter free.
Litter Removal: All Other Open Space areas	FOUR (4) times per year to keep areas litter free.
Clearance: All Paths/Trails/Service Roads	ONE (1) time per year in April-June to keep areas safe and clear for public safety and to reduce invasive weed growth. Line-Trim areas near benches 5 feet. Trails/Jogging path to be cleared 6-12" both sides. (Bird Nesting Season February 15-September 15)
Refill Mutt Mitt Dispensers	TWO (2) times per week, Monday and Friday. Contractor is responsible for refilling dispensers and keeping them locked with locks working properly.
Ordinance Signs: Inspect & Maintain	ONE (1) time per month to ensure signs are upright, clearly visible, and graffiti free.
Sweeping-Hardscape	ONE (1) time per week. All areas shall be swept to remove sand, dirt, and debris. Blowers may be used, if operated in a responsible manner outside of Bird Nesting Season (February 15 – September 15).
Storm Drains: Inspect & Clean any Debris	ONE (1) time per month to ensure storm drain structures are clean and free of any dirt or debris. Proper BMP's will be followed to ensure proper function of storm drains. ELEVEN (11) Total Storm Drains onsite.

## CATEGORY X(a): Roadrunner Neighborhood Park

Supervisor Inspection:	ONE (1) time per week the non-working supervisor shall
Overall Park Site	inspect all areas under the contract and submit a written punch
	list of all deficiencies.
	Areas may include but are not limited to the following
	amenities: Park Signs, Benches, Tables, BBQ's, Hot Coal
	Dispensers, Multi-Purpose Courts, Tennis Courts, Stairways,
	Railings, Fencing, Bleachers, Dug-Outs, Par Fitness
	Equipment, Etc.
	ONE (1) time per week a written inspection report shall be sent
	to the Contract Administrator.
	Contractor shall notify Contract Administrator immediately of
	any potential hazards.
Park Signs:	ONE (1) time per week to ensure signs are clean, upright,
Inspect & Maintain	clearly visible, and graffiti free.
_	Contract Administrator shall be notified immediately of any
	potential hazards.
	Contract Administrator shall be notified immediately of any
	potential hazards.
Picnic Tables:	THREE (3) times per week to ensure picnic tables are clean,
Inspect & Clean	graffiti free, and free from defects, damage, or vandalism.
	Contract Administrator shall be notified immediately of any
	potential hazards.
	Contract Administrator shall be notified immediately of any
	potential hazards.
Bleachers & Benches:	THREE (3) times per week to ensure sports bleachers and park
Inspect & Clean	benches are clean, graffiti free, and free from defects, damage,
	or vandalism.
	Contract Administrator shall be notified immediately of any
	potential hazards.
	Contract Administrator shall be notified immediately of any
	potential hazards.
Drinking Fountains:	TWO (2) times per week to ensure drinking fountains are clean
Inspect & Clean	and functioning properly.
	Contract Administrator shall be notified immediately of any
	potential hazards.
	Contract Administrator shall be notified immediately of any
	potential hazards.

Playground Safety	FIVE (5) times per week to ensure that playground equipment
Inspection:	is free from damage and safe to use.
Equipment and	ONE (1) time per week a written inspection report shall be sent
Climbing Structures	to the Contract Administrator.
	Contract Administrator shall be notified immediately of any
	potential hazards.
Playground Safety	THREE (3) times per week to ensure that protective surfacing
Inspection:	areas are maintained at safe levels and are free of glass, dirt, or
Protective Surfacing	other debris.
	Materials may be Sand, Engineered Wood Fiber, or Poured-in-
	Place Rubber.
	Loose-fill material needs to be raked into place to keep fall
	zones level and all depressions filled to grade. Areas under
	swings, slides, and platforms are to maintain a safe and level
	surface.
	ONE (1) time per week a written inspection report shall be sent
	to the Contract Administrator.
	Contract Administrator shall be notified immediately of any
	potential hazards.
Rototill Sand in	SIX (6) times per year to keep playground sand loose and to
Playgrounds	help limit compaction.
Sweeping-Sidewalks	FIVE (5) times per week to keep areas safe and sidewalk path
and areas Adjacent to	clear. Wet sand is to be shoveled off back into the playground.
Playgrounds	
Empty BBQ and Hot	ONE (1) time per month empty all ashes. Trash to be removed
Coal Containers	with routine litter control.
Refill Mutt Mitt	TWO (2) times per week. Contractor is responsible for
Dispensers	refilling dispensers and keeping them locked with locks
	working properly.
Litter Removal	THREE (3) times per week, by 10:00 a.m. to keep all areas
	litter free. Extra servicing may be required depending on park
	events or holidays. FOUR (4) trash containers.
Recycle Removal	THREE (3) times per week, by 10:00 a.m. to keep recycle
	containers free. Extra servicing may be required depending on
	park events or holidays. FOUR (4) recycle containers.
Irrigation Inspection	ONE (1) time per week, all systems including drip are to be
	thoroughly inspected to ensure complete electronic/battery or
	solar operation and proper distribution of water.
	An irrigation checklist shall be completed as each system is
	inspected.
	ONE (1) time per week inspection checklists must be
	submitted to the Contract Administrator. Inspection checklists
	will be provided.

Irrigation	As necessary to promote healthy plant growth.
Irrigation Systems: Maintenance & Repair	As needed to ensure proper operation.
Weed Removal	ONE (1) time per week to maintain areas in a weed free condition. Includes complete weed removal in hardscape areas.
Mowing Lawns	<ul><li>ONE (1) time per week, March 1 - November 30. Every other week December 1 - February 28/29.</li><li>Sweeping is mandatory if excessive amounts of grass clippings remain after mowing.</li></ul>
Edging Lawns	Edging and Line Trimming to be done every mow time to remove all overgrown grasses.
Renovation	ONE (1) time per year in August/September to ensure turf health. Renovation shall be accomplished in conjunction with aeration and fertilization.
Aeration	FOUR (4) times per year to ensure turf health. Aeration shall be accomplished prior to fertilization.
Pruning/Edging Shrubs and Groundcover	FOUR (4) times per year. Prune shrubs and groundcover to prevent encroachment into public thoroughfare/sidewalk or into other plant material and to prevent blockage of irrigation system components and patterns and for plant health. All shrubs are to be maintained at a height that does not obstruct visibility. Includes deadheading.
Pruning - Trees	<ul> <li>TWO (2) times per year to shape, train, and prevent encroachment into public thoroughfare/sidewalk or into other plant material, and to ensure clear visibility of all street signs and traffic signals.</li> <li>All sucker growth is to be removed as it appears.</li> <li>Prune to correct potential hazards and to remove all dead, diseased, or damaged limbs, as well as those limbs crossing or competing.</li> </ul>
Fertilization – Complete	<ul> <li>FIVE (5) times per year to promote healthy plant growth: Feb, Apr, June, Sept, and Dec.</li> <li>Best Turf Supreme 16-6-8 shall be used in: February and June.</li> <li>Best Super Turf 25-5-5 shall be used in: April and September.</li> <li>Yara Turf Royale 21-7-14 shall be used in: December.</li> </ul>
Mulch all Landscaped Areas	ONE (1) time per year in February-April. 2" deep. Eleven (11) cubic yards minimum.

Pest Control	Prompt remedial action as necessary to maintain plant material in optimum condition.
Fungicide or other Special Treatment	Prompt remedial action as necessary to maintain plant material in optimum condition.
Plant Replacement	As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's negligence.
Sweeping-Hardscape	TWO (2) times per week by 11:00 a.m. to keep parking lots, sidewalks, gutters, stairs, walkways, picnic tables, under bleachers, along fences, multi-purposes courts, etc. free of dirt, sand, leaves, etc.

## CATEGORY X(b): Tierrasanta Community Park

16.82 Acres

Supervisor Inspection: Overall Park Site Park Signs:	<ul> <li>ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies.</li> <li>Areas may include but are not limited to the following amenities: Park Signs, Benches, Tables, BBQ's, Hot Coal Dispensers, Multi-Purpose Courts, Tennis Courts, Stairways, Railings, Fencing, Bleachers, Dug-Outs, Par Fitness Equipment, Etc.</li> <li>ONE (1) time per week a written inspection report shall be sent to the Contract Administrator.</li> <li>Contract Administrator shall be notified immediately of any potential hazards.</li> <li>ONE (1) time per week to ensure signs are clean, upright,</li> </ul>
Inspect & Maintain	clearly visible, and graffiti free. Contract Administrator shall be notified immediately of any potential hazards.
Picnic Tables: Inspect & Clean	<ul><li>THREE (3) times per week to ensure picnic tables are clean, graffiti free, and free from defects, damage, or vandalism.</li><li>Contract Administrator shall be notified immediately of any potential hazards.</li></ul>

Bleachers & Benches: Inspect & Clean Drinking Fountains:	<ul><li>THREE (3) times per week to ensure sports bleachers and park benches are clean, graffiti free, and free from defects, damage, or vandalism.</li><li>Contract Administrator shall be notified immediately of any potential hazards.</li><li>TWO (2) times per week to ensure drinking fountains are</li></ul>
Inspect & Clean	clean and functioning properly. Contract Administrator shall be notified immediately of any potential hazards.
Playground Safety	FIVE (5) times per week to ensure that playground
Inspection:	equipment is free from damage and safe to use.
Equipment and Climbing Structures	ONE (1) time per week a written inspection report shall be sent to the Contract Administrator.
	Contract Administrator shall be notified immediately of any potential hazards.
Playground Safety	THREE (3) times per week to ensure that protective
Inspection:	surfacing areas are maintained at safe levels and are free of
Protective Surfacing	glass, dirt, or other debris.
	Materials may be Sand, Engineered Wood Fiber, or Poured- in-Place Rubber.
	Loose-fill material needs to be raked into place to keep fall
	zones level and all depressions filled to grade. Areas under swings, slides, and platforms are to maintain a safe and level surface.
	ONE (1) time per week a written inspection report shall be sent to the Contract Administrator.
	Contract Administrator shall be notified immediately of any potential hazards.
Rototill Sand in	SIX (6) times per year to keep playground sand loose and to
Playgrounds	help limit compaction.
Sweeping-Sidewalks	FIVE (5) times per week to keep areas safe and sidewalk
and areas Adjacent to	path clear. Wet sand is to be shoveled off back into the
Playgrounds	playground.
Empty BBQ and Hot	ONE (1) time per month empty all ashes. Trash to be
Coal Containers	removed with routine litter control.
Refill Mutt Mitt	TWO (2) times per week. Contractor is responsible for
Dispensers	refilling dispensers and keeping them locked with locks working properly.
Litter Removal	THREE (3) times per week, by 10:00 a.m. to keep all areas
	litter free. Extra servicing may be required depending on
	park events or holidays. TWENTY (20) trash containers.

Recycle Removal	THREE (3) times per week, by 10:00 a.m. to keep recycle containers free. Extra servicing may be required depending on park events or holidays. TWENTY (20) recycle
	containers.
Irrigation Inspection	ONE (1) time per week, all systems including drip are to be thoroughly inspected to ensure complete electronic/battery or solar operation and proper distribution of water. An irrigation checklist shall be completed as each system is inspected. ONE (1) time per week inspection checklists must be
	submitted to the Contract Administrator. Inspection
Irrigation	checklists will be provided. As necessary to promote healthy plant growth.
Irrigation Systems: Maintenance & Repair	As needed to ensure proper operation.
Weed Removal	ONE (1) time per week to maintain areas in a weed free condition. Includes complete weed removal in hardscape areas.
Mowing Lawns	ONE (1) time per week, March 1 - November 30. Every other week December 1 - February 28/29. Sweeping is mandatory if excessive amounts of grass clippings remain after mowing.
Edging Lawns	Edging and Line Trimming to be done every mow time to remove all overgrown grasses.
Renovation	ONE (1) time per year in August/September to ensure turf health. Renovation shall be accomplished in conjunction with aeration and fertilization.
Aeration	FOUR (4) times per year to ensure turf health. Aeration shall be accomplished prior to fertilization.
Maintain Athletic Field Surface	ONE (1) time per week to keep field areas free of ruts, holes, depressions, low areas, etc. Soil to be added to keep these areas safe and level.
Prep Infields/Replenish Soil	ONE (1) time per year. Materials to be paid by City. Labor provided by contractor to order, schedule delivery, dump, spread, etc. (CA/San Diego Gold DG with Stabilizer. 60 yds).
Litter Removal from Tennis Courts & Multi- Use Courts	ONE (1) time per week to keep areas litter free.
Sweep or Blow Tennis Courts & Multi-Use Courts	ONE (1) time per week to keep areas free of leaves, dirt, & debris.

Pruning/Edging Shrubs and Groundcover	FOUR (4) times per year. Prune shrubs and groundcover to prevent encroachment into public thoroughfare/sidewalk or into other plant material and to prevent blockage of irrigation system components and patterns and for plant health. All shrubs are to be maintained at a height that does not obstruct visibility. Includes deadheading.
Pruning – Trees	<ul><li>TWO (2) times per year to shape, train, and prevent encroachment into public thoroughfare/sidewalk or into other plant material, and to ensure clear visibility of all street signs and traffic signals.</li><li>All sucker growth is to be removed as it appears.</li><li>Prune to correct potential hazards and to remove all dead, diseased, or damaged limbs, as well as those limbs crossing or competing.</li></ul>
Fertilization – Complete	<ul> <li>FIVE (5) times per year to promote healthy plant growth:</li> <li>Feb, Apr, June, Sept, and Dec.</li> <li>Best Turf Supreme 16-6-8 shall be used in: February and June.</li> <li>Best Super Turf 25-5-5 shall be used in: April and September.</li> <li>Yara Turf Royale 21-7-14 shall be used in: December.</li> </ul>
Mulch all Landscaped	ONE (1) time per year in February-April. 2" deep.
Areas	Thirteen (13) cubic yards minimum.
Pest Control	Prompt remedial action as necessary to maintain plant material in optimum condition.
Fungicide or other Special Treatment	Prompt remedial action as necessary to maintain plant material in optimum condition.
Plant Replacement	As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's negligence.
Sweeping-Hardscape	TWO (2) times per week by 11:00 a.m. to keep parking lots, sidewalks, gutters, stairs, walkways, picnic tables, under bleachers, along fences, multi-purposes courts, etc. free of dirt, sand, leaves, etc.
Storm Drains: Inspect & Clean any Debris	ONE (1) time per month to ensure storm drain structures are clean and free of any dirt or debris. Proper BMP's will be followed to ensure proper function of

	storm drains.
	ELEVEN (11) Total Storm Drains onsite.
Supervisor Inspection:	ONE (1) time per week the non-working supervisor shall
Comfort Stations	inspect all_areas of the Comfort Stations and submit a
	written punch list of all deficiencies.
	Contract Administrator shall be immediately notified of any
	potential hazards.
	Supervisor will check for cleanliness, sanitation, hand soap,
	and paper products including both toilet paper and seat
	protectors.
Litter Removal	SEVEN (7) days per week by 9:00 a.m. to keep all areas
	litter free.
Sweep & Mop Floors	SEVEN (7) days per week by 9:00 a.m. to maintain areas in
	a dirt and debris free condition.
	City approved cleaners & disinfectants use only.
Clean Fixtures	SEVEN (7) days per week by 9:00 a.m. to maintain clean
	public facilities.
	City approved cleaners & disinfectants use only.
Descale & Polish	SEVEN (7) days per week by 9:00 a.m. to ensure optimum
Fixtures	operation of fixtures and to maintain clean public facilities.
1 Intures	City approved cleaners & disinfectants use only.
Scrub Walls, Ledges,	SEVEN (7) days per week by 9:00 a.m. to maintain clean
& Partitions	public facilities.
	*
Disinfact Walls	City approved cleaners & disinfectants use only.
Disinfect Walls,	SEVEN (7) days per week by 9:00 a.m. to maintain clean
Ledges, Partitions,	public facilities.
Floors, & Fixtures	City approved cleaners & disinfectants use only.
Refill Dispensers	SEVEN (7) days per week by 9:00 a.m. to maintain clean
	and stocked public facilities.
	Both hand soap and paper products to be checked and
	restocked if necessary. Paper products include both toilet
	paper and seat protectors.

## CATEGORY X(c): Villa Monserate Neighborhood Park

3.24 Acres

Supervisor Inspection:	ONE (1) time per week the non-working supervisor shall
Overall Park Site	inspect all_areas under the contract and submit a written
	punch list of all deficiencies.
	Areas may include but are not limited to the following
	amenities: Park Signs, Benches, Tables, BBQ's, Hot Coal
	Dispensers, Multi-Purpose Courts, Tennis Courts,
	Stairways, Railings, Fencing, Bleachers, Dug-Outs, Par
	Fitness Equipment, Etc.

	ONE (1) time per week a written inspection report shall be sent to the Contract Administrator. Contract Administrator shall be notified immediately of any potential hazards.
Park Signs: Inspect & Maintain	ONE (1) time per week to ensure signs are clean, upright, clearly visible, and graffiti free. Contract Administrator shall be notified immediately of any potential hazards.
Picnic Tables: Inspect & Clean	<ul><li>THREE (3) times per week to ensure picnic tables are clean, graffiti free, and free from defects, damage, or vandalism.</li><li>Contract Administrator shall be notified immediately of any potential hazards.</li></ul>
Bleachers & Benches: Inspect & Clean	<ul><li>THREE (3) times per week to ensure sports bleachers and park benches are clean, graffiti free, and free from defects, damage, or vandalism.</li><li>Contract Administrator shall be notified immediately of any potential hazards.</li></ul>
Drinking Fountains: Inspect & Clean	TWO (2) times per week to ensure drinking fountains are clean and functioning properly. Contract Administrator shall be notified immediately of any potential hazards.
Playground Safety Inspection: Equipment and Climbing Structures	<ul><li>FIVE (5) times per week to ensure that playground equipment is free from damage and safe to use.</li><li>ONE (1) time per week a written inspection report shall be sent to the Contract Administrator.</li><li>Contract Administrator shall be notified immediately of any potential hazards.</li></ul>
Playground Safety Inspection: Protective Surfacing	<ul> <li>THREE (3) times per week to ensure that protective surfacing areas are maintained at safe levels and are free of glass, dirt, or other debris.</li> <li>Materials may be Sand, Engineered Wood Fiber, or Poured-in-Place Rubber.</li> <li>Loose-fill material needs to be raked into place to keep fall zones level and all depressions filled to grade. Areas under swings, slides, and platforms are to maintain a safe and level surface.</li> <li>ONE (1) time per week a written inspection report shall be sent to the Contract Administrator.</li> </ul>

	Contract Administrator shall be notified immediately of any
	potential hazards.
Rototill Sand in	l l
	SIX (6) times per year to keep playground sand loose and to
Playgrounds	help limit compaction.
Sweeping-Sidewalks	FIVE (5) times per week to keep areas safe and sidewalk
and areas Adjacent to	path clear. Wet sand is to be shoveled off back into the
Playgrounds	playground.
Empty BBQ and Hot	ONE (1) time per month empty all ashes. Trash to be
Coal Containers	removed with routine litter control.
Refill Mutt Mitt	TWO (2) times per week. Contractor is responsible for
Dispensers	keeping them locked with locks working properly.
Litter Removal	THREE (3) times per week, by 10:00 a.m. to keep all areas
	litter free. Extra servicing may be required depending on
	park events or holidays. FOUR (4) trash containers.
Recycle Removal	THREE (3) times per week, by 10:00 a.m. to keep recycle
	containers free. Extra servicing may be required depending
	on park events or holidays. FOUR (4) recycle containers.
Irrigation Inspection	ONE (1) time per week, all systems including drip are to be
	thoroughly inspected to ensure complete electronic/battery
	or solar operation and proper distribution of water.
	An irrigation checklist shall be completed as each system is
	inspected.
	ONE (1) time per week inspection checklists must be
	submitted to the Contract Administrator. Inspection
	checklists will be provided.
Irrigation	As necessary to promote healthy plant growth.
Irrigation Systems:	As needed to ensure proper operation.
Maintenance & Repair	
Weed Removal	ONE (1) time per week to maintain areas in a weed free
	condition. Includes complete weed removal in hardscape
	areas.
Mowing Lawns	ONE (1) time per week, March 1 - November 30. Every
	other week December 1 - February 28/29.
	Sweeping is mandatory if excessive amounts of grass
	clippings remain after mowing.
Edging Lawns	Edging and Line Trimming to be done every mow time to
	remove all overgrown grasses.
Renovation	ONE (1) time per year in August/September to ensure turf
	health. Renovation shall be accomplished in conjunction
	with aeration and fertilization.
Aeration	FOUR (4) times per year to ensure turf health. Aeration

	shall be accomplished prior to fertilization.
Pruning/Edging Shrubs and Groundcover	FOUR (4) times per year. Prune shrubs and groundcover to prevent encroachment into public thoroughfare/sidewalk or into other plant material and to prevent blockage of irrigation system components and patterns and for plant health. All shrubs are to be maintained at a height that does not obstruct visibility. Includes deadheading.
Pruning - Trees	<ul> <li>TWO (2) times per year to shape, train, and prevent encroachment into public thoroughfare/sidewalk or into other plant material, and to ensure clear visibility of all street signs and traffic signals.</li> <li>All sucker growth is to be removed as it appears.</li> <li>Prune to correct potential hazards and to remove all dead, diseased, or damaged limbs, as well as those limbs crossing or competing.</li> </ul>
Fertilization –	FIVE (5) times per year to promote healthy plant growth:
Complete	Feb, Apr, June, Sept, and Dec.Best Turf Supreme 16-6-8 shall be used in:February andJune.Best Super Turf 25-5-5 shall be used in:April
	and September.
Mulch all Landscaped	Yara Turf Royale 21-7-14 shall be used in: December.ONE (1) time per year in February-April. 2" deep.Eleven (11) subje yerds minimum
Areas Pest Control	Eleven (11) cubic yards minimum. Prompt remedial action as necessary to maintain plant material in optimum condition.
Fungicide or other Special Treatment	Prompt remedial action as necessary to maintain plant material in optimum condition.
Plant Replacement	As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's negligence.
Sweeping-Hardscape	TWO (2) times per week by 11:00 a.m. to keep parking lots, sidewalks, gutters, stairs, walkways, picnic tables, under bleachers, along fences, multi-purposes courts, etc. free of dirt, sand, leaves, etc.

Storm Drains: Inspect & Clean any	ONE (1) time per month to ensure storm drain structures are clean and free of any dirt or debris.
Debris	Proper BMP's will be followed to ensure proper function of storm drains. TWO (2) Total Storm Drains onsite.

Supervisor Inspection: Overall Park Site	ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies. Areas may include but are not limited to the following
	amenities: Park Signs, Benches, Tables, BBQ's, Hot Coal Dispensers, Multi-Purpose Courts, Tennis Courts, Stairways, Railings, Fencing, Bleachers, Dug-Outs, Par Fitness Equipment, Etc.
	ONE (1) time per week a written inspection report shall be sent to the Contract Administrator. Contract Administrator shall be notified immediately of any potential hazards.
Park Signs: Inspect & Maintain	ONE (1) time per week to ensure signs are clean, upright, clearly visible, and graffiti free. Contract Administrator shall be notified immediately of any potential hazards.
Picnic Tables: Inspect & Clean	<ul><li>THREE (3) times per week to ensure picnic tables are clean, graffiti free, and free from defects, damage, or vandalism.</li><li>Contract Administrator shall be notified immediately of any potential hazards.</li></ul>
Bleachers & Benches: Inspect & Clean	THREE (3) times per week to ensure sports bleachers and park benches are clean, graffiti free, and free from defects, damage, or vandalism. Contract Administrator shall be notified immediately of any potential hazards.
Drinking Fountains: Inspect & Clean	TWO (2) times per week to ensure drinking fountains are clean and functioning properly. Contract Administrator shall be notified immediately of any potential hazards.

Playaround Safaty	FIVE (5) times per weak to ansure that playaround
Playground Safety	FIVE (5) times per week to ensure that playground
Inspection:	equipment is free from damage and safe to use.
Equipment and	ONE (1) time per week a written inspection report shall be sent to the Contract Administrator.
Climbing Structures	
	Contract Administrator shall be notified immediately of any
	potential hazards.
Playground Safety	THREE (3) times per week to ensure that protective
Inspection:	surfacing areas are maintained at safe levels and are free of
Protective Surfacing	glass, dirt, or other debris.
	Materials may be Sand, Engineered Wood Fiber, or Poured- in-Place Rubber.
	Loose-fill material needs to be raked into place to keep fall
	zones level and all depressions filled to grade. Areas under
	swings, slides, and platforms are to maintain a safe and
	level surface.
	ONE (1) time per week a written inspection report shall be
	sent to the Contract Administrator.
	Contract Administrator shall be notified immediately of any
	potential hazards.
Rototill Sand in	SIX (6) times per year to keep playground sand loose and to
Playgrounds	help limit compaction.
Sweeping-Sidewalks	FIVE (5) times per week to keep areas safe and sidewalk
and areas Adjacent to	path clear. Wet sand is to be shoveled off back into the
Playgrounds	playground.
Empty BBQ and Hot	ONE (1) time per month empty all ashes. Trash to be
Coal Containers	removed with routine litter control.
Refill Mutt Mitt	TWO (2) times per week. Contractor is responsible for
Dispensers	refilling dispensers and keeping them locked with locks
	working properly.
Litter Removal	THREE (3) times per week, by 10:00 a.m. to keep all areas
	litter free. Extra servicing may be required depending on
	park events or holidays. FOUR (4) trash containers.
Recycle Removal	THREE (3) times per week, by 10:00 a.m. to keep recycle
	containers free. Extra servicing may be required depending
	on park events or holidays. FOUR (4) recycle containers.
Irrigation Inspection	ONE (1) time per week, all systems including drip are to be
	thoroughly inspected to ensure complete electronic/battery
	or solar operation and proper distribution of water.
	An irrigation checklist shall be completed as each system is
	inspected.
	ONE (1) time per week inspection checklists must be
	submitted to the Contract Administrator. Inspection
	checklists will be provided.

Irrigation	As necessary to promote healthy plant growth.
Irrigation Systems: Maintenance & Repair	As needed to ensure proper operation.
Weed Removal	ONE (1) time per week to maintain areas in a weed free condition. Includes complete weed removal in hardscape areas.
Mowing Lawns	ONE (1) time per week, March 1 - November 30. Every other week December 1 - February 28/29. Sweeping is mandatory if excessive amounts of grass clippings remain after mowing.
Edging Lawns	Edging and Line Trimming to be done every mow time to remove all overgrown grasses.
Renovation	ONE (1) time per year in August/September to ensure turf health. Renovation shall be accomplished in conjunction with aeration and fertilization.
Aeration	FOUR (4) times per year to ensure turf health. Aeration shall be accomplished prior to fertilization.
Pruning/Edging Shrubs and Groundcover	FOUR (4) times per year. Prune shrubs and groundcover to prevent encroachment into public thoroughfare/sidewalk or into other plant material and to prevent blockage of irrigation system components and patterns and for plant health. All shrubs are to be maintained at a height that does not obstruct visibility. Includes deadheading.
Pruning - Trees	<ul> <li>TWO (2) times per year to shape, train, and prevent encroachment into public thoroughfare/sidewalk or into other plant material, and to ensure clear visibility of all street signs and traffic signals.</li> <li>All sucker growth is to be removed as it appears.</li> <li>Prune to correct potential hazards and to remove all dead, diseased, or damaged limbs, as well as those limbs crossing or competing.</li> </ul>
Fertilization – Complete	<ul> <li>FIVE (5) times per year to promote healthy plant growth:</li> <li>Feb, Apr, June, Sept, and Dec.</li> <li>Best Turf Supreme 16-6-8 shall be used in: February and June.</li> <li>Best Super Turf 25-5-5 shall be used in: April and September.</li> <li>Yara Turf Royale 21-7-14 shall be used in: December.</li> </ul>
Mulch all Landscaped Areas	ONE (1) time per year in February-April. 2" deep. Thirteen (13) cubic yards minimum.

Pest Control	Prompt remedial action as necessary to maintain plant material in optimum condition.
Fungicide or other	Prompt remedial action as necessary to maintain plant
Special Treatment	material in optimum condition.
Plant Replacement	As deemed necessary by Contract Administrator to replace
	plant material damaged or killed due to Contractor's
	negligence.
Sweeping-Hardscape	TWO (2) times per week by 11:00 a.m. to keep parking
	lots, sidewalks, gutters, stairs, walkways, picnic tables,
	under bleachers, along fences, multi-purposes courts, etc.
	free of dirt, sand, leaves, etc.
Storm Drains:	ONE (1) time per month to ensure storm drain structures
Inspect & Clean any	are clean and free of any dirt or debris.
Debris	Proper BMP's will be followed to ensure proper function of
	storm drains.
	FIVE (5) Total Storm Drains onsite.

#### CATEGORY X(e): De Portola Middle School (Joint-Use Site) 13.42 Acres

Supervisor Inspection: Overall Joint-Use Site	<ul> <li>ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies.</li> <li>Areas may include but are not limited to the following amenities: Park Signs, Benches, Tables, BBQ's, Hot Coal Dispensers, Multi-Purpose Courts, Tennis Courts, Stairways, Railings, Fencing, Bleachers, Dug-Outs, Par Fitness Equipment, Etc.</li> <li>ONE (1) time per week a written inspection report shall be sent to the Contract Administrator.</li> <li>Contract Administrator shall be notified immediately of any potential hazards.</li> </ul>
Bleachers & Benches: Inspect & Clean	<ul><li>THREE (3) times per week to ensure sports bleachers and park benches are clean, graffiti free, and free from defects, damage, or vandalism.</li><li>Contract Administrator shall be notified immediately of any potential hazards.</li></ul>
Litter Removal	THREE (3) times per week, by 10:00 a.m. to keep all areas litter free. Extra servicing may be required depending on events or holidays. FOUR (4) trash containers.

Recycle Removal	THREE (3) times per week, by 10:00 a.m. to keep recycle containers free. Extra servicing may be required depending on events or holidays. FOUR (4) recycle containers.
Irrigation Inspection	<ul> <li>ONE (1) time per week, all systems including drip are to be thoroughly inspected to ensure complete electronic/battery or solar operation and proper distribution of water.</li> <li>An irrigation checklist shall be completed as each system is inspected.</li> <li>ONE (1) time per week inspection checklists must be submitted to the Contract Administrator. Inspection checklists will be provided.</li> </ul>
Irrigation	As necessary to promote healthy plant growth.
Irrigation Systems: Maintenance & Repair	As needed to ensure proper operation.
Weed Removal	ONE (1) time per week to maintain areas in a weed free condition. Includes complete weed removal in hardscape areas. No Pesticide use on school property.
	(Healthy Schools Act of 2000)
Mowing Lawns	ONE (1) time per week, March 1 - November 30. Every other week December 1 - February 28/29. Sweeping is mandatory if excessive amounts of grass clippings remain after mowing.
Edging Lawns	Edging and Line Trimming to be done every mow time to remove all overgrown grasses.
Renovation	ONE (1) time per year in August/September to ensure turf health. Renovation shall be accomplished in conjunction with aeration and fertilization.
Aeration	FOUR (4) times per year to ensure turf health. Aeration shall be accomplished prior to fertilization.
Maintain Athletic Field	ONE (1) time per week to keep field areas free of ruts,
Surface	holes, depressions, low areas, etc. Soil to be added to keep
(Material Paid by City)	these areas safe and level.
Maintain DG Area	ONE (1) time per week to keep DG areas free of ruts,
(Material Paid by City)	holes, depressions, low areas, etc. Decomposed Granite (DG) to be added to keep these areas safe and level.
Prep Infields/Replenish	ONE (1) time per year. Contractor to order, schedule
Soil	delivery, dump, spread material to even out areas and
(Material Paid by City)	provide an even playing surface. (CA/San Diego Gold DG with Stabilizer. 60 yds).

Pruning/Edging Shrubs and Groundcover	FOUR (4) times per year. Prune shrubs and groundcover to prevent encroachment into public thoroughfare/sidewalk or into other plant material and to prevent blockage of irrigation system components and patterns and for plant health. All shrubs are to be maintained at a height that does not obstruct visibility. Includes deadheading.
Pruning – Trees	<ul> <li>TWO (2) times per year to shape, train, and prevent encroachment into public thoroughfare/sidewalk or into other plant material, and to ensure clear visibility of all street signs and traffic signals.</li> <li>All sucker growth is to be removed as it appears.</li> <li>Prune to correct potential hazards and to remove all dead, diseased, or damaged limbs, as well as those limbs crossing or competing.</li> </ul>
Fertilization – Complete	<ul> <li>FIVE (5) times per year to promote healthy plant growth:</li> <li>Feb, Apr, June, Sept, and Dec.</li> <li>Best Turf Supreme 16-6-8 shall be used in: February and June.</li> <li>Best Super Turf 25-5-5 shall be used in: April and September.</li> <li>Vare Turf Bougle 21, 7, 14 shall be used in: December.</li> </ul>
Pest Control	Yara Turf Royale 21-7-14 shall be used in: December. No Pesticide use on school property. (Healthy Schools Act of 2000)
Fungicide or other Special Treatment	No Pesticide use on school property. (Healthy Schools Act of 2000)
Plant Replacement	As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's negligence.
Storm Drains: Inspect & Clean any Debris	ONE (1) time per month to ensure storm drain structures are clean and free of any dirt or debris. Proper BMP's will be followed to ensure proper function of storm drains. SEVEN (7) Total Storm Drains onsite.
Supervisor Inspection: Comfort Stations	ONE (1) time per week the non-working supervisor shall inspect all_areas of the Comfort Stations and submit a written punch list of all deficiencies. Contract Administrator shall be notified immediately of any potential hazards.
Litter Removal	SEVEN (7) days per week by 9:00 a.m. to keep all areas litter free. TWO (2) trash containers.

areas in
clean
clean
l clean
ptimum
acilities.
clean
l clean
l clean
nd
n toilet

## CATEGORY X(f): Farb Middle School (Joint-Use Site) 4.00 Acres

Supervisor Inspection: Overall Joint-Use Site	<ul> <li>ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies.</li> <li>Areas may include but are not limited to the following amenities: Park Signs, Benches, Tables, BBQ's, Hot Coal Dispensers, Multi-Purpose Courts, Tennis Courts, Stairways, Railings, Fencing, Bleachers, Dug-Outs, Par Fitness Equipment, Etc.</li> <li>ONE (1) time per week a written inspection report shall be sent to the Contract Administrator.</li> <li>Contract Administrator shall be notified immediately of any potential hazards.</li> </ul>
Bleachers & Benches: Inspect & Clean	<ul><li>THREE (3) times per week to ensure sports bleachers and park benches are clean, graffiti free, and free from defects, damage, or vandalism.</li><li>Contract Administrator shall be notified immediately of any potential hazards.</li></ul>
Litter Removal	THREE (3) times per week, by 10:00 a.m. to keep all areas litter free. Extra servicing may be required depending on

	events or holidays. FOUR (4) trash containers.
Recycle Removal	THREE (3) times per week, by 10:00 a.m. to keep recycle containers free. Extra servicing may be required depending on events or holidays. FOUR (4) recycle containers.
Irrigation Inspection	<ul> <li>ONE (1) time per week, all systems including drip are to be thoroughly inspected to ensure complete electronic/battery or solar operation and proper distribution of water.</li> <li>An irrigation checklist shall be completed as each system is inspected.</li> <li>ONE (1) time per week inspection checklists must be submitted to the Contract Administrator. Inspection checklists will be provided.</li> </ul>
Irrigation	As necessary to promote healthy plant growth.
Irrigation Systems: Maintenance & Repair	As needed to ensure proper operation.
Weed Removal	ONE (1) time per week to maintain areas in a weed free condition. Includes complete weed removal in hardscape areas. No Pesticide use on school property. (Healthy Schools Act of 2000)
Mowing Lawns	ONE (1) time per week, March 1 - November 30. Every other week December 1 - February 28/29. Sweeping is mandatory if excessive amounts of grass clippings remain after mowing.
Edging Lawns	Edging and Line Trimming to be done every mow time to remove all overgrown grasses.
Renovation	ONE (1) time per year in August/September to ensure turf health. Renovation shall be accomplished in conjunction with aeration and fertilization.
Aeration	FOUR (4) times per year to ensure turf health. Aeration shall be accomplished prior to fertilization.
Maintain Athletic Field Surface (Material Paid by City)	ONE (1) time per week to keep field areas free of ruts, holes, depressions, low areas, etc. Soil to be added to keep these areas safe and level.
Maintain DG Area (Material Paid by City)	ONE (1) time per week to keep DG areas free of ruts, holes, depressions, low areas, etc. Decomposed Granite (DG) to be added to keep these areas safe and level.
Prep Infields/Replenish Soil (Material Paid by City)	ONE (1) time per year. Contractor to order, schedule delivery, dump, spread material to even out areas and provide an even playing surface. (CA/San Diego Gold DG with Stabilizer. 60 yds).

Pruning/Edging Shrubs and Groundcover	FOUR (4) times per year. Prune shrubs and groundcover to prevent encroachment into public thoroughfare/sidewalk or into other plant material and to prevent blockage of irrigation system components and patterns and for plant health. All shrubs are to be maintained at a height that does not obstruct visibility. Includes deadheading.
Pruning - Trees	<ul> <li>TWO (2) times per year to shape, train, and prevent encroachment into public thoroughfare/sidewalk or into other plant material, and to ensure clear visibility of all street signs and traffic signals.</li> <li>All sucker growth is to be removed as it appears.</li> <li>Prune to correct potential hazards and to remove all dead, diseased, or damaged limbs, as well as those limbs crossing or competing.</li> </ul>
Fertilization – Complete	<ul> <li>FIVE (5) times per year to promote healthy plant growth:</li> <li>Feb, Apr, June, Sept, and Dec.</li> <li>Best Turf Supreme 16-6-8 shall be used in: February and June.</li> <li>Best Super Turf 25-5-5 shall be used in: April and September.</li> <li>Yara Turf Royale 21-7-14 shall be used in: December.</li> </ul>
Mulch all Landscaped	ONE (1) time per year in February-April. 2" deep.
Areas	Eight (8) cubic yards minimum.
Pest Control	No Pesticide use on school property. (Healthy Schools Act of 2000)
Fungicide or other Special Treatment	No Pesticide use on school property. (Healthy Schools Act of 2000)
Plant Replacement	As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's negligence.
Sweeping-Hardscape	TWO (2) times per week by 11:00 a.m. to keep parking lots, sidewalks, gutters, stairs, walkways, picnic tables, under bleachers, along fences, multi-purposes courts, etc. free of dirt, sand, leaves, etc.
Storm Drains: Inspect & Clean any Debris	<ul><li>ONE (1) time per month to ensure storm drain structures are clean and free of any dirt or debris.</li><li>Proper BMP's will be followed to ensure proper function of storm drains.</li><li>FOUR (4) Total Storm Drains onsite.</li></ul>

# CATEGORY X(g): Kumeyaay Elementary School (Joint-Use Site) 4.04 Acres

Supervisor Inspection: Overall Joint-Use Site Bleachers & Benches:	<ul> <li>ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies.</li> <li>Areas may include but are not limited to the following amenities: Park Signs, Benches, Tables, BBQ's, Hot Coal Dispensers, Multi-Purpose Courts, Tennis Courts, Stairways, Railings, Fencing, Bleachers, Dug-Outs, Par Fitness Equipment, Etc.</li> <li>ONE (1) time per week a written inspection report shall be sent to the Contract Administrator.</li> <li>Contract Administrator shall be notified immediately of any potential hazards.</li> <li>THREE (3) times per week to ensure sports bleachers and</li> </ul>
Inspect & Clean	park benches are clean, graffiti free, and free from defects, damage, or vandalism. Contract Administrator shall be notified immediately of any potential hazards.
Litter Removal	THREE (3) times per week, by 10:00 a.m. to keep all areas litter free. Extra servicing may be required depending on events or holidays. FOUR (4) trash containers.
Recycle Removal	THREE (3) times per week, by 10:00 a.m. to keep recycle containers free. Extra servicing may be required depending on events or holidays. FOUR (4) recycle containers.
Irrigation Inspection	<ul> <li>ONE (1) time per week, all systems including drip are to be thoroughly inspected to ensure complete electronic/battery or solar operation and proper distribution of water.</li> <li>An irrigation checklist shall be completed as each system is inspected.</li> <li>ONE (1) time per week inspection checklists must be submitted to the Contract Administrator. Inspection checklists will be provided.</li> </ul>
Irrigation	As necessary to promote healthy plant growth.
Irrigation Systems: Maintenance & Repair	As needed to ensure proper operation.
Weed Removal	<ul><li>ONE (1) time per week to maintain areas in a weed free condition. Includes complete weed removal in hardscape areas.</li><li>No Pesticide use on school property. (Healthy Schools Act of 2000)</li></ul>

Mowing Lawns	ONE (1) time per week, March 1 - November 30. Every
	other week December 1 - February 28/29.
	Sweeping is mandatory if excessive amounts of grass
	clippings remain after mowing.
Edging Lawns	Edging and Line Trimming to be done every mow time to
	remove all overgrown grasses.
Renovation	ONE (1) time per year in August/September to ensure turf
	health. Renovation shall be accomplished in conjunction
	with aeration and fertilization.
Aeration	FOUR (4) times per year to ensure turf health. Aeration
	shall be accomplished prior to fertilization.
Maintain Athletic Field	ONE (1) time per week to keep field areas free of ruts,
Surface	holes, depressions, low areas, etc. Soil to be added to keep
(Material Paid by City)	these areas safe and level.
Maintain DG Area	ONE (1) time per week to keep DG areas free of ruts,
(Material Paid by City)	holes, depressions, low areas, etc. Decomposed Granite
	(DG) to be added to keep these areas safe and level.
Prep Infields/Replenish	ONE (1) time per year. Contractor to order, schedule
Soil	delivery, dump, spread material to even out areas and
(Material Paid by City)	provide an even playing surface.
	(CA/San Diego Gold DG with Stabilizer)
Pruning/Edging Shrubs	FOUR (4) times per year.
and Groundcover	Prune shrubs and groundcover to prevent encroachment
	into public thoroughfare/sidewalk or into other plant
	material and to prevent blockage of irrigation system
	components and patterns and for plant health.
	All shrubs are to be maintained at a height that does not
	obstruct visibility. Includes deadheading.
Pruning - Trees	TWO (2) times per year to shape, train, and prevent
_	encroachment into public thoroughfare/sidewalk or into
	other plant material, and to ensure clear visibility of all
	street signs and traffic signals.
	All sucker growth is to be removed as it appears.
	Prune to correct potential hazards and to remove all dead,
	diseased, or damaged limbs, as well as those limbs crossing
	or competing.
Fertilization –	FIVE (5) times per year to promote healthy plant growth:
Complete	Feb, Apr, June, Sept, and Dec.
	Best Turf Supreme 16-6-8 shall be used in: February and
	June.
	Best Super Turf 25-5-5 shall be used in: April
	and September.
	Yara Turf Royale 21-7-14 shall be used in: December.

Pest Control	No Pesticide use on school property. (Healthy Schools Act of 2000)	
Fungicide or other	No Pesticide use on school property.	
Special Treatment	(Healthy Schools Act of 2000)	
Plant Replacement	As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's negligence.	
Mulch Planter Beds	ONE (1) time per year in February-April. 2" deep. Six (6) cubic yards minimum.	
Storm Drains: Inspect & Clean any Debris	ONE (1) time per month to ensure storm drain structures are clean and free of any dirt or debris. Proper BMP's will be followed to ensure proper function of storm drains. TWO (2) Total Storm Drains onsite.	
Sweeping-Hardscape	TWO (2) times per week by 11:00 a.m. to keep parking lots, sidewalks, gutters, stairs, walkways, picnic tables, under bleachers, along fences, multi-purposes courts, etc. free of dirt, sand, leaves, etc.	

#### CATEGORY X(h): Canyon Hills (formerly Serra) High School (Joint-Use Site) 6.45 Acres

C	ONE (1) the second of the second sec			
Supervisor Inspection:	ONE (1) time per week the non-working supervisor shall			
Overall Joint-Use Site	inspect all areas under the contract and submit a written			
	punch list of all deficiencies.			
	Areas may include but are not limited to the following			
	amenities: Park Signs, Benches, Tables, BBQ's, Hot Coal			
	Dispensers, Multi-Purpose Courts, Tennis Courts,			
	Stairways, Railings, Fencing, Bleachers, Dug-Outs, Par			
	Fitness Equipment, Etc.			
	ONE (1) time per week a written inspection report shall be			
	sent to the Contract Administrator.			
	Contract Administrator shall be notified immediately of any			
	potential hazards.			
Litter Removal	THREE (3) times per week, by 10:00 a.m. to keep all areas			
	litter free. Extra servicing may be required depending on			
	events or holidays. FOUR (4) trash containers.			
Recycle Removal	THREE (3) times per week, by 10:00 a.m. to keep recycle			
	containers free. Extra servicing may be required depending			
	on events or holidays. FOUR (4) recycle containers.			
Irrigation Inspection	ONE (1) time per week, all systems including drip are to be			

	thoroughly inspected to ensure complete electronic/battery or solar operation and proper distribution of water. An irrigation checklist shall be completed as each system is inspected.	
	ONE (1) time per week inspection checklists must be submitted to the Contract Administrator. Inspection	
	checklists will be provided.	
Irrigation	As necessary to promote healthy plant growth.	
Irrigation Systems: Maintenance & Repair	As needed to ensure proper operation.	
Weed Removal	ONE (1) time per week to maintain areas in a weed free condition. Includes complete weed removal in hardscape areas. No Pesticide use on school property.	
	(Healthy Schools Act of 2000)	
Mowing Lawns	ONE (1) time per week, March 1 - November 30. Every other week December 1 - February 28/29. Sweeping is mandatory if excessive amounts of grass	
	clippings remain after mowing.	
Edging Lawns	Edging and Line Trimming to be done every mow time to remove all overgrown grasses.	
Renovation	ONE (1) time per year in August/September to ensure turf health. Renovation shall be accomplished in conjunction with aeration and fertilization.	
Aeration	FOUR (4) times per year to ensure turf health. Aeration shall be accomplished prior to fertilization.	
Maintain Athletic Field Surface (Material Paid by City)	ONE (1) time per week to keep field areas free of ruts, holes, depressions, low areas, etc. Soil to be added to keep these areas safe and level.	
Maintain DG Area	ONE (1) time per week to keep DG areas free of ruts,	
(Material Paid by City)	holes, depressions, low areas, etc. Decomposed Granite (DG) to be added to keep these areas safe and level.	
Fertilization –	FIVE (5) times per year to promote healthy plant growth:	
Complete	Feb, Apr, June, Sept, and Dec.	
1	Best Turf Supreme 16-6-8 shall be used in: February and	
	June.	
	Best Super Turf 25-5-5 shall be used in: April	
	and September.	
	Yara Turf Royale 21-7-14 shall be used in: December.	
Pest Control		
	(Healthy Schools Act of 2000)	
Fungicide or other	No Pesticide use on school property.	
6	1 - r	

Special Treatment	(Healthy Schools Act of 2000)	
Plant Replacement	As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's negligence.	
Tennis Courts:	ONE (1) time per week on Mondays by 7:30 a.m. to keep	
Litter Removal	tennis court areas free of litter. Extra services may be required depending on events.	
Tennis Courts:	ONE (1) time per week on Mondays by 7:30 a.m. to keep	
Sweeping or Blowing	tennis court areas free of leaves, dirt & debris.	
	Extra services may be required depending on events.	
Storm Drains:	ONE (1) time per month to ensure storm drain structures	
Inspect & Clean any	are clean and free of any dirt or debris.	
Debris	Proper BMP's will be followed to ensure proper function of	
	storm drains.	
	FOUR (4) Total Storm Drains onsite.	

## CATEGORY X(i): Tierrasanta Elementary School (Joint-Use Site) 1.70 Acres

Supervisor Inspection: Overall Joint-Use Site	<ul> <li>ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies.</li> <li>Areas may include but are not limited to the following amenities: Park Signs, Benches, Tables, BBQ's, Hot Coal Dispensers, Multi-Purpose Courts, Tennis Courts, Stairways, Railings, Fencing, Bleachers, Dug-Outs, Par Fitness Equipment, Etc.</li> <li>ONE (1) time per week a written inspection report shall be sent to the Contract Administrator.</li> <li>Contract Administrator shall be notified immediately of any potential hazards.</li> </ul>
Bleachers & Benches: Inspect & Clean	<ul><li>THREE (3) times per week to ensure sports bleachers and park benches are clean, graffiti free, and free from defects, damage, or vandalism.</li><li>Contract Administrator shall be notified immediately of any potential hazards.</li></ul>
Litter Removal	THREE (3) times per week, by 10:00 a.m. to keep all areas litter free. Extra servicing may be required depending on events or holidays. FOUR (4) trash containers.
Recycle Removal	THREE (3) times per week, by 10:00 a.m. to keep recycle

	containers free. Extra servicing may be required depending	
	on events or holidays. FOUR (4) recycle containers.	
Irrigation Inspection	ONE (1) time per week, all systems including drip are to be thoroughly inspected to ensure complete electronic/battery or solar operation and proper distribution of water.	
	An irrigation checklist shall be completed as each system is inspected.	
	ONE (1) time per week inspection checklists must be	
	submitted to the Contract Administrator. Inspection	
	checklists will be provided.	
Irrigation	As necessary to promote healthy plant growth.	
Irrigation Systems: Maintenance & Repair	As needed to ensure proper operation.	
Weed Removal	ONE (1) time per week to maintain areas in a weed free	
weed Removal	condition. Includes complete weed removal in hardscape areas.	
	No Pesticide use on school property.	
	(Healthy Schools Act of 2000)	
Mowing Lawns	ONE (1) time per week, March 1 - November 30. Every	
6	other week December 1 - February 28/29.	
	Sweeping is mandatory if excessive amounts of grass	
	clippings remain after mowing.	
Edging Lawns	Edging and Line Trimming to be done every mow time	
	remove all overgrown grasses.	
Renovation	ONE (1) time per year in August/September to ensure turf	
health. Renovation shall be accomplished in con-		
	with aeration and fertilization.	
Aeration	FOUR (4) times per year to ensure turf health. Aeration	
	shall be accomplished prior to fertilization.	
Maintain Athletic Field	ONE (1) time per week to keep field areas free of ruts,	
Surface (Matarial Daid by City)	holes, depressions, low areas, etc. Soil to be added to keep	
(Material Paid by City) Fertilization –	these areas safe and level.	
Complete	FIVE (5) times per year to promote healthy plant growth: Feb, Apr, June, Sept, and Dec.	
Complete	Best Turf Supreme 16-6-8 shall be used in: February and	
	June.	
	Best Super Turf 25-5-5 shall be used in: April	
	and September.	
	Yara Turf Royale 21-7-14 shall be used in: December.	
Pest Control	No Pesticide use on school property.	
	1 1 2	
	(Healthy Schools Act of 2000)	

Special Treatment	(Healthy Schools Act of 2000)	
Plant Replacement	As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's negligence.	
Storm Drains: Inspect & Clean any Debris	<ul> <li>ONE (1) time per month to ensure storm drain structures are clean and free of any dirt or debris.</li> <li>Proper BMP's will be followed to ensure proper function of storm drains.</li> <li>FOUR (4) Total Storm Drains onsite.</li> </ul>	

# CATEGORY X(j): Vista Grande Elementary School (Joint-Use Site) 4.10 Acres

Supervisor Inspection: Overall Joint-Use Site	<ul> <li>ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies.</li> <li>Areas may include but are not limited to the following amenities: Park Signs, Benches, Tables, BBQ's, Hot Coal Dispensers, Multi-Purpose Courts, Tennis Courts, Stairways, Railings, Fencing, Bleachers, Dug-Outs, Par Fitness Equipment, Etc.</li> <li>ONE (1) time per week a written inspection report shall be sent to the Contract Administrator.</li> <li>Contract Administrator shall be notified immediately of any</li> </ul>
	potential hazards.
Litter Removal	THREE (3) times per week, by 10:00 a.m. to keep all areas litter free. Extra servicing may be required depending on events or holidays. FOUR (4) trash containers.
Recycle Removal	THREE (3) times per week, by 10:00 a.m. to keep recycle containers free. Extra servicing may be required depending on events or holidays. FOUR (4) recycle containers.
Irrigation Inspection	<ul> <li>ONE (1) time per week, all systems including drip are to be thoroughly inspected to ensure complete electronic/battery or solar operation and proper distribution of water.</li> <li>An irrigation checklist shall be completed as each system is inspected.</li> <li>ONE (1) time per week inspection checklists must be submitted to the Contract Administrator. Inspection checklists will be provided.</li> </ul>
Irrigation	As necessary to promote healthy plant growth.
Irrigation Systems: Maintenance & Repair	As needed to ensure proper operation.

d free rdscape	
aseape	
Every	
,	
ass	
time to	
sure turf	
unction	
ration	
shall be accomplished prior to fertilization. ONE (1) time per week to keep field areas free of ruts,	
holes, depressions, low areas, etc. Soil to be added to keep	
these areas safe and level.	
ONE (1) time per week to keep DG areas free of ruts,	
holes, depressions, low areas, etc. Decomposed Granite	
el.	
(DG) to be added to keep these areas safe and level. ONE (1) time per year. Contractor to order, schedule	
delivery, dump, spread material to even out areas and	
provide an even playing surface.	
(CA/San Diego Gold DG with Stabilizer. 60 yds).	
FIVE (5) times per year to promote healthy plant growth:	
Feb, Apr, June, Sept, and Dec.	
ary and	
April	
ıber.	
No Pesticide use on school property. (Healthy Schools Act of 2000)	
o replace	
As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's	
negligence. ONE (1) time per month to ensure storm drain structures	
are clean and free of any dirt or debris.	

Debris	Proper BMP's will be followed to ensure proper function of	
	storm drains.	
	SIX (6) Total Storm Drains onsite.	

CATEGORY XI:	Gutters (Approx.) 177,921 Linear Ft.		
Supervisory Inspection	ONE (1) time per week the non-working supervisor shall		
	inspect all_areas under the contract and submit a written punch		
	list of all deficiencies.		
Litter Removal	ONE (1) time per week to keep all areas litter free.		
Weed Removal	ONE (1) time per month to maintain areas in a weed free condition.		
Sweeping	ONE (1) time per week to remove dirt, leaves, and other		
	debris. Blowers may be used if operated in a responsible		
	manner.		

<b>CATEGORY XIII:</b>	<b>Concrete Brow Ditches</b>	(Approx.) 26,400 Linear Ft.
-----------------------	------------------------------	-----------------------------

Supervisory Inspection	ONE (1) time per week the non-working supervisor shall
	inspect all_areas under the contract and submit a written
	punch list of all deficiencies.
	All major problems shall be reported to the Contract
	Administrator within twenty-four (24) hours.
Debris Removal	TWO (2) times per year all soil, leaves, and debris shall be
	removed to ensure proper water flow.
	Drainage ditch to remain in compliance with the City's
	Best Management Practices (BMP) for Storm Water
	Pollution Prevention.
	See Section II-N, Specific Provisions, Municipal Code
	43.03: Storm Water Management and Discharge Control.

<b>CATEGORY XIV:</b>	Tierrasanta Branch Library(Approx.) .28 Acres
Supervisory Inspection	ONE (1) time per week the non-working supervisor shall
	inspect all_areas under the contract and submit a written
	punch list of all deficiencies.
	All major problems shall be reported to the Contract
	Administrator within twenty-four (24) hours.
Litter Removal	THREE (3) times per week, by 10:00 a.m. to keep all areas
	litter free. Extra servicing may be required depending on
	events or holidays. TWO (2) trash containers.

Deevele Demessel	TUDEE (2) times non weak has 10.00 and to been as seed.
Recycle Removal	THREE (3) times per week, by 10:00 a.m. to keep recycle containers free. Extra servicing may be required depending
	on events or holidays. TWO (2) recycle containers.
Irrigation Inspection	ONE (1) time per week, all systems including drip are to be
	thoroughly inspected to ensure complete electronic/battery
	or solar operation and proper distribution of water.
	An irrigation checklist shall be completed as each system is
	inspected.
	ONE (1) time per week inspection checklists must be
	submitted to the Contract Administrator. Inspection
	checklists will be provided.
Irrigation	As necessary to promote healthy plant growth.
Irrigation Systems:	As needed to ensure proper operation.
Maintenance & Repair	-
Weed Removal	TWO (2) times per month to maintain areas in a weed free
	condition.
Mowing Lawns	ONE (1) time per week, March 1 - November 30. Every
	other week December 1 - February 28/29.
	Sweeping is mandatory if excessive amounts of grass
	clippings remain after mowing.
Edging Lawns	Edging and Line Trimming to be done every mow time to
	remove all overgrown grasses.
Renovation	ONE (1) time per year in August/September to ensure turf
	health. Renovation shall be accomplished in conjunction
	with aeration and fertilization.
Aeration	FOUR (4) times per year to ensure turf health. Aeration
	shall be accomplished prior to fertilization.
Pruning/Edging Shrubs	FOUR (4) times per year.
and Groundcover	Prune shrubs and groundcover to prevent encroachment
	into public thoroughfare/sidewalk or into other plant
	material and to prevent blockage of irrigation system
	components and patterns and for plant health.
	All shrubs are to be maintained at a height that does not
	obstruct visibility. Includes deadheading.
Pruning – Trees	TWO (2) times per year to shape, train, and prevent
	encroachment into public thoroughfare/sidewalk or into
	other plant material, and to ensure clear visibility of all
	street signs and traffic signals.
	All sucker growth is to be removed as it appears.
	Prune to correct potential hazards and to remove all dead,
	diseased, or damaged limbs, as well as those limbs crossing
	or competing.

Fertilization – Complete	<ul><li>FIVE (5) times per year to promote healthy plant growth:</li><li>Feb, Apr, June, Sept, and Dec.</li><li>Best Turf Supreme 16-6-8 shall be used in: February and June.</li></ul>
	Best Super Turf 25-5-5 shall be used in: April and September. Yara Turf Royale 21-7-14 shall be used in: December.
Pest Control	Prompt remedial action as necessary to maintain plant material in optimum condition.
Fungicide or other Special Treatment	Prompt remedial action as necessary to maintain plant material in optimum condition.
Plant Replacement	As deemed necessary by Contract Administrator to replace plant material damaged or killed due to Contractor's negligence.
Sweeping-Hardscape	ONE (1) time per week. All areas shall be swept to remove sand, dirt, and debris. Blowers may be used, if operated in a responsible manner. Includes parking lot and gutters.

CATEGORY XV (a): Other Park Acreage-Undeveloped (approx.) 29.40 Acres		
Supervisory Inspection	ONE (1) time per week the non-working supervisor shall inspect all_areas under the contract and submit a written punch list of all deficiencies. All major problems shall be reported to the Contract Administrator within twenty-four (24) hours.	
Litter Removal: All Areas	FOUR (4) times per year to keep areas litter free.	
Litter Removal: Roadrunner Park, Villa Monserate, Tierrasanta Community Park overlook areas	ONE (1) time per month to keep areas litter free. Behind Roadrunner Park, adjacent to Farb Middle School, and 80 Ft. along Santo Rd. Between Villa Monserate Park and Vista Grande School, Behind Tierrasanta Community Park and pool areas.	
Clearance: All Paths/Trails/Service Roads	TWO (2) times per year to keep areas safe and clear for public safety and to reduce invasive weed growth. Line-Trim areas near benches 5 feet. Trails/Jogging path to be cleared 6-12" both sides. (Bird Nesting Season February 15-September 15)	

#### CATEGORY XV (a): Other Park Acreage-Undeveloped (approx.) 29.40 Acres

CATEGORY XV	(b): Mission Trails Regional Park Trash Receptacles (4)
Supervisory Inspection	ONE (1) time per week the non-working supervisor shall
	inspect all_areas under the contract and submit a written
	punch list of all deficiencies.
	All major problems shall be reported to the Contract
	Administrator within twenty-four (24) hours.
Litter Removal	ONE (1) time per week to keep areas litter free. Additional
	receptacles may be installed.

#### P. **ESTIMATED HOURS**

City staff estimates over 24,757 annual hours are required to fulfill all routine task frequencies required by this contract. The annual hours listed in this **Paragraph P** is an estimate of the required to accomplish all tasks in a satisfactory manner. Contractor shall recognize that the estimated hours are based on historical data and observation by City staff.

#### 0. **MATERIALS**

Contractor must be able to verify all material costs and quantities listed in its proposal. Upon request, Contractor shall provide information for material(s) identifying and verifying various vendors, (company name, address, phone number and contact person), along with cost quotes for each individual material submitted for consideration.

City staff estimates over \$29,820 in annual material costs, (inclusive of approximately \$29,820 in fertilizer and mulch costs), will be required by the Contractor to fulfill all routine task frequencies under in contract, in accordance with market pricing at time of award of contract. City's estimate is based on current market pricing. It is recommended that the Contractor include all material costs including irrigation, weed control, litter control, fertilization, dumping, etc., on the Schedule of Task Costs pages.

The Contract Administrator shall evaluate all material costs associated with tasks specified under this Contract and may reject any proposal that under or overestimates the material costs associated with task requirements. It is recommended that Contractor consider all factors including project square footage, task frequencies, and specifications impacting material costs.

#### R. **FERTILIZATION**

Fertilizer shall be hand watered in using quick coupler valves and hoses on those areas with drip irrigation systems. The Contract Administrator shall specify which complete and organic fertilizers shall be applied. Specific fertilizer type/brand and application rates are specified in proposal Specifications herein.

In accordance with Specifications including square footage specified, Contractors are required to provide the following materials. Fertilizer bag quantities listed are 50-pound bags/each:

- Qty. 544 bags Best Turf Supreme 16-6-8
- Qty. 348 bags Best Super Turf 25-5-5
- Qty. 207 bags Yara Turf Royale 21-7-14

# S. PLANT MATERIAL MAINTENANCE

All groundcovers: including those which are planted at the top of slopes adjacent to private limits/boundaries, and adjacent to other shrubs, groundcovers or turf shall be maintained to keep plant growth within reasonable bounds. They shall be maintained to prevent encroachment of passageways, walks, streets, or view signs or encroachment in any manner deemed objectionable by the Contract Administrator. Contractor is required to mechanically or chemically control this groundcover to prevent encroachment onto private lots.

Contractor is required to prevent encroachment of plant materials from private lots or open space into areas maintained under this contract. Care shall be taken to ensure that plant material(s) inside fences on private lots is not injured or damaged by Contractor's actions. Plant materials within the District shall be maintained to prevent encroachment onto private walls, fences, etc.

Shrub pruning along major streets shall be completed within ten calendar days of its inception. Shrub pruning must be performed so as to maintain their natural appearance. Any mechanical hedging must be approved by the Contract Administrator.

Contract Administrator shall provide direction for performing maintenance of any/all pruning throughout the Tierrasanta MAD at any time at no additional cost to the City.

#### T. PEST CONTROL

Pest control is a maintenance function of this contract and shall be required (as needed). Pests that have been encountered and abated in this area previously include:

- 1. Scale on lantana and pine trees.
- 2. Snails throughout areas in the District.
- **3.** Gophers and ground squirrels throughout areas in the District. All gopher mounds shall be brought back to grade when the area has been treated. Excessive soil or rocks may require removal.
- 4. Rats have been found nesting in plant material.
- 5. Bees nesting in valve boxes.
- 6. Ants nesting in valve boxes and irrigation controllers.
- 7. Snakes.

## Exhibit A Page **70** of 77

## U. STAFFING REQUIREMENTS

In addition to the requirements described in Paragraph F, subsection 4, **Staffing** this Contract requires the following:

- 1. Staffing
  - **a.** 100 percent of one annual position (1 FTE) for the Non-Working Supervisor.
  - **b.** 100 percent of one annual position (1 FTE) for the Irrigation Specialist.
  - **c.** A minimum of ten annual positions (10+ FTE) for crew employees which include a full-time working Field Supervisor.
- 2. Supervision

2. At least one working Field Supervisor and one working Irrigation Specialist shall be on duty eight hours per day, Monday through Friday. Work hours shall be between 6:00 a.m. to 6:00 p.m. with a half hour lunch break.

3. The Irrigation Specialist(s) must arrive on site no later than 7:00 a.m. and shall be employed by the successful Contractor at the time this Contract is awarded.

4. Additionally, Field Supervisors and Irrigation Specialists are subject to the following requirements:

**a.** Field Supervisor(s)

5. Contractor shall have on the job site at all times, competent Supervisors (may be working Field Supervisors) capable of discussing all matters pertaining to this Contract with the Contract Administrator. The working Field Supervisor must have all of the following: A minimum of three years of experience overseeing all phases of landscape maintenance and personnel for a site of comparable square footage, scope of work and plant materials; verifiable experience (knowledge, skills and abilities) in the identification of and maintenance practices for ornamental trees, shrubs and groundcover, exotic weeds and plants as required for proper maintenance of all areas; and, ability to communicate effectively (orally and in writing) with the Contract Administrator and with public citizens. It is desirable that the Field Supervisor have over three (3) years of qualifying experience and highly desirable for the field supervisor to have over five (5) years qualifying experience.

6. The onsite working Field Supervisor shall have a cell phone in their possession for communication with the Contract Administrator. A minimum of one qualified working Field Supervisor shall be on the job at all times work is being

performed to provide the necessary supervision to ensure work is completed as specified by this Contract.

7. <u>A resume of the assigned working Field Supervisor must be submitted with</u> proposal. Failure to do so may result in considering your proposal submittal as nonresponsive.

8. The working Field Supervisor(s) shall be interviewed by the Contract Administrator and acceptance is subject to the Contract Administrator's approval. Payroll records may be utilized to verify experience. The working Field Supervisor must be employed by the successful Contractor at the time this Contract is awarded. Any changes in working Field Supervisor personnel must be submitted in writing to the Contract Administrator and is subject to approval based on compliance with Paragraph F and Paragraph U of this Contract.

**b.** Irrigation Specialist(s)

9. Irrigation Specialist(s) must have all of the following: at least three years of experience with all aspects of irrigation system installation and maintenance to assure that all components are maintained in operable condition at all times; verifiable (resume) experience and will be interviewed for acceptance by the Contract Administrator; ability to communicate effectively (orally and in writing) with the Contract Administrator and with public citizens; knowledge and experience in programming controllers and irrigating plant material in addition to knowledge and experience in troubleshooting and repairing all irrigation components utilized in the district; and, must have completed approved training and has all certifications to work with reclaimed/recycled water. It is desirable that the Irrigation Specialist have over three (3) years of qualifying experience and highly desirable that the Irrigation Specialist have over five (5) years of qualifying experience.

c. Adequate Personnel

10. The Contractor must have knowledge and personnel with experience having performed on projects of similar size and plant pallets. The plant material(s) on this site require uncommon maintenance practices.

11. All of the landscape maintenance workers/laborers that make up the crew shall have at least one year of fulltime paid experience in performing all aspects of landscape maintenance. It is desirable that all of the landscape maintenance workers/laborers have more than one (1) year of fulltime paid experience and highly desirable for all of the landscape maintenance workers/laborers to have more than four (4) years of fulltime paid experience.

12. Adequate personnel must be assigned full time to this Contract Monday through Friday excluding holidays, as well as including an on-site working Field Supervisor, Irrigation Specialist, and a crew to perform all other work.

13. The Monday through Friday full-time crew shall not be taken away from their routine Work Schedule to complete Extraordinary Labor assignments for miscellaneous projects. Exceptions include illegal dump pick-up, planting replacement plants (Contractor neglect) or specific litter situations beyond the routine litter or maintenance requirements of this contract. If Contractor has questions, Contractor shall contact the Contract Administrator.

14. The Contractor shall maintain a minimum of eleven full-time employees on site (excluding Non-Working Supervisor) during the normal working hours/days specified in this contract (Monday through Friday). The Contract Administrator will evaluate each Contractor's time submitted with respect to each individual proposal task and overall, throughout each category. The Contractor shall ensure that these time elements meet the Contract Administrator requirements for full-time labor.

15. A minimum of one Field Supervisor and one laborer must be able to communicate in English, orally and in writing. These staff members must be part of the Monday through Friday full-time staff.

16. Upon award of this Contract, Contractor shall submit, to the Contract Administrator, a complete list to include the full names of employees assigned to the job site. Contractor shall replace any and all missing crew members with other fully competent employees for the same workday. There will be no exceptions, unless approved by the Contract Administrator.

# V. EQUIPMENT

The following equipment is required, (list on the "Contractor's Statement of Available Equipment" form):

Numerous Power and Manual Tools including: Edger's, Blowers, Weed Whips, Backpack Sprayers, Small Fertilizer Spreaders, Pruning Tools and all other hand tools necessary to accomplish the maintenance requirements.

#### W. BLOWERS

Unless specifically stated otherwise, blowers may be used at Contractor's discretion. The Contractor will be held responsible for any damages incurred to persons or property related to use of subject blowers.

It is always a better choice to sweep where people and cars are present, especially when performing duties on the medians. Contractor must remove all dirt and debris from the site and must not blow

# Exhibit A Page **73** of 77

dirt or debris into streets or adjoining properties.

# X. EXTRAORDINARY LABOR

The use of Extraordinary Labor for miscellaneous projects is estimated at approximately [7,500] hours annually. Contractor will utilize Extraordinary Labor for additional miscellaneous projects (Extraordinary Work) in the Tierrasanta MAD. The Contractor must have the staffing, expertise, and knowledge to perform projects in a timely manner with a quality end product. Some priority projects may need to be done immediately. All Extraordinary Labor must be approved in writing by the Contract Administrator prior to conducting the Extraordinary Work.

Contractor may rent equipment necessary to complete the Extraordinary Work. If the Contractor has the equipment to perform the Extraordinary Work, Contractor may charge a rental fee at the current market rate for the equipment usage. If Extraordinary Work requires the purchase of goods, supplies, materials, or rental of equipment, the Contractor will be authorized to apply a 10 percent markup fee on those items. The 10 percent markup fee is not applicable to the Extraordinary Work, the Contractor will be authorized to apply a ten percent markup fee for any and all Sub-Contractors services required. Only Sub-Contractors listed on the Contractor's Statement of Sub-Contractors, or Sub-Contractors formally added to the Contract and approved by Purchasing and Contracting Department may be used. Contractor or an approved Sub-Contractor will be compensated for additional debris removal resulting from Extraordinary Work, if approved by the Contract Administrator.

Some examples of Extraordinary Work include, but are not limited to the following:

- Planting and replanting areas as needed.
- Installing and repairing irrigation systems as needed.
- A Registered Consulting Arborist (RCA) for various tree needs (e.g., vehicle accidents, etc.) for revenue cost recovery. RCA must be able to testify as an expert in a Court of Law. Contractor shall include RCA's current hourly rate on the Contractor's Statement of Sub-Contractors form.
- Bee nest removals (if not on Contractor's staff, he/she must be included in the Contractor's Statement of Sub-Contractors form.
- Locate and repair damaged irrigation services or electrical services for broken lines, cut wires to controllers and valves, etc.
- Clean-up of illegal dumps.
- Spread wood chips/mulch.
- Pour concrete pads, (if concrete Contractor is not on Contractor's staff, he/she must be included in the Contractor's Statement of Sub-Contractors form.
- Replace irrigation controllers and irrigation cabinets.

# Exhibit A Page **74** of 77

Extraordinary Labor shall be used for the following types of Extraordinary Work:

# 1. Extraordinary Labor Hours for Plantings

The following quantities and number of hours are to be utilized for Extraordinary Labor planting needs. Estimated quantities and hours listed are based on historical knowledge, practices and observation of operations at the Tierrasanta MAD and will be utilized when planting needs arise. Contractor shall agree to perform any and all planting needs at the quantities and hours noted below during the term of this contract. Contract Term. Any/all changes must be approved in advance and in writing by the Contract Administrator.

Planting hours shall include all time required for complete plant installation, including but not limited to, the following: excavation of plant hole, mixing and addition of soil/amendments/fertilizers, installation of tree stakes, staking and tying (as needed), open plant container, plant, construct plant berms, watering, clean up, etc.

Groundcover – Flat	4 flats/hr.
Shrub – 1 Gallon	10 plants/hr.
Shrub – 5 Gallon	4-5 plants/hr.
Shrub/Tree – 15 Gallon	2-3 plants/hr.
Tree/Shrub – 24" Box	4 hours/ea.
Tree /Shrub – 36" Box	12 hours/ea.
Tree/Shrub – 48" Box	24 Hours/ea.

# 2. Extraordinary Labor Hours for Irrigation Systems

Certain portions of the irrigation systems within the Contract Sites may be equipped with new Smart Controllers as existing systems require replacement, or as otherwise determined by the Contract Administrator and subject to all applicable laws. Contractor may be required to provide a portable wireless device (smart phone or tablet) capable of accessing the internet and accessing the web based smart controller interfacing from off-site locations. In such case, irrigation system materials shall be provided by the City to Contractor. Compensation for labor shall be the estimated repair times specified below using the labor rate specified on the proposal form.

Except as described above in this **Paragraph X**(2), compensation for irrigation systems materials shall be at the cost of the items involved plus 10 percent markup fee for the Contractor's cost of handling. Compensation for Extraordinary Labor shall be for the estimated repair times specified below using the labor rate specified on the proposal form. All repairs must be pre-approved by the Contract Administrator.

Repair or replacement includes but is not limited to: sprinkler system laterals (piping), sprinkler mains (pressure lines), vacuum breakers, sprinkler control valves, sprinkler controllers, sprinkler

# Exhibit A Page **75** of 77

heads, sprinkler caps, sprinkler head risers, valve covers, boxes and lids (including electrical pull boxes and lids), valve sleeves and lids, quick coupler valves, and hose bibs. Any replacement must conform to the type and kind of existing system. Any compensation for irrigation parts and/or labor not in conformance with the existing system. Any deviation must be approved in writing by the Contract Administrator.

Repairs to Sprinkler Irrigation Systems and Water Lines	Estimated Repair <u>Time</u>
Broken lateral sprinkler line (surface)	0.5 hour
Broken lateral sprinkler line (subsurface)	1.0 hour
Damaged auto-sprinkler valve	1.5 hours
Damaged gate valve, manual control, or quick coupler valve	0.5 hour
Replace sprinkler head and/or riser (if digging required) and subsurface sprinkler Does not include screw on shrub heads	0.25 hour
Replace solenoid or bleed plug	0.25 hour

# 3. Extraordinary Labor for Graffiti

Graffiti shall be addressed by the Contractor within 48 hours of receiving notice of such graffiti or discovery, whichever occurs first. The Contractor shall notify the Contract Administrator and receive approval prior to the purchase of materials. Repairs necessary to correct damage due to graffiti will be performed by the City or by Contractor as Extraordinary Labor, subject to Contract Administrator approval.

Compensation for job-specific materials required to remove graffiti shall be at the cost of the job-specific items plus 10 percent markup fee for the Contractor's cost of handling. Compensation for graffiti removal shall be at the Extraordinary Labor Rate. All repairs must be pre-approved by the Contract Administrator.

# Y. SUBCONTRACTORS

During the Contract Term, functions/tasks may arise which require the need for professional services associated with the maintenance of the Tierrasanta MAD. These functions/tasks may require license(s), certification(s), permit(s), etc. The Contractor shall list any/all Sub-Contractors on the Contractor's Statement of Sub-Contractors form. Requests must be submitted in advance for changes or additions to the Sub-Contractor's list and must be approved and incorporated into

the Contract by the Purchasing and Contracting Department. Copies may be required upon request. Sub-Contractors include but are not limited to the following:

- Pest Control Advisor
- A Registered Consulting Arborist (RCA) for various tree needs. RCA must be able to be utilized as an expert in a court of law.
- Concrete, masonry, and asphalt work required as needed.
- Certified Pest Control Operator for the removal/elimination of bee colonies/hives, vertebrates, and other pests.
- Any/all irrigation system repairs, including electrical.

# Z. SCHEDULE OF TASK COSTS AND PRICING PAGES

# 1. Schedule of Task Costs and Instructions

The Contractor shall submit a onetime total cost for labor and materials for each of the tasks to be performed in each of the Contract Sites under this Contract. The Contractor must enter an hourly labor rate, the time required to accomplish the specified task one time, and multiply to produce the Labor Cost, add the Materials Cost which will provide the total cost for performing the task one time.

Task	Labor Rate	Labor Costs	Material Cost	Total One Time Cost	Annual Frequency	Annual Cost
Litter Removal	\$22.55	\$22.55	\$2.75	=\$25.30	x 52	=\$1315.60

Example of how Exhibit A, Schedule of Task Costs must be completed:

Labor costs shall include all costs required to place and keep maintenance personnel on the job site, including but not limited to payroll and insurance costs. Material costs shall include the cost of materials plus any costs associated with transporting the materials to the job site. All material costs must be stated as such and shall not be included in the labor cost.

The Contractor may be required to justify its one-time cost based on the City's estimate of reasonable time to perform specific tasks and materials required. The City reserves the right to reject any proposal when, in its opinion, the Contractor cannot perform the contract in accordance with the specifications herein.

The information in Exhibit A, Schedule of Task Costs, may be used to determine amounts withheld for non-performance when inspections by the City indicate a specified task was not performed.

EXHIBIT	EXHIBIT A. SCHEDULE OF TASK COSTS	TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mu	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to comp	e to complete all cells m	lete all cells may be cause for rejection.	tion.					
* Labor Cc	st = (City's Est. Hour	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
					1					
Section	Category/Item No.	Task Description	City's Est. Hours Labor	Hours Labor Cost per Hour La	Labor Cost* N	Materials Cost Tota	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
A	Category II	Street Medians-Landscaped with Trees, Shrubs and Ground Cover (Includes Hardscape and Cobble)	Sround Cover (Includes Ha	rdscape and Cobble).						
A		Approximate square feet 343,343		(Approximately 177,297 Sq. Ft. of Landscaped Area and 166,046 Sq. Ft. of Hardscape)	of Landscaped A	rea and 166,046 <u>Sq. Ft</u> .	of Hardscape)			
A		Supervisory Inspection	1	22.91 \$	22.91 \$	•	22.91	52	\$ 1,191.37	52.00
A		Irrigation Inspection	\$	22.91 \$	183.29 \$	0.53 \$	183.81	52	\$ 9,558.28	416.00
A		Litter Removal	¢ €	22.91 \$	68.73 \$	1.31 \$	70.05	52	\$ 3,642.37	156.00
A		Weed Removal	24 \$	22.91 \$	549.86 \$	2.63 \$	552.49	12	\$ 6,629.87	288.00
A		Pruning/Edging – Shrubs and Groundcover	104 \$	22.91 \$	2,382.74 \$	3.68 \$	2,386.42	4	\$ 9,545.68	416.00
A		Pruning – Trees	24 \$	22.91 \$	549.86 \$	8.93 \$	558.79	2	\$ 1,117.58	48.00
٩		Fertilization – Complete	16 \$	22.91 \$	366.58 \$	160.65 \$	527.23	5	\$ 2,636.13	80.00
A		Sweep Hardscape (includes concrete, asphalt, and cobble)	8	22.91 \$	183.29 \$	ь Г	183.29	52	\$ 9,530.98	416.00
A							Category II Total:	Total:	\$ 43,852.24	1,872.00
٩	Category III	Street Medians-Hardscaped/Paved.								
A		Approximate square feet 29,568	29,568							
۷		Supervisory Inspection	-	22.91 \$	22.91 \$	4	22.91	52	\$ 1,191.37	52.00
A		Litter Control	0.75 \$	22.91 \$	17.18 \$	1.31 \$	18.50	52	\$ 961.78	39.00
A		Weed Control	4	22.91 \$	91.64 \$	3.68 \$	95.32	24	\$ 2,287.66	96.00
A		Sweeping - Hardscape	\$	22.91 \$	183.29 \$	<b>↔</b>	183.29	52	\$ 9,530.98	416.00
A							Category III Total:	fotal:	\$ 13,971.78	603.00
A	Category V	Parkway Rights-of-Way or Adjacent Areas Landscaped with Turf, Trees/Shrubs/Groundcover.	d with Turf, Trees/Shrubs/	Groundcover.						

Page 1 of 20

EXHIBIT	EXHIBIT A, SCHEDULE OF TASK COSTS	TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mu	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to comp	nplete all cells	lete all cells may be cause for rejection.	ection.					
* Labor Cc	ost = (City's Est. Hour	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	' Task Cost = (Total 1 -	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description City's Est.	Hours	Labor Cost per Hour	Labor Cost* N	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
A		Approximate square feet 241,800		(Approximately 137,995 Sq. Ft. of Landscaped Area and 103,805 Sq. Ft. of Hardscape)	Ft. of Landscaped A	rea and 103,805 5	iq. Ft. of Hardscape)			
A		Supervisory Inspection	1	22.91 \$	22.91 \$		\$ 22.91	52	\$ 1,191.37	52.00
A		Irrigation Inspection	9	22.91 \$	137.47 \$	0.53	\$ 137.99	52	\$ 7,175.53	312.00
A		Litter Control	3	22.91 \$	68.73 \$	1.31	\$ 70.05	52	\$ 3,642.37	156.00
A		Weed Control	16 \$	22.91 \$	366.58 \$	2.89	\$ 369.46	24	\$ 8,867.12	384.00
٨		Mowing	12 \$	22.91 \$	274.93 \$	7.61	\$ 282.54	46	\$ 12,997.05	552.00
٨		Edging/Line Trimming	12 \$	22.91 \$	274.93 \$	0.79	\$ 275.72	46	\$ 12,683.10	552.00
A		Renovation	36 \$	22.91 \$	824.80 \$	1.84	\$ 826.63	-	\$ 826.63	36.00
A		Aeration	16 \$	22.91 \$	366.58 \$	•	\$ 366.58	4	\$ 1,466.30	64.00
A		Pruning/Edging – Shrubs and Groundcover	\$	22.91 \$	183.29 \$	3.15	\$ 186.44	4	\$ 745.75	32.00
A		Pruning - Trees	\$	22.91 \$	183.29 \$	3.15	\$ 186.44	2	\$ 372.88	16.00
A		Fertilization - Complete	16 \$	22.91 \$	366.58 \$	102.38	\$ 468.95	5	\$ 2,344.76	80.00
A		Sweeping - Hardscape	\$	22.91 \$	183.29 \$		\$ 183.29	52	\$ 9,530.98	416.00
۲							Category V Tota	Total:	\$ 61,843.83	2,652.00
۷	Category VI	Parkway Rights-of-Way or Adjacent Areas - Undeveloped.								
A		Approximate square feet 226,780		(Approximately 10 ft. in from curb) Includes Sidewalks.	n curb) Includes Sid	ewalks.				
A		Supervisory Inspection	1	22.91 \$	22.91 \$		\$ 22.91	52	\$ 1,191.37	52.00
A		Litter Control	1	22.91 \$	22.91 \$	2.89	\$ 25.80	104	\$ 2,683.04	104.00
A		Weed Control	4	22.91 \$	91.64 \$	2.63	\$ 94.27	24	\$ 2,262.46	96.00
A		Prune Shrubs/Groundcover	\$	22.91 \$	183.29 \$	3.94	\$ 187.23	4	\$ 748.90	32.00

Page 2 of 20

EXHIBIT	EXHIBIT A. SCHEDULE OF TASK COSTS	E TASK COSTS								
20000086-25-L	:6-25-L									
CONTR4	CONTRACTOR NAME:	Treebeard Landscape								
All cells m	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to compl	to complete all cells ma	lete all cells may be cause for rejection	ttion.					
* Labor C	<u>ost = (City's Est. Houi</u>	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Tota 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	/ Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description	City's Est. Hours Labor Cost per Hour		Labor Cost* Mat	Materials Cost Total 1	Total 1 Time Cost**	Est. Yrly Frequecy Ye	Yearly Task Cost***	Yrly Est. City's Hrs
A		Sweeping - Hardscape	8	22.91 \$	183.29 \$	to I	183.29	52 \$	9,530.98	416.00
A							Category VI Total:	otal: \$	16,416.75	700.00
A	Category VIII	Open Space-Developed/Enhanced.								
A		Approximate Acres 49.91		cres Turf. Other acres	age: trees/shrubs/et	-1.25 Acres Turf. Other acreage: trees/shrubs/etc. Includes Hardscape & Gutters.	& Gutters.			
A		Supervisory Inspection	1 \$	22.91 \$	22.91 \$	ι.	22.91	52 \$	1,191.37	52.00
A		Irrigation Inspection	4 \$	22.91 \$	91.64 \$	0.53 \$	92.17	52 \$	4,792.79	208.00
A		Litter Control	\$ €	22.91 \$	68.73 \$	2.89 \$	71.62	104 \$	7,448.53	312.00
A		Weed Control	\$ N	22.91 \$	68.73 \$	1.58 \$	70.31	24 \$	1,687.39	72.00
A		Mowing	8	22.91 \$	183.29 \$	2.63 \$	185.91	46 \$	8,552.00	368.00
A		Edging/Line Trimming	8	22.91 \$	183.29 \$	3.68 \$	186.96	46 \$	8,600.30	368.00
A		Renovation	32 \$	22.91 \$	733.15 \$	5.25 \$	738.40	1	738.40	32.00
A		Aeration	8	22.91 \$	183.29 \$	<del>0</del>	183.29	4	733.15	32.00
A		Pruning/Edging – Shrubs and Groundcover	8	22.91 \$	183.29 \$	4.46 \$	187.75	4	751.00	32.00
A		Pruning - Trees	8	22.91 \$	183.29 \$	4.46 \$	187.75	2 \$	375.50	16.00
A		Fertilization – Complete	16 \$	22.91 \$	366.58 \$	210.00 \$	576.58	5	2,882.88	80.00
A		Watering Restoration Sites/Individual Plants with Hose or Buckets via Truck	16 \$	22.91 \$	366.58 \$	•	366.58	10 \$	3,665.76	160.00
A		Remove Debris Piles from Volunteer Workdays (Labor/Truck, Dump Fees)	\$	22.91 \$	183.29 \$	9.45 \$	192.74	12 \$	2,312.86	96.00
A		Refill Mutt Mitt Dispensers	2 \$	22.91 \$	45.82 \$	<del>به</del> ۱	45.82	104 \$	4,765.49	208.00

Page 3 of 20

FXHIBIT	EXHIBIT A SCHEDULE OF TASK COSTS	E TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mt	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to comp		lete all cells may be cause for rejection.	ction.					
* Labor Co	st = (City's Est. Hour	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Tota 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description	City's Est. Hours Lab	Hours Labor Cost per Hour L	Labor Cost* Mai	Materials Cost Tot.	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
A		Inspect/Maintain Ordinance Signs	2 \$	22.91 \$	45.82 \$	•	45.82	12	\$ 549.86	24.00
A		Drag DG Parking Lot at Mission Trails Regional Park (MTRP)	4 \$	22.91 \$	91.64 \$	<del>به</del> ۱	91.64	2	\$ 183.29	8.00
A		Refresh Red Paint on Curb MTRP Staging Area	2 \$	22.91 \$	45.82 \$	26.25 \$	72.07	~	\$ 72.07	2.00
A		Sweeping - Hardscape	7 \$	22.91 \$	160.38 \$	<del>به</del> ۱	160.38	52	\$ 8,339.60	364.00
A							Category VIII Total:	Total:	\$ 57,642.25	2,434.00
۷	Category IX	Open Space-Undeveloped/Native. Incudes: Trails, Paths, Pond, Misc. Amenities, Adjacent Hardscape	hs, Pond, Misc. Amenitie	ss, Adjacent Hardscape.						
A		Approximate Acres 756.10	756.10							
A		Supervisory Inspection	-	22.91 \$	22.91 \$	•	22.91	52	\$ 1,191.37	52.00
A		Inspect and Fill Dishwasher Pond	1	22.91 \$	22.91 \$	•	22.91	52	\$ 1,191.37	52.00
A		Litter Removal - Pond Area and Perimeter	4	22.91 \$	22.91 \$	5.25 \$	28.16	104	\$ 2,928.74	104.00
۷		Litter Removal on Paths/Roads/Trails and Slope behind Vons Shopping Center.	-	22.91 \$	22.91 \$	2.10 \$	25.01	52	\$ 1,300.57	52.00
A		Litter Removal-Other Open Space	28 \$	22.91 \$	641.51 \$	5.25 \$	646.76	4	\$ 2,587.03	112.00
A		Weed Removal on paths/roads/trails	120 \$	22.91 \$	2,749.32 \$	5.25 \$	2,754.57	-	\$ 2,754.57	120.00
A		Refill Mutt Mitt Dispensers	2 \$	22.91 \$	45.82 \$	•	45.82	104	\$ 4,765.49	208.00
A		Inspect Maintain -Trail Ordinance Signs	1	22.91 \$	22.91 \$	•	22.91	12	\$ 274.93	12.00
A		Sweeping - Hardscape (includes gutters)	8	22.91 \$	183.29 \$	•	183.29	52	\$ 9,530.98	416.00
A		Storm Drains-Inspect & Clean (One Total)	4 \$	22.91 \$	91.64 \$	<b>↔</b>	91.64	12	\$ 1,099.73	48.00
A		Total:					Category IX Total:	Total:	\$ 27,624.79	1,176.00

Page 4 of 20

EXHIBIT	EXHIBIT A, SCHEDULE OF TASK COSTS	TASK COSTS								
2000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mu	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failur	e to complete all c	Failure to complete all cells may be cause for rejection.	r rejection.					
* Labor Co	st = (City's Est. Hour.	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description	City's Est. Hours	Labor Cost per Hour	Labor Cost*	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
A	Category X(a)	Roadrunner Neighborhood Park								
A		Approximate Acres 2.01	2.01							
A		Supervisory Inspection: Overall Park Site	1	\$ 22.91	\$ 22.91	ı ج	\$ 22.91	52	\$ 1,191.37	52.00
A		Park Signs: Inspect & Maintain	0.5	\$ 22.91	\$ 11.46	ı ج	\$ 11.46	52	\$ 595.69	26.00
A		Picnic Tables: Inspect & Clean	0.5	\$ 22.91	\$ 11.46	ı ب	\$ 11.46	156	\$ 1,787.06	78.00
A		Bleachers & Benches: Inspect & Clean	0.5	\$ 22.91	\$ 11.46	ı ب	\$ 11.46	156	\$ 1,787.06	78.00
A		Drinking Fountains: Inspect & Clean	0.25	\$ 22.91	\$ 5.73	•	\$ 5.73	104	\$ 595.69	26.00
A		Playground Safety Inspection: Equipment and Climbing Structures	0.5	\$ 22.91	\$ 11.46	<del>ب</del>	\$ 11.46	260	\$ 2,978.43	130.00
A		Playground Safety Inspection: Protective Surfacing	0.25	\$ 22.91	\$ 5.73	ı ه	\$ 5.73	156	\$ 893.53	39.00
A		Rototil Sand in Playgrounds	2	\$ 22.91	\$ 45.82	ı ب	\$ 45.82	9	\$ 274.93	12.00
A		Sweeping-Sidewalks and Areas Adjacent to Playgrounds	0.25	\$ 22.91	\$ 5.73	\$ 3.41	\$ 9.14	260	\$ 2,376.47	65.00
A		Empty BBQ and Hot Coal Containers	0.25	\$ 22.91	\$ 5.73	\$ 3.41	\$ 9.14	12	\$ 109.68	3.00
A		Refill Mutt Mitt Dispensers	0.25	\$ 22.91	\$ 5.73	•	\$ 5.73	104	\$ 595.69	26.00
A		Litter Removal	2	\$ 22.91	\$ 45.82	\$ 2.89	\$ 48.71	156	\$ 7,598.68	312.00
A		Recycle Removal	0.25	\$ 22.91	\$ 5.73	\$ 2.89	\$ 8.62	156	\$ 1,343.98	39.00
A		Irrigation Inspection	1	\$ 22.91	\$ 22.91	\$ 0.42	\$ 23.33	52	\$ 1,213.21	52.00
A		Weed Removal	£	\$ 22.91	\$ 68.73	\$ 3.15	\$ 71.88	52	\$ 3,737.92	156.00
A		Mowing Lawns	3.5	\$ 22.91	\$ 80.19	\$ 5.25	\$ 85.44	46	\$ 3,930.17	161.00
A		Edging Lawns	1	\$ 22.91	\$ 22.91	\$ 3.94	\$ 26.85	46	\$ 1,235.03	46.00

Page 5 of 20

EXHIBIT	EXHIBIT A. SCHEDULE OF TASK COSTS	E TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells m	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to complete all cells may be cause for rejection	to complete all	cells may be cause for r	rejection.					
* Labor Cc	ost = (City's Est. Hour	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	' Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description	City's Est. Hours	Labor Cost per Hour	Labor Cost*	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
A		Renovation	18	\$ 22.91	\$ 412.40	\$ 6.56	\$ 418.96	-	\$ 418.96	18.00
A		Aeration	4	\$ 22.91	\$ 91.64	•	\$ 91.64	4	\$ 366.58	16.00
A		Pruning/Edging – Shrubs and Groundcover	4	\$ 22.91	\$ 91.64	\$ 3.15	\$ 94.79	4	\$ 379.18	16.00
A		Pruning - Trees	2	\$ 22.91	\$ 45.82	\$ 3.15	\$ 48.97	2	\$ 97.94	4.00
A	_	Fertilization – Complete	9	\$ 22.91	\$ 137.47	\$ 88.20	\$ 225.67	5	\$ 1,128.33	30.00
A		Mulch All Landscaped Areas	46	\$ 22.91	\$ 1,053.91	\$ 113.93	\$ 1,167.83	-	\$ 1,167.83	46.00
A	_	Sweeping-Hardscape	-	\$ 22.91	\$ 22.91	•	\$ 22.91	104	\$ 2,382.74	104.00
A		Total:					Category X(a) Total:	Total:	\$ 38,186.14	1,535.00
A	Category X(b)	Tierrasanta Community Park								
A		Approximate Acres 16.82	6.82							
A		Supervisory Inspection: Overall Park Site	-	\$ 22.91	\$ 22.91	ı ه	\$ 22.91	52	\$ 1,191.37	52.00
A		Park Signs: Inspect & Maintain	0.5	\$ 22.91	\$ 11.46	•	\$ 11.46	52	\$ 595.69	26.00
A	_	Picnic Tables: Inspect & Clean	0.5	\$ 22.91	\$ 11.46	•	\$ 11.46	156	\$ 1,787.06	78.00
A		Bleachers & Benches: Inspect & Clean	0.5	\$ 22.91	\$ 11.46	•	\$ 11.46	156	\$ 1,787.06	78.00
A	_	Drinking Fountains: Inspect & Clean	0.5	\$ 22.91	\$ 11.46	•	\$ 11.46	104	\$ 1,191.37	52.00
A		Playground Safety Inspection: Equipment and Climbing Structures	0.5	\$ 22.91	\$ 11.46	۰ ب	\$ 11.46	260	\$ 2,978.43	130.00
A	_	Playground Safety Inspection: Protective Surfacing	0.5	\$ 22.91	\$ 11.46	•	\$ 11.46	156	\$ 1,787.06	78.00
A		Rototil Sand in Playgrounds	2	\$ 22.91	\$ 45.82	•	\$ 45.82	9	\$ 274.93	12.00
A		Sweeping-Sidewalks and Areas Adjacent to Playgrounds	0.25	\$ 22.91	\$ 5.73	υ. Γ	\$ 5.73	260	\$ 1,489.22	65.00

Page 6 of 20

EXHIBIT	EXHIBIT A, SCHEDULE OF TASK COSTS	: TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mu	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to compl	to complete all cell	lete all cells may be cause for rejection.	ection.					
* Labor Co	<u>ist = (City's Est. Hour</u>	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1 -	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
					1					
Section	Category/Item No.	Task Description	City's Est. Hours La	Labor Cost per Hour	Labor Cost* M	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
A		Empty BBQ and Hot Coal Containers	1	22.91 \$	22.91 \$	2.89	\$ 25.80	12	\$ 309.61	12.00
۷		Refill Mutt Mitt Dispensers	0.5 \$	22.91 \$	11.46 \$		\$ 11.46	104	\$ 1,191.37	52.00
A		Litter Removal	2 \$	22.91 \$	45.82 \$	3.94	\$ 49.76	156	\$ 7,762.87	312.00
A		Recycle Removal	0.25 \$	22.91 \$	5.73 \$	2.63	\$ 8.36	156	\$ 1,303.81	39.00
٩		Irrigation Inspection	-	22.91 \$	22.91 \$		\$ 22.91	52	\$ 1,191.37	52.00
٩		Weed Removal	3	22.91 \$	68.73 \$	2.78	\$ 71.51	52	\$ 3,718.68	156.00
٩		Mowing Lawns	\$ ®	22.91 \$	68.73 \$	2.63	\$ 71.36	46	\$ 3,282.70	138.00
۷		Edging Lawns	1 \$	22.91 \$	22.91 \$	2.63	\$ 25.54	46	\$ 1,174.89	46.00
۷		Renovation	18 \$	22.91 \$	412.40 \$	2.63	\$ 415.03	1	\$ 415.03	18.00
٩		Aeration	4 \$	22.91 \$	91.64 \$		\$ 91.64	4	\$ 366.58	16.00
٩		Maintain Athletic Field Surface	0.5 \$	22.91 \$	11.46 \$		\$ 11.46	52	\$ 595.69	26.00
۷		Prep Infields/Replenish Soil	8	22.91 \$	183.29 \$	•	\$ 183.29	~	\$ 183.29	8.00
٨		Tennis Courts & Multi-Use Courts: Litter Removal	1	22.91 \$	22.91 \$	1.31	\$ 24.22	52	\$ 1,259.49	52.00
٨		Tennis Courts & Multi-Use Courts: Sweep or Blow	4 \$	22.91 \$	91.64 \$	•	\$ 91.64	52	\$ 4,765.49	208.00
٨		Pruning/Edging – Shrubs and Groundcover	4 \$	22.91 \$	91.64 \$	5.25	\$ 96.89	4	\$ 387.58	16.00
۷		Pruning - Trees	2 \$	22.91 \$	45.82 \$	3.94	\$ 49.76	2	\$ 99.52	4.00
٩		Fertilization – Complete	9	22.91 \$	137.47 \$	2,189.25	\$ 2,326.72	ũ	\$ 11,633.58	30.00
٨		Mulch All Landscaped Areas	16 \$	22.91 \$	366.58 \$	113.72	\$ 480.30	1	\$ 480.30	16.00
A		Sweeping-Hardscape	1	22.91 \$	22.91 \$		\$ 22.91	104	\$ 2,382.74	104.00
A		Storm Drains-Inspect & Clean	2 \$	22.91 \$	45.82 \$		\$ 45.82	12	\$ 549.86	24.00

Page 7 of 20

EXHIBIT	EXHIBIT A. SCHEDULE OF TASK COSTS	TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mt	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to comp	to complete all cells	lete all cells may be cause for rejection.	tion.					
* Labor Co	ist = (City's Est. Hour	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description	City's Est. Hours Lat	Hours Labor Cost per Hour La	Labor Cost* Mate	Materials Cost Tota	Total 1 Time Cost**	Est. Yr <mark>l</mark> y Frequecy	Year <b>l</b> y Task Cost <sup>***</sup>	Yrly Est. City's Hrs
A		Supervisor Inspection: Comfort Stations	0.25 \$	22.91 \$	5.73 \$	ъ I	5.73	52	\$ 297.84	13.00
A		Litter Removal	2 \$	22.91 \$	45.82 \$	3.15 \$	48.97	365	\$ 17,874.78	730.00
٩		Sweep and Mop Floors	0.25 \$	•	ю I	••	·	365	•	91.25
٩		Clean Fixtures	0.25 \$	•	ья I	••		365	•	91.25
٩		Descale & Polish Fixtures	0.25 \$	••	•	••	ı	365	•	91.25
٩		Scrub Walls, Ledges, & Partitions	0.25 \$	ъ	<del>ب</del>	•	r	365	•	91.25
A		Disinfect Walls, Ledges, Partitions, Floors, & Fixtures	0.25 \$	•	ţĄ I	ъ	1	365	•	91.25
٩		Refill Dispensers	0.25 \$	22.91 \$	5.73 \$	₩ 1	5.73	365	\$ 2,091.45	91.25
٩		Total:					Category X(b) Total:	Total:	\$ 76,400.69	3,190.50
٩	Category X(c)	Villa Monserate Neighborhood Park								
٨		Approximate Acres 3.24	24							
٨		Supervisory Inspection: Overall Park Site	1 \$	22.91 \$	22.91 \$	•	22.91	52	\$ 1,191.37	52.00
A		Park Signs: Inspect & Maintain	0.25 \$	22.91 \$	5.73 \$	••	5.73	52	\$ 297.84	13.00
٨		Picnic Tables: Inspect & Clean	0.25 \$	22.91 \$	5.73 \$	•	5.73	156	\$ 893.53	39.00
٨		Bleachers & Benches: Inspect & Clean	0.25 \$	22.91 \$	5.73 \$	•	5.73	156	\$ 893.53	39.00
٩		Drinking Fountains: Inspect & Clean	0.25 \$	22.91 \$	5.73 \$	υ I	5.73	104	\$ 595.69	26.00
A		Playground Safety Inspection: Equipment and Climbing Structures	0.25 \$	22.91 \$	5.73 \$	vo I	5.73	260	\$ 1,489.22	65.00
٩		Playground Safety Inspection: Protective Surfacing	0.25 \$	22.91 \$	5.73 \$	بم ۱	5.73	156	\$ 893.53	39.00
٨		Rototil Sand in Playgrounds	1 \$	22.91 \$	22.91 \$	<del>به</del> ۱	22.91	9	\$ 137.46	6.00

Page 8 of 20

EXHIBIT	EXHIBIT A. SCHEDULE OF TASK COSTS	F TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mi	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to complete all cells may be cause for rejection	e to complete all cell	s may be cause for re	ijection.					
* Labor Cc	st = (City's Est. Hour	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description	City's Est. Hours La	Labor Cost per Hour	Labor Cost*	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>l</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
A		Sweeping-Sidewalks and Areas Adjacent to Playgrounds	0.25	22.91 \$	5.73 \$		\$ 5.73	260	\$ 1,489.22	65.00
A		Empty BBQ and Hot Coal Containers	0.25 \$	22.91 \$	5.73 \$	1.31	\$ 7.04	12	\$ 84.48	3.00
A		Refill Mutt Mitt Dispensers	0.25 \$	22.91 \$	5.73 \$	ı	\$ 5.73	104	\$ 595.69	26.00
A		Litter Removal	2 \$	22.91 \$	45.82 \$	2.63	\$ 48.45	156	\$ 7,557.73	312.00
A		Recycle Removal	0.25 \$	22.91 \$	5.73 \$	1.31	\$ 7.04	156	\$ 1,098.28	39.00
A		Irrigation Inspection	1 \$	22.91 \$	22.91 \$		\$ 22.91	52	\$ 1,191.37	52.00
A		Weed Removal	3 \$	22.91 \$	68.73 \$	3.15	\$ 71.88	52	\$ 3,737.92	156.00
A		Mowing Lawns	3.5 \$	22.91 \$	80.19 \$	5.25	\$ 85.44	46	\$ 3,930.17	161.00
A		Edging Lawns	1	22.91 \$	22.91 \$	2.63	\$ 25.54	46	\$ 1,174.66	46.00
A		Renovation	18 \$	22.91 \$	412.40 \$	7.88	\$ 420.27	1	\$ 420.27	18.00
A		Aeration	4 \$	22.91 \$	91.64 \$	·	\$ 91.64	4	\$ 366.58	16.00
A		Pruning/Edging – Shrubs and Groundcover	4 \$	22.91 \$	91.64 \$	2.63	\$ 94.27	4	\$ 377.08	16.00
A		Pruning - Trees	2 \$	22.91 \$	45.82 \$	3.15	\$ 48.97	2	\$ 97.94	4.00
A		Fertilization – Complete	9	22.91 \$	137.47 \$	236.36	\$ 373.82	5	\$ 1,869.11	30.00
A		Mulch All Landscaped Areas	16 \$	22.91 \$	366.58 \$	113.72	\$ 480.29	-	\$ 480.29	16.00
A		Sweeping-Hardscape	1	22.91 \$	22.91 \$		\$ 22.91	104	\$ 2,382.74	104.00
A		Storm Drains: Inspect & Clean	2 \$	22.91 \$	45.82 \$	2.63	\$ 48.45	12	\$ 581.36	24.00
A		Total:					Category X(c) Total	Total:	\$ 33,827.05	1,367.00
A	Category X(d)	Villa Norte Neighborhood Park								

Page 9 of 20

IndiscipleIndia <th< th=""><th>EXHIBIT</th><th>EXHIBIT A, SCHEDULE OF TASK COSTS</th><th></th><th></th><th></th><th></th><th></th><th></th><th></th></th<>	EXHIBIT	EXHIBIT A, SCHEDULE OF TASK COSTS							
Failure to complete all cells may be cause for rejection.         Eatility is to complete all cells may be cause for rejection.         Materials cost is a second for rejectio	2000008	(6-25-L							
Failure to complete all calls may be cause for rejection.         Failure to complete all calls may be cause for rejection.         Failure to complete all calls may be cause for rejection.         Failure to complete all calls may be cause for rejection.         Failure to complete all calls may be cause for rejection.         Failure to complete all calls may be cause for rejection.         Failure to complete all calls may be cause for rejection.         Failure to complete all calls may be cause for rejection.         Failure to complete all calls may be cause for rejection.         Failure to complete all calls may be cause for rejection.         Failure to cause for rejection. <t< td=""><td>CONTRA</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>	CONTRA								
Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.         Failure to complete all cells may be cause for rejection.									
Image: bold in the sector i	All cells m	ust be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure	to complete all c	cells may be cause fo	or rejection.				
	* Labor Co	<pre>&gt;st = (City's Est. Hours) X (Labor Cost Per Hour)</pre>							
(i)(	** Tota 1	Time Cost = (Labor Cost) + (Materials Cost)							
corregry/term (i)Tast DescriptionInput (i)Last DescriptionInput (i)Last DescriptionInput (i)Last DescriptionInput (i)Last DescriptionLast D	*** Yearly	· Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)							
Caregery/frem Legeny/fremTask DescriptionCary Set HoursJabor Cast part Hours </th <th></th> <th></th> <th></th> <th></th> <th></th> <th>_</th> <th></th> <th></th> <th></th>						_			
Image: constraint of the product o	Section	Task Description	City's Est. Hours	Labor Cost per Hou		ĺ	Total 1 Time Cos	 Yearly Task Cost***	Yrly Est. City's Hrs
i         Supervision impaction: Overall Park Site         i	A	Approximate Acres 4	.10						
	A	Supervisory Inspection: Overall Park Site	-		\$				52.00
	A	Park Signs: Inspect & Maintain	0.25		¢	€1			13.00
Image: constant in the sect at Clean $0.23$ $2.21$ $5.73$ <th<< td=""><td>A</td><td>Picnic Tables: Inspect &amp; Clean</td><td>0.25</td><td>\$ 22.91</td><td>₩.</td><td>\$</td><td></td><td>\$</td><td>39.00</td></th<<>	A	Picnic Tables: Inspect & Clean	0.25	\$ 22.91	₩.	\$		\$	39.00
	A	Bleachers & Benches: Inspect & Clean	0.25		\$	\$		\$	39.00
	A	Drinking Fountains: Inspect & Clean			\$	₩			26.00
	A	Playground Safety Inspection: Equipment and Climbing Structures	5		₩			\$	130.00
	٨	Playground Safety Inspection: Protective Surfacing			\$	\$		\$	39.00
Sweeping-sidewalks and Areas Adjacent to Playgounds         0.25         5         22.91         5         5.73         5         5         260         5         1           Impy BRQ and Hot Coal Containers         0.25         5         22.91         5         5         3.68         5         9.40         112         5           Impy BRQ and Hot Coal Containers         0.25         5         22.91         5         5.73         5         9.40         112         5           Impy BRQ and Hot Coal Containers         0.25         5         22.91         5         5.73         5         9.40         112         5           Import Hut Mit Dispensers         0.25         5         22.91         5         4.20         5         3.63         5         104         5           Import Hut Mit Dispensers         0.25         5         22.91         5         4.20         5         3.63         5         104         5         1           Import Hut Mit Dispensers         0.25         5         2.291         5         2.63         5         2.63         5         2.63         5         1         1         5         5         1         5         5         1	A	Rototil Sand in Playgrounds	-		\$	\$		\$	6.00
Image: mark with the service of the service	٨	Sweeping-Sidewalks and Areas Adjacent to Playgrounds			÷	1		\$	65.00
Image: Mark Mith Dispensers         D22         2         5         5         5         5         5         5         5         5         5         7         104         5           Image: Mark Mith Dispensers         Litter Removal         D         Litter Removal         D         2291         5         420         5         50.2         156         5         7           Image: Mark Mith Dispection         D         D         22.91         5         5.73         5         26.33         5         7         5         7           Image: Mark Mith Dispection         D         D         22.91         5         26.31         5         26.31         5         7         5         7           Image: Mark Mith Dispection         D         1         5         22.91         5         2         4         5         7         7           Image: Mark Mith Dispection         D         1         5         2         2         5         1         6         7         7           Image: Mark Mith Dispection         D         1         5         2         2         5         2         1         1         1         1         1         1	۲	Empty BBQ and Hot Coal Containers	0.25		ŵ	\$	\$		3.00
Inter Removal         Inter Re	A	Refill Mutt Mitt Dispensers			<del>∿</del>	₩		Ŷ	26.00
Recycle Removal         0.25         5         22.91         5         5.73         5         2.63         5         8.35         156         5         1           Irigation Inspection         Irigation Inspection         1         5         22.91         5         22.91         5         22.91         5         22.91         5         22.91         5         27.91         5         5         1           Weed Removal         Moving Lawns         35         5         22.91         5         22.91         5         20         5         5         1           Moving Lawns         Moving Lawns         35         5         22.91         5         20.91         5         20.93         5         20.93         5         3	A	Litter Removal	2		\$	\$	\$	\$	312.00
Intrastion Inspection         Intrastion Inspection         Intrastion Inspection         Intrastion Inspection         Intrastion Inspection         Intrastic Inspection         Intr	A	Recycle Removal			\$	\$	\$	\$	39.00
Weed Removal         1         S         22.91         5         22.91         5         4.99         5         27.90         52         5         1           Mowing Lawns         Mowing Lawns         3.5         \$         22.91         \$         80.19         \$         2.63         \$         2.63         \$         4.66         \$         3 <t< td=""><td>A</td><td>Irrigation Inspection</td><td>-</td><td>\$ 22.91</td><td>₩</td><td>₩</td><td></td><td></td><td>52.00</td></t<>	A	Irrigation Inspection	-	\$ 22.91	₩	₩			52.00
Mowing Lawns         3.5         \$         22.91         \$         80.19         \$         2.63         \$         82.81         46         \$         3           Edging Lawns         11         \$         22.91         \$         22.91         \$         1.31         \$         24.22         46         \$         3           Renovation         18         \$         22.91         \$         41.240         \$         420         \$         416.60         1         \$         \$         1         \$         1         \$         1         \$         \$         1         \$         \$<	A	Weed Removal	-		\$	\$	\$	\$	52.00
Edging Lawns         1         \$         22.91         \$         1.31         \$         24.22         46         \$         1           Renovation         18         \$         22.91         \$         412.40         \$         41.660         1         \$         1         \$         5         1         \$         1         \$         \$         1         \$         5         1         \$         \$         1         \$         5         1         \$         \$         1         \$         5         1         \$         \$         1         \$         5         1         \$         \$         1         \$         5         1         \$         \$         1         \$         5         \$         1         \$         5         \$         1         \$         \$         \$         1         \$	A	Mowing Lawns	3.5	\$ 22.91	↔	\$	\$		161.00
Renovation 18 \$ 22.91 \$ 412.40 \$ 42.0 \$ 416.60 1 \$	A	Edging Lawns	-	\$ 22.91	\$	↔	\$		46.00
	A	Renovation	18	\$ 22.91	\$	\$	\$	\$ 416.60	18.00

Page 10 of 20

EXHIBIT	EXHIBIT A SCHEDIII E OF TASK COSTS	E TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells m	ust be filled-in in thi	All cells must be filled in in this spreadsheet. If no cost, enter a zero (0). Failure to complete all cells may be cause for rejection.	e to complete all ce	ells may be cause for re	jection.					
* Labor Cc	ost = (City's Est. Hou	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1	Time Cost = (Labor	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description	City's Est. Hours	Labor Cost per Hour	Labor Cost*	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
٩		Aeration	4 \$	22.91 \$	91.64 \$	I	\$ 91.64	4	\$ 366.58	16.00
٩		Pruning/Edging – Shrubs and Groundcover	4 \$	22.91 \$	91.64 \$	2.63	\$ 94.27	4	\$ 377.08	16.00
A		Pruning - Trees	4	22.91 \$	91.64 \$	3.94	\$ 95.58	2	\$ 191.16	8.00
A		Fertilization - Complete	9	22.91 \$	137.47 \$	183.75	\$ 321.22	5	\$ 1,606.08	30.00
A		Mulch All Landscaped Areas	16 \$	22.91 \$	366.58 \$	115.50	\$ 482.08	-	\$ 482.08	16.00
A		Sweeping-Hardscape	1	22.91 \$	22.91 \$	ı	\$ 22.91	104	\$ 2,382.74	104.00
A		Storm Drains: Inspect & Clean	2 \$	22.91 \$	45.82 \$	3.94	\$ 49.76	12	\$ 597.11	24.00
A		Total:					Category X(d) Total:	Total:	\$ 33,170.80	1,332.00
A	Category X(e)	De Portola Middle School (Joint-Use Site)								
٩		Approximate Acres 13.42	13.42							
٩		Supervisory Inspection: Overall Joint-Use Site	1.5 \$	22.91 \$	34.37 \$	I	\$ 34.37	52	\$ 1,787.06	78.00
A		Bleachers & Benches: Inspect & Clean	0.25 \$	22.91 \$	5.73 \$	I	\$ 5.73	156	\$ 893.53	39.00
A		Litter Removal	2 \$	22.91 \$	45.82 \$	4.73	\$ 50.55	156	\$ 7,885.33	312.00
A		Recycle Removal	0.25 \$	22.91 \$	5.73 \$	2.63	\$ 8.35	156	\$ 1,303.03	39.00
A		Irrigation Inspection	1 \$	22.91 \$	22.91 \$	0.53	\$ 23.44	52	\$ 1,218.67	52.00
A		Weed Removal	3	22.91 \$	68.73 \$	2.63	\$ 71.36	52	\$ 3,710.62	156.00
A		Mowing Lawns	3.5	22.91 \$	80.19 \$	4.73	\$ 84.91	46	\$ 3,906.02	161.00
A		Edging Lawns	1	22.91 \$	22.91 \$	3.94	\$ 26.85	46	\$ 1,235.10	46.00
A		Renovation	18 \$	22.91 \$	412.40 \$	6.56	\$ 418.96	1	\$ 418.96	18.00

Page 11 of 20

EXHIBIT	EXHIBIT A. SCHEDULE OF TASK COSTS	E TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mu	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to complete all cells may be cause for rejection.	e to complete all	cells may be cause for re	ijection.					
* Labor Cc	ost  = (City's Est. Hour	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Tota 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description	City's Est. Hours	Labor Cost per Hour	Labor Cost*	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
A		Aeration	4	\$ 22.91 \$	91.64 \$		\$ 91.64	4	\$ 366.58	16.00
٨		Maintain Athletic Field Surface	œ	\$ 22.91 \$	183.29 \$	•	\$ 183.29	52	\$ 9,530.98	416.00
۲		Maintain DG Area Surface	0.5	\$ 22.91 \$	11.46 \$	•	\$ 11.46	52	\$ 595.69	26.00
A		Prep Infields/Replenish Soil	8	\$ 22.91 \$	183.29 \$	·	\$ 183.29	1	\$ 183.29	8.00
A		Pruning/Edging – Shrubs and Groundcover	4	\$ 22.91 \$	91.64 \$	4.20	\$ 95.84	4	\$ 383.38	16.00
A		Pruning - Trees	2	\$ 22.91 \$	45.82 \$	2.10	\$ 47.92	2	\$ 95.84	4.00
A		Fertilization - Complete	9	\$ 22.91 \$	137.47 \$	950.25	\$ 1,087.72	5	\$ 5,438.58	30.00
A		Storm Drains: Inspect & Clean	2	\$ 22.91 \$	45.82 \$		\$ 45.82	12	\$ 549.86	24.00
٩		Supervisor Inspection: Comfort Stations	0.25	\$ 22.91 \$	5.73 \$	•	\$ 5.73	52	\$ 297.84	13.00
٨		Litter Removal	0.25	\$ 22.91 \$	5.73 \$	3.15	\$ 8.88	365	\$ 3,240.38	91.25
A		Sweep & Mop Floors	0.25	\$ 22.91 \$	5.73 \$	0.11	\$ 5.83	365	\$ 2,128.95	91.25
A		Clean Fixtures	0.25	\$ 22.91 \$	5.73 \$	0.11	\$ 5.83	365	\$ 2,128.95	91.25
A		Descale & Polish Fixtures	0.25	\$ 22.91 \$	5.73 \$	0.11	\$ 5.83	365	\$ 2,128.95	91.25
A		Scrub Walls, Ledges, & Partitions	0.25	\$ 22.91 \$	5.73 \$	0.11	\$ 5.83	365	\$ 2,128.95	91.25
A		Disinfect Walls, Ledges, Partitions, Floors & Fixtures	0.25	\$ 22.91 \$	5.73 \$	0.11	\$ 5.83	365	\$ 2,128.95	91.25
٨		Refill Dispensers	0.25	\$ 22.91 \$	5.73 \$	0.11	\$ 5.83	365	\$ 2,128.95	91.25
A		Total:					Category X(e) Tota	Total:	\$ 55,814.45	2,092.75
A	Category X(f)	Farb Middle School (Joint-Use Site)								
A		Approximate Acres 4.00	4.00							
A		Supervisory Inspection: Overall Joint-Use Site	-	\$ 22.91 \$	22.91 \$		\$ 22.91	52	\$ 1,191.37	52.00

Page 12 of 20

EXHIBIT	EXHIBIT A. SCHEDULE OF TASK COSTS								
20000086-25-L	SG-25-L								
CONTR/	CONTRACTOR NAME: Treebeard Landscape								
All cells m	All cells must be filled in in this spreadsheet. If no cost, enter a zero (0). Failure to complete all cells may be cause for rejection.	e to complete all cells i	may be cause for reje	ction.					
* Labor C	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
			1						
Section	Category/Item No. Task Description	City's Est. Hours Labo	Labor Cost per Hour	Labor Cost* M	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	<pre>   Yrly Est. City's Hrs </pre>
A	Bleachers & Benches: Inspect & Clean	0.25 \$	22.91 \$	5.73 \$		\$ 5.73	156	\$ 893.53	39.00
A	Litter Removal	2 \$	22.91 \$	45.82 \$	2.63	\$ 48.45	156	\$ 7,557.73	312.00
۷	Recycle Removal	0.25 \$	22.91 \$	5.73 \$	0.79	\$ 6.52	156	\$ 1,016.38	39.00
٩	Irrigation Inspection	1	22.91 \$	22.91 \$	0.53	\$ 23.44	52	\$ 1,218.67	52.00
A	Weed Removal	3	22.91 \$	68.73 \$	2.10	\$ 70.83	52	\$ 3,683.32	156.00
A	Mowing Lawns	3.5 \$	22.91 \$	80.19 \$	2.89	\$ 83.08	46	\$ 3,821.50	161.00
A	Edging Lawns	-	22.91 \$	22.91 \$	2.10	\$ 25.01	46	\$ 1,150.46	46.00
٩	Renovation	18 \$	22.91 \$	412.40 \$	3.15	\$ 415.55	-	\$ 415.55	18.00
A	Aeration	4 \$	22.91 \$	91.64 \$	ı	\$ 91.64	4	\$ 366.58	16.00
٩	Maintain Athletic Field Surface	\$ 9	22.91 \$	137.47 \$	ı	\$ 137.47	52	\$ 7,148.23	312.00
٩	Maintain DG Area Surface	2 \$	22.91 \$	45.82 \$		\$ 45.82	52	\$ 2,382.74	104.00
A	Prep Infields/Replenish Soil	8	22.91 \$	183.29 \$	•	\$ 183.29	-	\$ 183.29	8.00
٩	Pruning/Edging – Shrubs and Groundcover	4 \$	22.91 \$	91.64 \$	2.89	\$ 94.53	4	\$ 378.13	16.00
A	Pruning - Trees	2 \$	22.91 \$	45.82 \$	5.25	\$ 51.07	2	\$ 102.14	t 4.00
A	Fertilization - Complete	6 \$	22.91 \$	137.47 \$	183.75	\$ 321.22	5	\$ 1,606.08	30.00
A	Mulch All Landscaped Areas	16 \$	22.91 \$	366.58 \$	115.50	\$ 482.08	-	\$ 482.08	16.00
A	Sweeping-Hardscape	1 \$	22.91 \$	22.91 \$	•	\$ 22.91	104	\$ 2,382.74	t 104.00
٩	Storm Drains: Inspect & Clean	2 \$	22.91 \$	45.82 \$	2.63	\$ 48.45	12	\$ 581.36	24.00
۷	Total:					Category X(f) Total	Total:	\$ 36,561.88	1,509.00

Page 13 of 20

EXHIBIT	EXHIBIT A, SCHEDULE OF TASK COSTS	: TASK COSTS									
20000086-25-L	6-25-L										
CONTRA	CONTRACTOR NAME:	Treebeard Landscape									
All cells mu	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failur	e to complete all c	Failure to complete all cells may be cause for rejection.	or rejection.						
* Labor Co	ost = (City's Est. Hour	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)									
** Tota 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)									
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)									
Section	Category/Item No.	Task Description	City's Est. Hours	Labor Cost per Hour	r Labor Cost*	t* Materials Cost		Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
A	Category X(g)	Kumeyaay Elementary School (Joint-Use Site)									
A		Approximate Acres 4.04	4.04								
A		Supervisory Inspection: Overall Joint-Use Site	-	\$ 22.91	\$	22.91 \$	<del>به</del> ۱	22.91	52	\$ 1,191.37	52.00
۲		Bleachers & Benches: Inspect & Clean	0.25	\$ 22.91	to,	5.73 \$	↔ •	5.73	156	\$ 893.53	39.00
A		Litter Removal	2	\$ 22.91	\$	45.82 \$	2.63 \$	48.45	156	\$ 7,557.73	312.00
A		Recycle Removal	0.25	\$ 22.91	₩.	5.73 \$	2.10 \$	7.83	156	\$ 1,221.13	39.00
A		Irrigation Inspection	-	\$ 22.91	\$	22.91 \$	0.53 \$	23.44	52	\$ 1,218.67	52.00
A		Weed Removal	m	\$ 22.91	\$	68.73 \$	1.05 \$	69.78	52	\$ 3,628.72	156.00
۲		Mowing Lawns	3.5	\$ 22.91	\$	80.19 \$	48.30 \$	128.49	46	\$ 5,910.47	161.00
A		Edging Lawns	-	\$ 22.91	\$	22.91 \$	0.79 \$	23.70	46	\$ 1,090.20	46.00
۷		Renovation	18	\$ 22.91	÷	412.40 \$	5.25 \$	417.65	-	\$ 417.65	18.00
A		Aeration	4	\$ 22.91	₩	91.64 \$	÷	91.64	4	\$ 366.58	16.00
٩		Maintain Athletic Field Surface	2	\$ 22.91	Ŷ	45.82 \$	\$	45.82	52	\$ 2,382.74	104.00
A		Maintain DG Area Surface	2	\$ 22.91	\$	45.82 \$	<b>↔</b>	45.82	52	\$ 2,382.74	104.00
A		Prep Infields/Replenish Soil	8	\$ 22.91	\$	183.29 \$	<b>↔</b>	183.29	1	\$ 183.29	8.00
A		Pruning/Edging – Shrubs and Groundcover	4	\$ 22.91	\$	91.64 \$	2.63 \$	94.27	4	\$ 377.08	16.00
A		Pruning - Trees	2	\$ 22.91	\$	45.82 \$	2.10 \$	47.92	2	\$ 95.84	4.00
A		Fertilization – Complete	9	\$ 22.91	\$	137.47 \$ 5	918.75 \$	1,056.22	5	\$ 5,281.08	30.00
۲		Mulch Planter Beds	16	\$ 22.91	\$	366.58 \$ 1	115.50 \$	482.08	1	\$ 482.08	16.00

Page 14 of 20

EXHIBIT	EXHIBIT A. SCHEDULE OF TASK COSTS	: TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mu	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to comp	to complete all o	lete all cells may be cause for rejection.	r rejection.					
* Labor Co	<u>ist = (City's Est. Hour</u>	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1 <sup>-</sup>	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description C	City's Est. Hours	Labor Cost per Hour	Labor Cost*	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
A		Storm Drains: Inspect & Clean	2	\$ 22.91	\$ 45.82	2 \$ 5.25	\$ 51.07	12	\$ 612.86	24.00
٩		Sweeping-Hardscape	-	\$ 22.91	\$ 22.91	1 \$	\$ 22.91	104	\$ 2,382.74	104.00
A		Total:					Category X(g) Total:	Total:	\$ 37,676.51	1,301.00
A	Category X(h)	Canyon Hills (formerly Serra) High School (Joint Use Site)	(e)							
A		Approximate Acres 6.45	.45							
٩		Supervisory Inspection: Overall Joint-Use Site	-	\$ 22.91	\$ 22.91	1 \$	\$ 22.91	52	\$ 1,191.32	52.00
A		Litter Removal	2	\$ 22.91	\$ 45.82	2 \$ 5.25	\$ 51.07	156	\$ 7,967.23	312.00
A		Recycle Removal	0.25	\$ 22.91	\$ 5.73	3 \$ 4.20	\$ 9.93	156	\$ 1,548.73	39.00
A		Irrigation Inspection	-	\$ 22.91	\$ 22.91	1 \$ 0.79	\$ 23.70	52	\$ 1,232.32	52.00
A		Weed Removal	e	\$ 22.91	\$ 68.73	3 \$ 2.10	\$ 70.83	52	\$ 3,683.16	156.00
A		Mowing Lawns	3.5	\$ 22.91	\$ 80.19	9 \$ 4.20	\$ 84.39	46	\$ 3,881.87	161.00
A		Edging Lawns	-	\$ 22.91	\$ 22.91	1 \$ 1.58	\$ 24.49	46	\$ 1,126.54	46.00
۷		Renovation	18	\$ 22.91	\$ 412.40	0 \$ 13.13	\$ 425.52	-	\$ 425.52	18.00
A		Aeration	4	\$ 22.91	\$ 91.64	4 \$	\$ 91.64	4	\$ 366.58	16.00
A		Maintain Athletic Field Surface	2	\$ 22.91	\$ 45.82		\$ 45.82	52	\$ 2,382.74	104.00
A		Maintain DG Area Surface	2	\$ 22.91	\$ 45.82	2 \$ -	\$ 45.82	52	\$ 2,382.74	104.00
A		Fertilization – Complete	9	\$ 22.91	\$ 137.47	7 \$ 141.75	\$ 279.22	5	\$ 1,396.08	30.00
A		Tennis Courts: Litter Removal	4	\$ 22.91	\$ 91.64	4 \$ 4.20	\$ 95.84	52	\$ 4,983.89	208.00
A		Tennis Courts: Sweep or Blow	0.5	\$ 22.91	\$ 11.46	6 \$ 5.25	\$ 16.71	52	\$ 868.69	26.00

Page 15 of 20

EXHIBIT	EXHIBIT A. SCHEDULE OF TASK COSTS	TASK COSTS								
20000086-25-L	:6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mu	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to comp	e to complete all cells r	lete all cells may be cause for rejection.	ction.					
* Labor Cc	ost = (City's Est. Hour	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Tota 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	/ Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
				_	_					
Section	Category/Item No.	Task Description	City's Est. Hours Labo	Hours Labor Cost per Hour L	Labor Cost* Mate	Materials Cost To	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Year <mark>l</mark> y Task Cost <sup>***</sup>	+* Yrly Est. City's Hrs
۷		Storm Drains: Inspect & Clean	0.5 \$	22.91 \$	11.46 \$	10.50 \$	21.96	12	\$ 263.47	47 6.00
A		Total:					Category X(h) Total	Total:	\$ 33,700.88	38 1,330.00
A	Category X(i)	Tierrasanta Elementary School (Joint Use Site)								
A		Approximate Acres 1.70	1.70							
٩		Supervisory Inspection: Overall Joint-Use Site	1	22.91 \$	22.91 \$	•	22.91	52	\$ 1,191.32	32 52.00
٩		Bleachers & Benches: Inspect & Clean	0.25 \$	22.91 \$	5.73 \$	0.53 \$	6.25	156	\$ 975.39	39.00
٩		Litter Removal	1	22.91 \$	22.91 \$	0.26 \$	23.17	156	\$ 3,614.91	91 156.00
۷		Recycle Removal	0.25 \$	22.91 \$	5.73 \$	0.42 \$	6.15	156	\$ 959.05	39.00
٩		Irrigation Inspection	0.25 \$	22.91 \$	5.73 \$	0.26 \$	5.99	52	\$ 311.49	13.00
A		Weed Removal	0.5 \$	22.91 \$	11.46 \$	0.32 \$	11.77	52	\$ 612.07	07 26.00
A		Mowing Lawns	0.5 \$	22.91 \$	11.46 \$	0.11 \$	11.56	46	\$ 531.78	78 23.00
۷		Edging Lawns	0.5 \$	22.91 \$	11.46 \$	•	11.46	46	\$ 527.16	16 23.00
٩		Renovation	2	22.91 \$	45.82 \$	ι γ	45.82	-	\$ 45.82	32 2.00
A		Aeration	0.25 \$	22.91 \$	5.73 \$	••	5.73	4	\$ 22.91	1.00
A		Maintain Athletic Field Surface	0.25 \$	22.91 \$	5.73 \$	•	5.73	52	\$ 297.84	34 13.00
٩		Fertilization – Complete	0.25 \$	22.91 \$	5.73 \$	10.50 \$	16.23	ß	\$ 81.14	14 1.25
A		Storm Drains: Inspect & Clean	1 \$	22.91 \$	22.91 \$	•	22.91	12	\$ 274.93	33 12.00
A		Total:					Category X(i) Total:	Total:	\$ 9,445.82	32 400.25

Page 16 of 20

EXHIBIT	EXHIBIT A, SCHEDULE OF TASK COSTS	: TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells m	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to comp	e to complete all cells	lete all cells may be cause for rejection.	ction.					
* Labor Co	<pre>&gt;st = (City's Est. Hour</pre>	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Tota 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description	City's Est. Hours Lab	Labor Cost per Hour	Labor Cost* Mat	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
A	Category X(j)	Vista Grande Elementary School (Joint-Use Site)								
A		Approximate Acres 4.10	4.10							
٩		Supervisory Inspection: Overall Joint-Use Site	1	22.91 \$	22.91 \$	•	22.91	52	\$ 1,191.32	52.00
٨		Litter Removal	1	22.91 \$	22.91 \$	2.63 \$	25.54	156	\$ 3,984.24	156.00
A		Recycle Removal	0.25 \$	22.91 \$	5.73 \$	2.10 \$	7.83	156	\$ 1,221.09	39.00
A		Irrigation Inspection	1	22.91 \$	22.91 \$	0.53 \$	23.44	52	\$ 1,218.88	52.00
A		Weed Removal	1	22.91 \$	22.91 \$	1.31 \$	24.22	52	\$ 1,259.44	52.00
A		Mowing Lawns	0.5 \$	22.91 \$	11.46 \$	1.84 \$	13.30	46	\$ 611.57	23.00
A		Edging Lawns	0.5 \$	22.91 \$	11.46 \$	0.79 \$	12.25	46	\$ 563.50	23.00
۷		Renovation	4	22.91 \$	91.64 \$	5.25 \$	96.89	~	\$ 96.89	4.00
A		Aeration	2 \$	22.91 \$	45.82 \$	•	45.82	4	\$ 183.28	8.00
۲		Maintain Athletic Field Surface	1	22.91 \$	22.91 \$	•	22.91	52	\$ 1,191.32	52.00
۲		Maintain DG Area Surface	4	22.91 \$	22.91 \$	•	22.91	52	\$ 1,191.32	52.00
۲		Prep Infields/Replenish Soil	2 \$	22.91 \$	45.82 \$	•	45.82	~	\$ 45.82	2.00
A		Fertilization - Complete	1	22.91 \$	22.91 \$	183.75 \$	206.66	5	\$ 1,033.30	5.00
A		Storm Drains: Inspect & Clean	-	22.91 \$	22.91 \$	5.25 \$	28.16	12	\$ 337.92	12.00
A		Total:					Category X(j) Total:	Total:	\$ 14,129.89	532.00
A	Category XI	Gutters								

Page 17 of 20

EXHIBIT	EXHIBIT A. SCHEDULE OF TASK COSTS	E TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mt	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to complete all cells may be cause for rejection	to complete all	cells may be cause for	rejection.					
* Labor Co	<pre>&gt;st = (City's Est. Hour</pre>	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Tota 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description	City's Est. Hours	Labor Cost per Hour	Labor Cost*	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Year <b>l</b> y Task Cost***	Yrly Est. City's Hrs
A		Approximate linear feet 1	177,921							
A		Supervisory Inspection	1	\$ 22.91	\$ 22.91	•	\$ 22.91	52	\$ 1,191.37	52.00
A		Litter Removal	2	\$ 22.91	\$ 45.82	\$ 2.63	\$ 48.45	52	\$ 2,519.24	104.00
A		Weed Control	-	\$ 22.91	\$ 22.91	\$ 3.15	\$ 26.06	12	\$ 312.73	12.00
A		Sweeping & Debris Removal	-	\$ 22.91	\$ 22.91	•	\$ 22.91	52	\$ 1,191.37	52.00
٩							Category XI Total:	Total:	\$ 5,214.72	220.00
A	Category XIII	Concrete Brow Ditches								
٨		Approximate linear feet 26,400	6,400	(5 Miles)						
A		Supervisory Inspection	-	\$ 22.91	\$ 22.91	•	\$ 22.91	52	\$ 1,191.37	52.00
٩		Debris Removal	-	\$ 22.91	\$ 22.91	\$ 5.25	\$ 28.16	2	\$ 56.32	2.00
A		Total:					Category XIII	Total:	\$ 1,247.69	54.00
A	Category XIV	Tierrasanta Branch Library								
A		Approximate Acres 0.28	1.28							
A		Supervisory Inspection: Overall Library Site	-	\$ 22.91	\$ 22.91	•	\$ 22.91	52	\$ 1,191.37	52.00
A		Litter Removal	0.25	\$ 22.91	\$ 5.73	\$ 3.68	\$ 9.40	156	\$ 1,466.83	39.00
A		Recycle Removal	0.5	\$ 22.91	\$ 11.46	\$ 0.26	\$ 11.72	156	\$ 1,828.01	78.00
A		Irrigation Inspection	0.75	\$ 22.91	\$ 17.18	\$ 0.53	\$ 17.71	52	\$ 920.83	39.00
A		Weed Removal	-	\$ 22.91	\$ 22.91	\$ 2.63	\$ 25.54	24	\$ 612.86	24.00
A		Mowing Lawns	0.5	\$ 22.91	\$ 11.46	\$ 3.94	\$ 15.39	46	\$ 708.08	23.00
A		Edging Lawns	0.5	\$ 22.91	\$ 11.46	\$ 2.10	\$ 13.56	46	\$ 623.55	23.00

Page 18 of 20

EXHIBIT	EXHIBIT A. SCHEDULE OF TASK COSTS	TASK COSTS								
20000086-25-L	6-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells mu	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to complete all cells may be cause for rejection.	e to complete all ce	lls may be cause for rej	jection.					
* Labor Cc	st = (City's Est. Hour	* Labor Cost = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1	Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Category/Item No.	Task Description	City's Est. Hours L	Labor Cost per Hour	Labor Cost*	Materials Cost	Total 1 Time Cost**	Est. Yr <mark>i</mark> y Frequecy	Yearly Task Cost***	Yrly Est. City's Hrs
٩		Renovation	0.5 \$	22.91 \$	11.46 \$	5.25	\$ 16.71	-	\$ 16.71	0.50
٨		Aeration	0.5 \$	22.91 \$	11.46 \$	•	\$ 11.46	4	\$ 45.82	2.00
٨		Pruning/Edging – Shrubs and Groundcover	1	22.91 \$	22.91 \$	1.84	\$ 24.75	4	\$ 98.99	4.00
٨		Pruning - Trees	1	22.91 \$	22.91 \$	2.63	\$ 25.54	2	\$ 51.07	2.00
A		Fertilization – Complete	1	22.91 \$	22.91 \$	15.75	\$ 38.66	5	\$ 193.31	5.00
٨		Sweeping - Hardscape	0.25 \$	22.91 \$	5.73 \$		\$ 5.73	52	\$ 297.84	13.00
٨							Category XIV Total:	Total:	\$ 8,055.27	304.50
A	Category XV(a)	Other-Park Acreage Undeveloped								
4		Annrovimate Arrec 21.71	12 16							
X 4		Supervisory Inspection		22.91 \$	22.91 \$		\$ 22.91	52	\$ 1,191.37	52.00
A		Litter Removal: All Areas	2	22.91	45.82 \$	3.94	\$ 49.76	4	\$ 199.04	8.00
A		Litter Removal: Overlook Areas - Roadrunner, Villa Monserate, Community Park	2 \$	22.91 \$	45.82 \$	2.63	\$ 48.45	12	\$ 581.36	24.00
A		Trail Clearance	8	22.91 \$	183.29 \$	2.10	\$ 185.39	2	\$ 370.78	16.00
A							Category XV(a) Total:	Total:	\$ 2,342.55	100.00
A	Category XV(b)	Mission Trails Regional Park Trash Receptacles								
A		No. of Trash Receptacles	4							
A		Supervisor Inspection	0.25 \$	22.91 \$	5.73 \$	•	\$ 5.73	52	\$ 297.84	13.00
A		Litter Removal	0.75 \$	22.91 \$	17.18 \$	0.53	\$ 17.71	52	\$ 920.83	39.00

Page 19 of 20

EXHIBIT	EXHIBIT A, SCHEDULE OF TASK COSTS	: TASK COSTS								
20000086-25-L	86-25-L									
CONTRA	CONTRACTOR NAME:	Treebeard Landscape								
All cells m	ust be filled-in in this	All cells must be filled-in in this spreadsheet. If no cost, enter a zero (0). Failure to comp	e to complete all	lete all cells may be cause for rejection.	rejection.					
* Labor C	ost = (City's Est. Hour	* Labor Cost  = (City's Est. Hours) X (Labor Cost Per Hour)								
** Total 1	l Time Cost = (Labor C	** Total 1 Time Cost = (Labor Cost) + (Materials Cost)								
*** Yearly	y Task Cost = (Total 1	*** Yearly Task Cost = (Total 1 Time Cost) X (Est. Yrly Frequency)								
Section	Section Category/Item No.	Task Description	City's Est. Hours	Hours Labor Cost per Hour	Labor Cost*	Materials Cost	Total 1 Time Cost**		Est. Yrly Frequecy Yearly Task Cost***	Yrly Est. City's Hrs
A							Category XV(b) Total:	Total:	\$ 1,218.67	52.00
						Section	Section A, Yearly Task Cost, Total:	Total:	\$ 608,344.65	24,757.00
۵		Extraordinary Labor: The cost of the seven thousand, five-hundred (7,500) hours of Extraordinary Labor will be added to the bid price to determine the overall low Contractor.	7,500	\$ 24.10	\$ 180,731.25 N/A	N/A	N/A	M/A	\$ 180,731.25	
					Sec	ction B, Yearly Extra	Section B, Yearly Extraordinary Labor Cost, Total:	Total:	\$ 180,731.25	
						Ser	Section A and Section B Total:	Total:	\$ 789,075.90	

# **EXHIBIT B**



# THE CITY OF SAN DIEGO

# **GENERAL CONTRACT TERMS AND PROVISIONS**

# APPLICABLE TO GOODS, SERVICES, AND CONSULTANT CONTRACTS

General Contract Terms and Provisions Revised: January 16, 2020, Revised Article III, 3.4 February 26, 2024 OCA Document No. 1685454\_2

#### ARTICLE I SCOPE AND TERM OF CONTRACT

**1.1 Scope of Contract.** The scope of contract between the City and a provider of goods and/or services (Contractor) is described in the Contract Documents. The Contract Documents are comprised of the Request for Proposal, Invitation to Bid, or other solicitation document (Solicitation); the successful bid or proposal; the letter awarding the contract to Contractor; the City's written acceptance of exceptions or clarifications to the Solicitation, if any; and these General Contract Terms and Provisions.

**1.2** Effective Date. A contract between the City and Contractor (Contract) is effective on the last date that the contract is signed by the parties and approved by the City Attorney in accordance with Charter section 40. Unless otherwise terminated, this Contract is effective until it is completed or as otherwise agreed upon in writing by the parties, whichever is the earliest. A Contract term cannot exceed five (5) years unless approved by the City Council by ordinance.

**1.3 Contract Extension.** The City may, in its sole discretion, unilaterally exercise an option to extend the Contract as described in the Contract Documents. In addition, the City may, in its sole discretion, unilaterally extend the Contract on a month-to-month basis following contract expiration if authorized under Charter section 99 and the Contract Documents. Contractor shall not increase its pricing in excess of the percentage increase described in the Contract.

## ARTICLE II CONTRACT ADMINISTRATOR

**2.1 Contract Administrator.** The Purchasing Agent or designee is the Contract Administrator for purposes of this Contract, and has the responsibilities described in this Contract, in the San Diego Charter, and in Chapter 2, Article 2, Divisions 5, 30, and 32.

**2.1.1 Contractor Performance Evaluations.** The Contract Administrator will evaluate Contractor's performance as often as the Contract Administrator deems necessary throughout the term of the contract. This evaluation will be based on criteria including the quality of goods or services, the timeliness of performance, and adherence to applicable laws, including prevailing wage and living wage. City will provide Contractors who receive an unsatisfactory rating with a copy of the evaluation and an opportunity to respond. City may consider final evaluations, including Contractor's response, in evaluating future proposals and bids for contract award.

**2.2** Notices. Unless otherwise specified, in all cases where written notice is required under this Contract, service shall be deemed sufficient if the notice is personally delivered or deposited in the United States mail, with first class postage paid, attention to the Purchasing Agent. Proper notice is effective on the date of personal delivery or five (5) days after deposit in a United States postal mailbox unless provided otherwise in the Contract. Notices to the City shall be sent to:

Purchasing Agent City of San Diego, Purchasing and Contracting Division 1200 3rd Avenue, Suite 200 San Diego, CA 92101-4195

## ARTICLE III COMPENSATION

**3.1 Manner of Payment**. Contractor will be paid monthly, in arrears, for goods and/or services provided in accordance with the terms and provisions specified in the Contract.

#### 3.2 Invoices.

**3.2.1 Invoice Detail.** Contractor's invoice must be on Contractor's stationary with Contractor's name, address, and remittance address if different. Contractor's invoice must have a date, an invoice number, a purchase order number, a description of the goods or services provided, and an amount due.

**3.2.2** Service Contracts. Contractor must submit invoices for services to City by the 10<sup>th</sup> of the month following the month in which Contractor provided services. Invoices must include the address of the location where services were performed and the dates in which services were provided.

**3.2.3 Goods Contracts.** Contractor must submit invoices for goods to City within seven days of the shipment. Invoices must describe the goods provided.

**3.2.4 Parts Contracts.** Contractor must submit invoices for parts to City within seven calendar (7) days of the date the parts are shipped. Invoices must include the manufacturer of the part, manufacturer's published list price, percentage discount applied in accordance with Pricing Page(s), the net price to City, and an item description, quantity, and extension.

**3.2.5 Extraordinary Work.** City will not pay Contractor for extraordinary work unless Contractor receives prior written authorization from the Contract Administrator. Failure to do so will result in payment being withheld for services. If approved, Contractor will include an invoice that describes the work performed and the location where the work was performed, and a copy of the Contract Administrator's written authorization.

**3.2.6 Reporting Requirements.** Contractor must submit the following reports using the City's web-based contract compliance portal. Incomplete and/or delinquent reports may cause payment delays, non-payment of invoice, or both. For questions, please view the City's online tutorials on how to utilize the City's web-based contract compliance portal.

**3.2.6.1 Monthly Employment Utilization Reports**. Contractor and Contractor's subcontractors and suppliers must submit Monthly Employment Utilization Reports by the fifth (5<sup>th</sup>) day of the subsequent month.

**3.2.6.2 Monthly Invoicing and Payments**. Contractor and Contractor's subcontractors and suppliers must submit Monthly Invoicing and Payment Reports by the fifth (5<sup>th</sup>) day of the subsequent month.

**3.3 Annual Appropriation of Funds.** Contractor acknowledges that the Contract term may extend over multiple City fiscal years, and that work and compensation under this Contract is contingent on the City Council appropriating funding for and authorizing such work and compensation for those fiscal years. This Contract may be terminated at the end of the fiscal year for which sufficient funding is not appropriated and authorized. City is not obligated to pay Contractor for any amounts not duly appropriated and authorized by City Council.

3.4 **Price Adjustments.** Based on Contractor's written request and justification, the City may approve an increase in unit prices on Contractor's pricing pages consistent with the amount requested in the justification in an amount not to exceed the increase in the Consumer Price Index, San Diego Area, for All Urban Customers (CPI-U) as published by the Bureau of Labor Statistics, or 5.0%, or the City's annual Living Wage increase. If the CPI-U is a negative number, then the unit prices shall not be adjusted for that option year (the unit prices will not be decreased). A negative CPI-U shall be counted against any subsequent increases in the CPI-U when calculating the unit prices for later option years. Contractor must provide such written request and justification no less than sixty days before the date in which City may exercise the option to renew the contract, or sixty days before the anniversary date of the Contract. Justification in support of the written request must include a description of the basis forthe adjustment, the proposed effective date and reasons for said date, and the amount of the adjustment requested with documentation to support the requested change (e.g. CPI-U or 5.0%, whichever is less, or the City's Living Wage increase). City's approval of this request must be in writing.

## ARTICLE IV SUSPENSION AND TERMINATION

**4.1 City's Right to Suspend for Convenience.** City may suspend all or any portion of Contractor's performance under this Contract at its sole option and for its convenience for a reasonable period of time not to exceed six (6) months. City must first give ten (10) days' written notice to Contractor of such suspension. City will pay to Contractor a sum equivalent to the reasonable value of the goods and/or services satisfactorily provided up to the date of suspension. City may rescind the suspension prior to or at six (6) months by providing Contractor with written notice of the rescission, at which time Contractor would be required to resume performance in compliance with the terms and provisions of this Contract. Contractor will be entitled to an extension of time to complete performance under the Contract equal to the length of the suspension unless otherwise agreed to in writing by the Parties.

**4.2 City's Right to Terminate for Convenience.** City may, at its sole option and for its convenience, terminate all or any portion of this Contract by giving thirty (30) days' written notice of such termination to Contractor. The termination of the Contract shall be effective upon receipt of the notice by Contractor. After termination of all or any portion of the Contract, Contractor shall: (1) immediately discontinue all affected performance (unless the notice directs otherwise); and (2) complete any and all additional work necessary for the orderly filing of

documents and closing of Contractor's affected performance under the Contract. After filing of documents and completion of performance, Contractor shall deliver to City all data, drawings, specifications, reports, estimates, summaries, and such other information and materials created or received by Contractor in performing this Contract, whether completed or in process. By accepting payment for completion, filing, and delivering documents as called for in this section, Contractor discharges City of all of City's payment obligations and liabilities under this Contract with regard to the affected performance.

**4.3 City's Right to Terminate for Default.** Contractor's failure to satisfactorily perform any obligation required by this Contract constitutes a default. Examples of default include a determination by City that Contractor has: (1) failed to deliver goods and/or perform the services of the required quality or within the time specified; (2) failed to perform any of the obligations of this Contract; and (3) failed to make sufficient progress in performance which may jeopardize full performance.

**4.3.1** If Contractor fails to satisfactorily cure a default within ten (10) calendar days of receiving written notice from City specifying the nature of the default, City may immediately cancel and/or terminate this Contract, and terminate each and every right of Contractor, and any person claiming any rights by or through Contractor under this Contract.

**4.3.2** If City terminates this Contract, in whole or in part, City may procure, upon such terms and in such manner as the Purchasing Agent may deem appropriate, equivalent goods or services and Contractor shall be liable to City for any excess costs. Contractor shall also continue performance to the extent not terminated.

**4.4** Termination for Bankruptcy or Assignment for the Benefit of Creditors. If Contractor files a voluntary petition in bankruptcy, is adjudicated bankrupt, or makes a general assignment for the benefit of creditors, the City may at its option and without further notice to, or demand upon Contractor, terminate this Contract, and terminate each and every right of Contractor, and any person claiming rights by and through Contractor under this Contract.

# 4.5 Contractor's Right to Payment Following Contract Termination.

**4.5.1 Termination for Convenience.** If the termination is for the convenience of City an equitable adjustment in the Contract price shall be made. No amount shall be allowed for anticipated profit on unperformed services, and no amount shall be paid for an as needed contract beyond the Contract termination date.

**4.5.2** Termination for Default. If, after City gives notice of termination for failure to fulfill Contract obligations to Contractor, it is determined that Contractor had not so failed, the termination shall be deemed to have been effected for the convenience of City. In such event, adjustment in the Contract price shall be made as provided in Section 4.3.2. City's rights and remedies are in addition to any other rights and remedies provided by law or under this Contract.

**4.6 Remedies Cumulative.** City's remedies are cumulative and are not intended to be exclusive of any other remedies or means of redress to which City may be lawfully entitled in case of any breach or threatened breach of any provision of this Contract.

## ARTICLE V ADDITIONAL CONTRACTOR OBLIGATIONS

**5.1 Inspection and Acceptance.** The City will inspect and accept goods provided under this Contract at the shipment destination unless specified otherwise. Inspection will be made and acceptance will be determined by the City department shown in the shipping address of the Purchase Order or other duly authorized representative of City.

**5.2 Responsibility for Lost or Damaged Shipments.** Contractor bears the risk of loss or damage to goods prior to the time of their receipt and acceptance by City. City has no obligation to accept damaged shipments and reserves the right to return damaged goods, at Contractor's sole expense, even if the damage was not apparent or discovered until after receipt.

**5.3 Responsibility for Damages.** Contractor is responsible for all damage that occurs as a result of Contractor's fault or negligence or that of its' employees, agents, or representatives in connection with the performance of this Contract. Contractor shall immediately report any such damage to people and/or property to the Contract Administrator.

**5.4 Delivery.** Delivery shall be made on the delivery day specified in the Contract Documents. The City, in its sole discretion, may extend the time for delivery. The City may order, in writing, the suspension, delay or interruption of delivery of goods and/or services.

**5.5 Delay.** Unless otherwise specified herein, time is of the essence for each and every provision of the Contract. Contractor must immediately notify City in writing if there is, or it is anticipated that there will be, a delay in performance. The written notice must explain the cause for the delay and provide a reasonable estimate of the length of the delay. City may terminate this Contract as provided herein if City, in its sole discretion, determines the delay is material.

**5.5.1** If a delay in performance is caused by any unforeseen event(s) beyond the control of the parties, City may allow Contractor to a reasonable extension of time to complete performance, but Contractor will not be entitled to damages or additional compensation. Any such extension of time must be approved in writing by City. The following conditions may constitute such a delay: war; changes in law or government regulation; labor disputes; strikes; fires, floods, adverse weather or other similar condition of the elements necessitating cessation of the performance; inability to obtain materials, equipment or labor; or other specific reasons agreed to between City and Contractor. This provision does not apply to a delay caused by Contractor's acts or omissions. Contractor is not entitled to an extension of time to perform if a delay is caused by Contractor's inability to obtain materials, equipment, or labor unless City has received, in a timely manner, documentary proof satisfactory to City of Contractor's inability to obtain materials, equipment, or labor unless City has received, in a timely manner, in which case City's approval must be in writing.

**5.6 Restrictions and Regulations Requiring Contract Modification.** Contractor shall immediately notify City in writing of any regulations or restrictions that may or will require Contractor to alter the material, quality, workmanship, or performance of the goods and/or services to be provided. City reserves the right to accept any such alteration, including any resulting reasonable price adjustments, or to cancel the Contract at no expense to the City.

**5.7 Warranties.** All goods and/or services provided under the Contract must be warranted by Contractor or manufacturer for at least twelve (12) months after acceptance by City, except automotive equipment. Automotive equipment must be warranted for a minimum of 12,000 miles or 12 months, whichever occurs first, unless otherwise stated in the Contract. Contractor is responsible to City for all warranty service, parts, and labor. Contractor is required to ensure that warranty work is performed at a facility acceptable to City and that services, parts, and labor are available and provided to meet City's schedules and deadlines. Contractor may establish a warranty service contract with an agency satisfactory to City instead of performing the warranty service itself. If Contractor is not an authorized service center and causes any damage to equipment being serviced, which results in the existing warranty being voided, Contractor will be liable for all costs of repairs to the equipment, or the costs of replacing the equipment with new equipment that meets City's operational needs.

**5.8 Industry Standards.** Contractor shall provide goods and/or services acceptable to City in strict conformance with the Contract. Contractor shall also provide goods and/or services in accordance with the standards customarily adhered to by an experienced and competent provider of the goods and/or services called for under this Contract using the degree of care and skill ordinarily exercised by reputable providers of such goods and/or services. Where approval by City, the Mayor, or other representative of City is required, it is understood to be general approval only and does not relieve Contractor of responsibility for complying with all applicable laws, codes, policies, regulations, and good business practices.

**5.9 Records Retention and Examination.** Contractor shall retain, protect, and maintain in an accessible location all records and documents, including paper, electronic, and computer records, relating to this Contract for five (5) years after receipt of final payment by City under this Contract. Contractor shall make all such records and documents available for inspection, copying, or other reproduction, and auditing by authorized representatives of City, including the Purchasing Agent or designee. Contractor shall make available all requested data and records at reasonable locations within City or County of San Diego at any time during normal business hours, and as often as City deems necessary. If records are not made available within the City or County of San Diego, Contractor shall pay City's travel costs to the location where the records are maintained and shall pay for all related travel expenses. Failure to make requested records available for inspection, copying, or other reproduction, or auditing by the date requested may result in termination of the Contract. Contractor must include this provision in all subcontracts made in connection with this Contract.

**5.9.1** Contractor shall maintain records of all subcontracts entered into with all firms, all project invoices received from Subcontractors and Suppliers, all purchases of materials and services from Suppliers, and all joint venture participation. Records shall show name, telephone number including area code, and business address of each Subcontractor and Supplier, and joint venture partner, and the total amount actually paid to each firm. Project relevant records, regardless of tier, may be periodically reviewed by the City.

**5.10 Quality Assurance Meetings.** Upon City's request, Contractor shall schedule one or more quality assurance meetings with City's Contract Administrator to discuss Contractor's performance. If requested, Contractor shall schedule the first quality assurance meeting no later than eight (8) weeks from the date of commencement of work under the Contract. At the quality assurance meeting(s), City's Contract Administrator will provide Contractor with feedback, will note any deficiencies in Contract performance, and provide Contractor with an opportunity to address and correct such deficiencies. The total number of quality assurance meetings that may be required by City will depend upon Contractor's performance.

**5.11 Duty to Cooperate with Auditor.** The City Auditor may, in his sole discretion, at no cost to the City, and for purposes of performing his responsibilities under Charter section 39.2, review Contractor's records to confirm contract compliance. Contractor shall make reasonable efforts to cooperate with Auditor's requests.

**5.12** Safety Data Sheets. If specified by City in the solicitation or otherwise required by this Contract, Contractor must send with each shipment one (1) copy of the Safety Data Sheet (SDS) for each item shipped. Failure to comply with this procedure will be cause for immediate termination of the Contract for violation of safety procedures.

**5.13 Project Personnel.** Except as formally approved by the City, the key personnel identified in Contractor's bid or proposal shall be the individuals who will actually complete the work. Changes in staffing must be reported in writing and approved by the City.

**5.13.1 Criminal Background Certification.** Contractor certifies that all employees working on this Contract have had a criminal background check and that said employees are clear of any sexual and drug related convictions. Contractor further certifies that all employees hired by Contractor or a subcontractor shall be free from any felony convictions.

**5.13.2** Photo Identification Badge. Contractor shall provide a company photo identification badge to any individual assigned by Contractor or subcontractor to perform services or deliver goods on City premises. Such badge must be worn at all times while on City premises. City reserves the right to require Contractor to pay fingerprinting fees for personnel assigned to work in sensitive areas. All employees shall turn in their photo identification badges to Contractor upon completion of services and prior to final payment of invoice.

**5.14** Standards of Conduct. Contractor is responsible for maintaining standards of employee competence, conduct, courtesy, appearance, honesty, and integrity satisfactory to the City.

**5.14.1 Supervision.** Contractor shall provide adequate and competent supervision at all times during the Contract term. Contractor shall be readily available to meet with the City. Contractor shall provide the telephone numbers where its representative(s) can be reached.

**5.14.2 City Premises.** Contractor's employees and agents shall comply with all City rules and regulations while on City premises.

**5.14.3 Removal of Employees.** City may request Contractor immediately remove from assignment to the City any employee found unfit to perform duties at the City. Contractor shall comply with all such requests.

**5.15** Licenses and Permits. Contractor shall, without additional expense to the City, be responsible for obtaining any necessary licenses, permits, certifications, accreditations, fees and approvals for complying with any federal, state, county, municipal, and other laws, codes, and regulations applicable to Contract performance. This includes, but is not limited to, any laws or regulations requiring the use of licensed contractors to perform parts of the work.

**5.16 Contractor and Subcontractor Registration Requirements.** Prior to the award of the Contract or Task Order, Contractor and Contractor's subcontractors and suppliers must register with the City's web-based vendor registration and bid management system. The City may not award the Contract until registration of all subcontractors and suppliers is complete. In the event this requirement is not met within the time frame specified by the City, the City reserves the right to rescind the Contract award and to make the award to the next responsive and responsible proposer of bidder.

#### ARTICLE VI INTELLECTUAL PROPERTY RIGHTS

**6.1 Rights in Data.** If, in connection with the services performed under this Contract, Contractor or its employees, agents, or subcontractors, create artwork, audio recordings, blueprints, designs, diagrams, documentation, photographs, plans, reports, software, source code, specifications, surveys, system designs, video recordings, or any other original works of authorship, whether written or readable by machine (Deliverable Materials), all rights of Contractor or its subcontractors in the Deliverable Materials, including, but not limited to publication, and registration of copyrights, and trademarks in the Deliverable Materials, are the sole property of City. Contractor, including its employees, agents, and subcontractors, may not use any Deliverable Material for purposes unrelated to Contractor's work on behalf of the City without prior written consent of City. Contractor's work on behalf of the City, without the prior written consent of the City.

**6.2** Intellectual Property Rights Assignment. For no additional compensation, Contractor hereby assigns to City all of Contractor's rights, title, and interest in and to the content of the Deliverable Materials created by Contractor or its employees, agents, or subcontractors, including copyrights, in connection with the services performed under this Contract. Contractor

shall promptly execute and deliver, and shall cause its employees, agents, and subcontractors to promptly execute and deliver, upon request by the City or any of its successors or assigns at any time and without further compensation of any kind, any power of attorney, assignment, application for copyright, patent, trademark or other intellectual property right protection, or other papers or instruments which may be necessary or desirable to fully secure, perfect or otherwise protect to or for the City, its successors and assigns, all right, title and interest in and to the content of the Deliverable Materials. Contractor also shall cooperate and assist in the prosecution of any action or opposition proceeding involving such intellectual property rights and any adjudication of those rights.

**6.3 Contractor Works.** Contractor Works means tangible and intangible information and material that: (a) had already been conceived, invented, created, developed or acquired by Contractor prior to the effective date of this Contract; or (b) were conceived, invented, created, or developed by Contractor after the effective date of this Contract, but only to the extent such information and material do not constitute part or all of the Deliverable Materials called for in this Contract. All Contractor Works, and all modifications or derivatives of such Contractor Works, including all intellectual property rights in or pertaining to the same, shall be owned solely and exclusively by Contractor.

**6.4 Subcontracting.** In the event that Contractor utilizes a subcontractor(s) for any portion of the work that comprises the whole or part of the specified Deliverable Materials to the City, the agreement between Contractor and the subcontractor shall include a statement that identifies the Deliverable Materials as a "works for hire" as described in the United States Copyright Act of 1976, as amended, and that all intellectual property rights in the Deliverable Materials, whether arising in copyright, trademark, service mark or other forms of intellectual property rights, belong to and shall vest solely with the City. Further, the agreement between Contractor and its subcontractor shall require that the subcontractor, if necessary, shall grant, transfer, sell and assign, free of charge, exclusively to City, all titles, rights and interests in and to the Deliverable Materials, including all copyrights, trademarks and other intellectual property rights. City shall have the right to review any such agreement for compliance with this provision.

**6.5 Intellectual Property Warranty and Indemnification.** Contractor represents and warrants that any materials or deliverables, including all Deliverable Materials, provided under this Contract are either original, or not encumbered, and do not infringe upon the copyright, trademark, patent or other intellectual property rights of any third party, or are in the public domain. If Deliverable Materials provided hereunder become the subject of a claim, suit or allegation of copyright, trademark or patent infringement, City shall have the right, in its sole discretion, to require Contractor to produce, at Contractor's own expense, new non-infringing materials, deliverables or works as a means of remedying any claim of infringement in addition to any other remedy available to the City under law or equity. Contractor further agrees to indemnify, defend, and hold harmless the City, its officers, employees and agents from and against any and all claims, actions, costs, judgments or damages, of any type, alleging or threatening that any Deliverable Materials, supplies, equipment, services or works provided under this contract infringe the copyright, trademark, patent or other intellectual property or proprietary rights of any third party (Third Party Claim of Infringement). If a Third Party Claim

of Infringement is threatened or made before Contractor receives payment under this Contract, City shall be entitled, upon written notice to Contractor, to withhold some or all of such payment.

**6.6 Software Licensing.** Contractor represents and warrants that the software, if any, as delivered to City, does not contain any program code, virus, worm, trap door, back door, time or clock that would erase data or programming or otherwise cause the software to become inoperable, inaccessible, or incapable of being used in accordance with its user manuals, either automatically, upon the occurrence of licensor-selected conditions or manually on command. Contractor further represents and warrants that all third party software, delivered to City or used by Contractor in the performance of the Contract, is fully licensed by the appropriate licensor.

**6.7 Publication.** Contractor may not publish or reproduce any Deliverable Materials, for purposes unrelated to Contractor's work on behalf of the City without prior written consent from the City.

**6.8 Royalties, Licenses, and Patents.** Unless otherwise specified, Contractor shall pay all royalties, license, and patent fees associated with the goods that are the subject of this solicitation. Contractor warrants that the goods, materials, supplies, and equipment to be supplied do not infringe upon any patent, trademark, or copyright, and further agrees to defend any and all suits, actions and claims for infringement that are brought against the City, and to defend, indemnify and hold harmless the City, its elected officials, officers, and employees from all liability, loss and damages, whether general, exemplary or punitive, suffered as a result of any actual or claimed infringement to Contractor under the City, or those furnishing goods, materials, supplies, or equipment to Contractor under the Contract.

#### ARTICLE VII INDEMNIFICATION AND INSURANCE

**7.1 Indemnification.** To the fullest extent permitted by law, Contractor shall defend (with legal counsel reasonably acceptable to City), indemnify, protect, and hold harmless City and its elected officials, officers, employees, agents, and representatives (Indemnified Parties) from and against any and all claims, losses, costs, damages, injuries (including, without limitation, injury to or death of an employee of Contractor or its subcontractors), expense, and liability of every kind, nature and description (including, without limitation, incidental and consequential damages, court costs, and litigation expenses and fees of expert consultants or expert witnesses incurred in connection therewith and costs of investigation) that arise out of, pertain to, or relate to, directly or indirectly, in whole or in part, any goods provided or performance of services under this Contract by Contractor, any subcontractor, anyone directly or indirectly employed by either of them, or anyone that either of them control. Contractor's duty to defend, indemnify, protect and hold harmless shall not include any claims or liabilities arising from the sole negligence or willful misconduct of the Indemnified Parties.

7.2 **Insurance.** Contractor shall procure and maintain for the duration of the contract insurance against claims for injuries to persons or damages to property which may arise from or

in connection with the performance of the work hereunder and the results of that work by Contractor, his agents, representatives, employees or subcontractors.

Contractor shall provide, at a minimum, the following:

**7.2.1 Commercial General Liability.** Insurance Services Office Form CG 00 01 covering CGL on an "occurrence" basis, including products and completed operations, property damage, bodily injury, and personal and advertising injury with limits no less than \$1,000,000 per occurrence. If a general aggregate limit applies, either the general aggregate limit shall apply separately to this project/location (ISO CG 25 03 or 25 04) or the general aggregate limit shall be twice the required occurrence limit.

**7.2.2 Commercial Automobile Liability.** Insurance Services Office Form Number CA 0001 covering Code 1 (any auto) or, if Contractor has no owned autos, Code 8 (hired) and 9 (non-owned), with limit no less than \$1,000,000 per accident for bodily injury and property damage.

**7.2.3 Workers' Compensation.** Insurance as required by the State of California, with Statutory Limits, and Employer's Liability Insurance with limit of no less than \$1,000,000 per accident for bodily injury or disease.

**7.2.4** Professional Liability (Errors and Omissions). For consultant contracts, insurance appropriate to Consultant's profession, with limit no less than \$1,000,000 per occurrence or claim, \$2,000,000 aggregate.

If Contractor maintains broader coverage and/or higher limits than the minimums shown above, City requires and shall be entitled to the broader coverage and/or the higher limits maintained by Contractor. Any available insurance proceeds in excess of the specified minimum limits of insurance and coverage shall be available to City.

**7.2.5** Other Insurance Provisions. The insurance policies are to contain, or be endorsed to contain, the following provisions:

**7.2.5.1 Additional Insured Status.** The City, its officers, officials, employees, and volunteers are to be covered as additional insureds on the CGL policy with respect to liability arising out of work or operations performed by or on behalf of Contractor including materials, parts, or equipment furnished in connection with such work or operations. General liability coverage can be provided in the form of an endorsement to Contractor's insurance (at least as broad as ISO Form CG 20 10 11 85 or if not available, through the addition of both CG 20 10, CG 20 26, CG 20 33, or CG 20 38; and CG 20 37 if a later edition is used).

**7.2.5.2 Primary Coverage.** For any claims related to this contract, Contractor's insurance coverage shall be primary coverage at least as broad as ISO CG 20 01 04 13 as respects the City, its officers, officials, employees, and volunteers. Any insurance or selfinsurance maintained by City, its officers, officials, employees, or volunteers shall be excess of Contractor's insurance and shall not contribute with it.

**7.2.5.3 Notice of Cancellation.** Each insurance policy required above shall provide that coverage shall not be canceled, except with notice to City.

**7.2.5.4 Waiver of Subrogation.** Contractor hereby grants to City a waiver of any right to subrogation which the Workers' Compensation insurer of said Contractor may acquire against City by virtue of the payment of any loss under such insurance. Contractor agrees to obtain any endorsement that may be necessary to affect this waiver of subrogation, but this provision applies regardless of whether or not the City has received a waiver of subrogation endorsement from the insurer.

**7.2.5.5 Claims Made Policies (applicable only to professional liability).** The Retroactive Date must be shown, and must be before the date of the contract or the beginning of contract work. Insurance must be maintained and evidence of insurance must be provided for at least five (5) years after completion of the contract of work. If coverage is canceled or non-renewed, and not replaced with another claims-made policy form with a Retroactive Date prior to the contract effective date, Contractor must purchase "extended reporting" coverage for a minimum of five (5) years after completion of work.

**7.3** Self Insured Retentions. Self-insured retentions must be declared to and approved by City. City may require Contractor to purchase coverage with a lower retention or provide proof of ability to pay losses and related investigations, claim administration, and defense expenses within the retention. The policy language shall provide, or be endorsed to provide, that the self-insured retention may be satisfied by either the named insured or City.

**7.4** Acceptability of Insurers. Insurance is to be placed with insurers with a current A.M. Best's rating of no less than A-VI, unless otherwise acceptable to City.

City will accept insurance provided by non-admitted, "surplus lines" carriers only if the carrier is authorized to do business in the State of California and is included on the List of Approved Surplus Lines Insurers (LASLI list). All policies of insurance carried by non-admitted carriers are subject to all of the requirements for policies of insurance provided by admitted carriers described herein.

**7.5** Verification of Coverage. Contractor shall furnish City with original certificates and amendatory endorsements or copies of the applicable policy language effecting coverage required by this clause. All certificates and endorsements are to be received and approved by City before work commences. However, failure to obtain the required documents prior to the work beginning shall not waive Contractor's obligation to provide them. City reserves the right to require complete, certified copies of all required insurance policies, including endorsements required by these specifications, at any time.

**7.6** Special Risks or Circumstances. City reserves the right to modify these requirements, including limits, based on the nature of the risk, prior experience, insurer, coverage, or other special circumstances.

7.7 Additional Insurance. Contractor may obtain additional insurance not required by this Contract.

**7.8** Excess Insurance. All policies providing excess coverage to City shall follow the form of the primary policy or policies including but not limited to all endorsements.

**7.9 Subcontractors.** Contractor shall require and verify that all subcontractors maintain insurance meeting all the requirements stated herein, and Contractor shall ensure that City is an additional insured on insurance required from subcontractors. For CGL coverage, subcontractors shall provide coverage with a format at least as broad as the CG 20 38 04 13 endorsement.

#### ARTICLE VIII BONDS

**8.1 Payment and Performance Bond.** Prior to the execution of this Contract, City may require Contractor to post a payment and performance bond (Bond). The Bond shall guarantee Contractor's faithful performance of this Contract and assure payment to contractors, subcontractors, and to persons furnishing goods and/or services under this Contract.

**8.1.1 Bond Amount.** The Bond shall be in a sum equal to twenty-five percent (25%) of the Contract amount, unless otherwise stated in the Specifications. City may file a claim against the Bond if Contractor fails or refuses to fulfill the terms and provisions of the Contract.

**8.1.2 Bond Term.** The Bond shall remain in full force and effect at least until complete performance of this Contract and payment of all claims for materials and labor, at which time it will convert to a ten percent (10%) warranty bond, which shall remain in place until the end of the warranty periods set forth in this Contract. The Bond shall be renewed annually, at least sixty (60) days in advance of its expiration, and Contractor shall provide timely proof of annual renewal to City.

**8.1.3 Bond Surety.** The Bond must be furnished by a company authorized by the State of California Department of Insurance to transact surety business in the State of California and which has a current A.M. Best rating of at least "A-, VIII."

**8.1.4** Non-Renewal or Cancellation. The Bond must provide that City and Contractor shall be provided with sixty (60) days' advance written notice in the event of non-renewal, cancellation, or material change to its terms. In the event of non-renewal, cancellation, or material change to the Bond terms, Contractor shall provide City with evidence of the new source of surety within twenty-one (21) calendar days after the date of the notice of non-renewal, cancellation, or material change. Failure to maintain the Bond, as required herein, in full force

and effect as required under this Contact, will be a material breach of the Contract subject to termination of the Contract.

**8.2** Alternate Security. City may, at its sole discretion, accept alternate security in the form of an endorsed certificate of deposit, a money order, a certified check drawn on a solvent bank, or other security acceptable to the Purchasing Agent in an amount equal to the required Bond.

#### ARTICLE IX CITY-MANDATED CLAUSES AND REQUIREMENTS

**9.1** Contractor Certification of Compliance. By signing this Contract, Contractor certifies that Contractor is aware of, and will comply with, these City-mandated clauses throughout the duration of the Contract.

**9.1.1 Drug-Free Workplace Certification.** Contractor shall comply with City's Drug-Free Workplace requirements set forth in Council Policy 100-17, which is incorporated into the Contract by this reference.

**9.1.2 Contractor Certification for Americans with Disabilities Act (ADA) and State Access Laws and Regulations**: Contractor shall comply with all accessibility requirements under the ADA and under Title 24 of the California Code of Regulations (Title 24). When a conflict exists between the ADA and Title 24, Contractor shall comply with the most restrictive requirement (i.e., that which provides the most access). Contractor also shall comply with the City's ADA Compliance/City Contractors requirements as set forth in Council Policy 100-04, which is incorporated into this Contract by reference. Contractor warrants and certifies compliance with all federal and state access laws and regulations and further certifies that any subcontract agreement for this contract contains language which indicates the subcontractor's agreement to abide by the provisions of the City's Council Policy and any applicable access laws and regulations.

#### 9.1.3 Non-Discrimination Requirements.

**9.1.3.1 Compliance with City's Equal Opportunity Contracting Program** (EOCP). Contractor shall comply with City's EOCP Requirements. Contractor shall not discriminate against any employee or applicant for employment on any basis prohibited by law. Contractor shall provide equal opportunity in all employment practices. Prime Contractors shall ensure that their subcontractors comply with this program. Nothing in this Section shall be interpreted to hold a Prime Contractor liable for any discriminatory practice of its subcontractors.

**9.1.3.2** Non-Discrimination Ordinance. Contractor shall not discriminate on the basis of race, gender, gender expression, gender identity, religion, national origin, ethnicity, sexual orientation, age, or disability in the solicitation, selection, hiring or treatment of subcontractors, vendors or suppliers. Contractor shall provide equal opportunity for subcontractors to participate in subcontracting opportunities. Contractor understands and agrees that violation of this clause shall be considered a material breach of the Contract and may result

in Contract termination, debarment, or other sanctions. Contractor shall ensure that this language is included in contracts between Contractor and any subcontractors, vendors and suppliers.

**9.1.3.3 Compliance Investigations.** Upon City's request, Contractor agrees to provide to City, within sixty calendar days, a truthful and complete list of the names of all subcontractors, vendors, and suppliers that Contractor has used in the past five years on any of its contracts that were undertaken within San Diego County, including the total dollar amount paid by Contractor for each subcontract or supply contract. Contractor further agrees to fully cooperate in any investigation conducted by City pursuant to City's Nondiscrimination in Contracting Ordinance. Contractor understands and agrees that violation of this clause shall be considered a material breach of the Contract and may result in Contract termination, debarment, and other sanctions.

**9.1.4 Equal Benefits Ordinance Certification.** Unless an exception applies, Contractor shall comply with the Equal Benefits Ordinance (EBO) codified in the San Diego Municipal Code (SDMC). Failure to maintain equal benefits is a material breach of the Contract.

**9.1.5 Contractor Standards.** Contractor shall comply with Contractor Standards provisions codified in the SDMC. Contractor understands and agrees that violation of Contractor Standards may be considered a material breach of the Contract and may result in Contract termination, debarment, and other sanctions.

**9.1.6** Noise Abatement. Contractor shall operate, conduct, or construct without violating the City's Noise Abatement Ordinance codified in the SDMC.

**9.1.7** Storm Water Pollution Prevention Program. Contractor shall comply with the City's Storm Water Management and Discharge Control provisions codified in Division 3 of Chapter 4 of the SDMC, as may be amended, and any and all applicable Best Management Practice guidelines and pollution elimination requirements in performing or delivering services at City owned, leased, or managed property, or in performance of services and activities on behalf of City regardless of location.

Contractor shall comply with the City's Jurisdictional Urban Runoff Management Plan encompassing Citywide programs and activities designed to prevent and reduce storm water pollution within City boundaries as adopted by the City Council on January 22, 2008, via Resolution No. 303351, as may be amended.

Contractor shall comply with each City facility or work site's Storm Water Pollution Prevention Plan, as applicable, and institute all controls needed while completing the services to minimize any negative impact to the storm water collection system and environment.

**9.1.8 Service Worker Retention Ordinance.** If applicable, Contractor shall comply with the Service Worker Retention Ordinance (SWRO) codified in the SDMC.

**9.1.9 Product Endorsement.** Contractor shall comply with Council Policy 000-41 which requires that other than listing the City as a client and other limited endorsements, any advertisements, social media, promotions or other marketing referring to the City as a user of a product or service will require prior written approval of the Mayor or designee. Use of the City Seal or City logos is prohibited.

**9.1.10 Business Tax Certificate.** Unless the City Treasurer determines in writing that a contractor is exempt from the payment of business tax, any contractor doing business with the City of San Diego is required to obtain a Business Tax Certificate (BTC) and to provide a copy of its BTC to the City before a Contract is executed.

**9.1.11 Equal Pay Ordinance.** Unless an exception applies, Contractor shall comply with the Equal Pay Ordinance codified in San Diego Municipal Code sections 22.4801 through 22.4809. Contractor shall certify in writing that it will comply with the requirements of the EPO.

**9.1.11.1 Contractor and Subcontract Requirement.** The Equal Pay Ordinance applies to any subcontractor who performs work on behalf of a Contractor to the same extent as it would apply to that Contractor. Any Contractor subject to the Equal Pay Ordinance shall require all of its subcontractors to certify compliance with the Equal Pay Ordinance in its written subcontracts.

#### ARTICLE X CONFLICT OF INTEREST AND VIOLATIONS OF LAW

**10.1 Conflict of Interest Laws.** Contractor is subject to all federal, state and local conflict of interest laws, regulations, and policies applicable to public contracts and procurement practices including, but not limited to, California Government Code sections 1090, *et. seq.* and 81000, *et. seq.*, and the Ethics Ordinance, codified in the SDMC. City may determine that Contractor must complete one or more statements of economic interest disclosing relevant financial interests. Upon City's request, Contractor shall submit the necessary documents to City.

**10.2** Contractor's Responsibility for Employees and Agents. Contractor is required to establish and make known to its employees and agents appropriate safeguards to prohibit employees from using their positions for a purpose that is, or that gives the appearance of being, motivated by the desire for private gain for themselves or others, particularly those with whom they have family, business or other relationships.

**10.3** Contractor's Financial or Organizational Interests. In connection with any task, Contractor shall not recommend or specify any product, supplier, or contractor with whom Contractor has a direct or indirect financial or organizational interest or relationship that would violate conflict of interest laws, regulations, or policies.

**10.4** Certification of Non-Collusion. Contractor certifies that: (1) Contractor's bid or proposal was not made in the interest of or on behalf of any person, firm, or corporation not identified; (2) Contractor did not directly or indirectly induce or solicit any other bidder or proposer to put in a sham bid or proposal; (3) Contractor did not directly or indirectly induce or

solicit any other person, firm or corporation to refrain from bidding; and (4) Contractor did not seek by collusion to secure any advantage over the other bidders or proposers.

**10.5 Hiring City Employees.** This Contract shall be unilaterally and immediately terminated by City if Contractor employs an individual who within the twelve (12) months immediately preceding such employment did in his/her capacity as a City officer or employee participate in negotiations with or otherwise have an influence on the selection of Contractor.

#### ARTICLE XI DISPUTE RESOLUTION

**11.1 Mediation.** If a dispute arises out of or relates to this Contract and cannot be settled through normal contract negotiations, Contractor and City shall use mandatory non-binding mediation before having recourse in a court of law.

**11.2** Selection of Mediator. A single mediator that is acceptable to both parties shall be used to mediate the dispute. The mediator will be knowledgeable in the subject matter of this Contract, if possible.

**11.3 Expenses.** The expenses of witnesses for either side shall be paid by the party producing such witnesses. All other expenses of the mediation, including required traveling and other expenses of the mediator, and the cost of any proofs or expert advice produced at the direct request of the mediator, shall be borne equally by the parties, unless they agree otherwise.

**11.4 Conduct of Mediation Sessions.** Mediation hearings will be conducted in an informal manner and discovery will not be allowed. The discussions, statements, writings and admissions will be confidential to the proceedings (pursuant to California Evidence Code sections 1115 through 1128) and will not be used for any other purpose unless otherwise agreed by the parties in writing. The parties may agree to exchange any information they deem necessary. Both parties shall have a representative attend the mediation who is authorized to settle the dispute, though City's recommendation of settlement may be subject to the approval of the Mayor and City Council. Either party may have attorneys, witnesses or experts present.

**11.5** Mediation Results. Any agreements resulting from mediation shall be memorialized in writing. The results of the mediation shall not be final or binding unless otherwise agreed to in writing by the parties. Mediators shall not be subject to any subpoena or liability, and their actions shall not be subject to discovery.

#### ARTICLE XII MANDATORY ASSISTANCE

**12.1 Mandatory Assistance.** If a third party dispute or litigation, or both, arises out of, or relates in any way to the services provided to the City under a Contract, Contractor, its agents, officers, and employees agree to assist in resolving the dispute or litigation upon City's request. Contractor's assistance includes, but is not limited to, providing professional consultations,

attending mediations, arbitrations, depositions, trials or any event related to the dispute resolution and/or litigation.

**12.2** Compensation for Mandatory Assistance. City will compensate Contractor for fees incurred for providing Mandatory Assistance. If, however, the fees incurred for the Mandatory Assistance are determined, through resolution of the third party dispute or litigation, or both, to be attributable in whole, or in part, to the acts or omissions of Contractor, its agents, officers, and employees, Contractor shall reimburse City for all fees paid to Contractor, its agents, officers, and employees for Mandatory Assistance.

**12.3** Attorneys' Fees Related to Mandatory Assistance. In providing City with dispute or litigation assistance, Contractor or its agents, officers, and employees may incur expenses and/or costs. Contractor agrees that any attorney fees it may incur as a result of assistance provided under Section 12.2 are not reimbursable.

#### ARTICLE XIII MISCELLANEOUS

**13.1 Headings.** All headings are for convenience only and shall not affect the interpretation of this Contract.

**13.2** Non-Assignment. Contractor may not assign the obligations under this Contract, whether by express assignment or by sale of the company, nor any monies due or to become due under this Contract, without City's prior written approval. Any assignment in violation of this paragraph shall constitute a default and is grounds for termination of this Contract at the City's sole discretion. In no event shall any putative assignment create a contractual relationship between City and any putative assignee.

**13.3** Independent Contractors. Contractor and any subcontractors employed by Contractor are independent contractors and not agents of City. Any provisions of this Contract that may appear to give City any right to direct Contractor concerning the details of performing or providing the goods and/or services, or to exercise any control over performance of the Contract, shall mean only that Contractor shall follow the direction of City concerning the end results of the performance.

**13.4** Subcontractors. All persons assigned to perform any work related to this Contract, including any subcontractors, are deemed to be employees of Contractor, and Contractor shall be directly responsible for their work.

**13.5** Covenants and Conditions. All provisions of this Contract expressed as either covenants or conditions on the part of City or Contractor shall be deemed to be both covenants and conditions.

**13.6** Compliance with Controlling Law. Contractor shall comply with all applicable local, state, and federal laws, regulations, and policies. Contractor's act or omission in violation of applicable local, state, and federal laws, regulations, and policies is grounds for contract

termination. In addition to all other remedies or damages allowed by law, Contractor is liable to City for all damages, including costs for substitute performance, sustained as a result of the violation. In addition, Contractor may be subject to suspension, debarment, or both.

**13.7** Governing Law. The Contract shall be deemed to be made under, construed in accordance with, and governed by the laws of the State of California without regard to the conflicts or choice of law provisions thereof.

**13.8** Venue. The venue for any suit concerning solicitations or the Contract, the interpretation of application of any of its terms and conditions, or any related disputes shall be in the County of San Diego, State of California.

**13.9** Successors in Interest. This Contract and all rights and obligations created by this Contract shall be in force and effect whether or not any parties to the Contract have been succeeded by another entity, and all rights and obligations created by this Contract shall be vested and binding on any party's successor in interest.

**13.10** No Waiver. No failure of either City or Contractor to insist upon the strict performance by the other of any covenant, term or condition of this Contract, nor any failure to exercise any right or remedy consequent upon a breach of any covenant, term, or condition of this Contract, shall constitute a waiver of any such breach of such covenant, term or condition. No waiver of any breach shall affect or alter this Contract, and each and every covenant, condition, and term hereof shall continue in full force and effect without respect to any existing or subsequent breach.

**13.11** Severability. The unenforceability, invalidity, or illegality of any provision of this Contract shall not render any other provision of this Contract unenforceable, invalid, or illegal.

**13.12 Drafting Ambiguities.** The parties acknowledge that they have the right to be advised by legal counsel with respect to the negotiations, terms and conditions of this Contract, and the decision of whether to seek advice of legal counsel with respect to this Contract is the sole responsibility of each party. This Contract shall not be construed in favor of or against either party by reason of the extent to which each party participated in the drafting of the Contract.

**13.13** Amendments. Neither this Contract nor any provision hereof may be changed, modified, amended or waived except by a written agreement executed by duly authorized representatives of City and Contractor. Any alleged oral amendments have no force or effect. The Purchasing Agent must sign all Contract amendments.

**13.14 Conflicts Between Terms.** If this Contract conflicts with an applicable local, state, or federal law, regulation, or court order, applicable local, state, or federal law, regulation, or court order shall control. Varying degrees of stringency among the main body of this Contract, the exhibits or attachments, and laws, regulations, or orders are not deemed conflicts, and the most stringent requirement shall control. Each party shall notify the other immediately upon the identification of any apparent conflict or inconsistency concerning this Contract.

**13.15** Survival of Obligations. All representations, indemnifications, warranties, and guarantees made in, required by, or given in accordance with this Contract, as well as all continuing obligations indicated in this Contract, shall survive, completion and acceptance of performance and termination, expiration or completion of the Contract.

**13.16 Confidentiality of Services.** All services performed by Contractor, and any subcontractor(s) if applicable, including but not limited to all drafts, data, information, correspondence, proposals, reports of any nature, estimates compiled or composed by Contractor, are for the sole use of City, its agents, and employees. Neither the documents nor their contents shall be released by Contractor or any subcontractor to any third party without the prior written consent of City. This provision does not apply to information that: (1) was publicly known, or otherwise known to Contractor, at the time it was disclosed to Contractor by City; (2) subsequently becomes publicly known through no act or omission of Contractor; or (3) otherwise becomes known to Contractor other than through disclosure by City.

**13.17 Insolvency.** If Contractor enters into proceedings relating to bankruptcy, whether voluntary or involuntary, Contractor agrees to furnish, by certified mail or electronic commerce method authorized by the Contract, written notification of the bankruptcy to the Purchasing Agent and the Contract Administrator responsible for administering the Contract. This notification shall be furnished within five (5) days of the initiation of the proceedings relating to bankruptcy filing. This notification shall include the date on which the bankruptcy petition was filed, the identity of the court in which the bankruptcy petition was filed, and a listing of City contract numbers and contracting offices for all City contracts against which final payment has not been made. This obligation remains in effect until final payment is made under this Contract.

**13.18** No Third Party Beneficiaries. Except as may be specifically set forth in this Contract, none of the provisions of this Contract are intended to benefit any third party not specifically referenced herein. No party other than City and Contractor shall have the right to enforce any of the provisions of this Contract.

**13.19** Actions of City in its Governmental Capacity. Nothing in this Contract shall be interpreted as limiting the rights and obligations of City in its governmental or regulatory capacity.

### EXHIBIT C CITY REQUIRED FORMS

Business Tax Certificate

Contractor Standards Pledge of Compliance

Equal Opportunity Contracting forms, including Contractors Certification of Pending Actions and Work Force Report

Insurance Certificates with all endorsements

Living Wage Certification Form of Living Wage Exemption Form (if applicable)

#### EXHIBIT D

#### WAGE REQUIREMENTS: SERVICE AND MAINTENANCE CONTRACTS EXECUTED ON OR AFTER JANUARY 1, 2015

By signing this Contract, Bidder certifies that he or she is aware of the wage provisions described herein and shall comply with such provisions before commencing services.

A. PREVAILING WAGES. Pursuant to San Diego Municipal Code section 22.3019, construction, alteration, demolition, repair and maintenance work performed under this Contract is subject to State prevailing wage laws. For construction work performed under this Contract cumulatively exceeding \$25,000 and for alteration, demolition, repair and maintenance work performed under this Contract cumulatively exceeding \$15,000, Bidder and its subcontractors shall comply with State prevailing wage laws including, but not limited to, the requirements listed below. This requirement is in addition to the requirement to pay Living Wage pursuant to San Diego Municipal Code Chapter 2, Article 2, Division 42. Bidder must determine which per diem rate is highest for each classification of work (i.e. Prevailing Wage Rate or Living Wage Rate), and pay the highest of the two rates to their employees. Living Wage applies to workers who are not subject to Prevailing Wage Rates.

1. Compliance with Prevailing Wage Requirements. Pursuant to sections 1720 through 1861 of the California Labor Code, Bidder and its subcontractors shall ensure that all workers who perform work under this Contract are paid not less than the prevailing rate of per diem wages as determined by the Director of the California Department of Industrial Relations (DIR). This includes work performed during the design and preconstruction phases of construction including, but not limited to, inspection and land surveying work.

**1.1.** Copies of such prevailing rate of per diem wages are on file at the City of San Diego's Equal Opportunity Contracting Department and are available for inspection to any interested party on request. Copies of the prevailing rate of per diem wages also may be found at

http://www.dir.ca.gov/OPRL/DPreWageDetermination.htm. Bidder and its subcontractors shall post a copy of the prevailing rate of per diem wages determination at each job site and shall make them available to any interested party upon request.

**1.2.** The wage rates determined by the DIR refer to expiration dates. If the published wage rate does not refer to a predetermined wage rate to be paid after the expiration date, then the published rate of wage shall be in effect for the life of this Contract. If the published wage rate refers to a predetermined wage rate to become effective upon expiration of the published wage rate and the predetermined wage rate is on file with the DIR, such predetermined wage rate shall become effective on the date following the expiration date and shall apply to this Contract in the same manner as if it had been published in said publication. If the predetermined wage rate refers to one or more additional expiration dates with additional predetermined wage rates, which expiration dates occur during the life of this Contract, each successive predetermined wage rate shall apply to this Contract on the date following the expiration date of the

Wage Requirements Template Revised October 31, 2018 OCA Document No. 966329\_4 previous wage rate. If the last of such predetermined wage rates expires during the life of this Contract, such wage rate shall apply to the balance of the Contract.

2. Penalties for Violations. Bidder and its subcontractors shall comply with California Labor Code section 1775 in the event a worker is paid less than the prevailing wage rate for the work or craft in which the worker is employed. This shall be in addition to any other applicable penalties allowed under Labor Code sections 1720 – 1861.

3. Payroll Records. Bidder and its subcontractors shall comply with California Labor Code section 1776, which generally requires keeping accurate payroll records, verifying and certifying payroll records, and making them available for inspection. Bidder shall require its subcontractors to also comply with section 1776. Bidder and its subcontractors shall submit weekly certified payroll records online via the City's webbased Labor Compliance Program. Bidder is responsible for ensuring its subcontractors shall also furnish the records specified in Labor Code section 1776 directly to the Labor Commissioner in the manner required in Labor Code section 1771.4.

**4. Apprentices.** Bidder and its subcontractors shall comply with California Labor Code sections 1777.5, 1777.6 and 1777.7 concerning the employment and wages of apprentices. Bidder shall be held responsible for their compliance as well as the compliance of their subcontractors with sections 1777.5, 1777.6 and 1777.7.

**5. Working Hours**. Bidder and its subcontractors shall comply with California Labor Code sections 1810 through 1815, including but not limited to: (i) restrict working hours on public works contracts to eight hours a day and forty hours a week, unless all hours worked in excess of 8 hours per day are compensated at not less than 1½ times the basic rate of pay; and (ii) specify penalties to be imposed on design professionals and subcontractors of \$25 per worker per day for each day the worker works more than 8 hours per day and 40 hours per week in violation of California Labor Code sections1810 through 1815.

6. Required Provisions for Subcontracts. Bidder shall include at a minimum a copy of the following provisions in any contract they enter into with a subcontractor: California Labor Code sections 1771, 1771.1, 1775, 1776, 1777.5, 1810, 1813, 1815, 1860 and 1861.

**7. Labor Code Section 1861 Certification**. Bidder in accordance with California Labor Code section 3700 is required to secure the payment of compensation of its employees and by signing this Contract, Bidder certifies that "I am aware of the provisions of Section 3700 of the California Labor Code which require every employer to be insured against liability for workers' compensation or to undertake self-insurance in accordance with the provisions of that code, and I will comply with such provisions before commencing the performance of the work of this Contract."

8. Labor Compliance Program. The City has its own Labor Compliance Program authorized in August 2011 by the DIR. The City will withhold contract payments when payroll records are delinquent or deemed inadequate by the City or other governmental

entity, or it has been established after an investigation by the City or other governmental entity that underpayment(s) have occurred. For questions or assistance, please contact the City of San Diego's Equal Opportunity Contracting Department at 619-236-6000.

**9. Contractor and Subcontractor Registration Requirements.** This project is subject to compliance monitoring and enforcement by the DIR. A Bidder or subcontractor shall not be qualified to bid on, be listed in a bid proposal, subject to the requirements of Section 4104 of the Public Contract Code, or enter into any contract for public work, as defined in this chapter of the Labor Code unless currently registered and qualified to perform the work pursuant to Section 1725.5. In accordance with Labor Code section 1771.1(a), "[i]t is not a violation of this section for an unregistered contractor to submit a bid that is authorized by Section 7029.1 of the Business and Professions Code or by Section 10164 or 20103.5 of the Public Contract Code, provided the contractor is registered to perform public work pursuant to Section 1725.5 at the time the contract is awarded."

**9.1.** A Bidder's inadvertent error in listing a subcontractor who is not registered pursuant to Labor Code section 1725.5 in a response to a solicitation shall not be grounds for filing a bid protest or grounds for considering the bid non-responsive provided that any of the following apply: (1) the subcontractor is registered prior to bid opening; (2) within twenty-four hours after the bid opening, the subcontractor is registered and has paid the penalty registration fee specified in Labor Code section 1725.5; or (3) the subcontractor is replaced by another registered contractor pursuant to Public Contract Code section 4107.

**9.2.** A Contract entered into with any Bidder or subcontractor in violation of Labor Code section 1771.1(a) shall be subject to cancellation, provided that a Contract for public work shall not be unlawful, void, or voidable solely due to the failure of the awarding body, Bidder, or any subcontractor to comply with the requirements of section 1725.5 of this section.

**9.3.** By submitting a bid or proposal to the City, Bidder is certifying that he or she has verified that all subcontractors used on this public works project are registered with the DIR in compliance with Labor Code sections 1771.1 and 1725.5, and Bidder shall provide proof of registration for themselves and all listed subcontractors to the City at the time of bid or proposal due date or upon request.

**10. Stop Order**. For Bidder or its subcontractor(s) engaging in the performance of any public work contract without having been registered in violation of Labor Code sections 1725.5 or 1771.1, the Labor Commissioner shall issue and serve a stop order prohibiting the use of the unregistered Bidder or unregistered subcontractor(s) on ALL public works until the unregistered Bidder or unregistered subcontractor(s) is registered. Failure to observe a stop order is a misdemeanor.

**11. List of all Subcontractors**. The City may ask Bidder for the most current list of subcontractors (regardless of tier), along with their DIR registration numbers, utilized on this contract at any time during performance of this contract, and Bidder shall provide the list within ten (10) working days of the City's request. Additionally, Bidder

shall provide the City with a complete list of all subcontractors utilized on this contract (regardless of tier), within ten working days of the completion of the contract, along with their DIR registration numbers. The City shall withhold final payment to Bidder until at least 30 days after this information is provided to the City.

**12. Exemptions for Small Projects**. There are limited exemptions for installation, alteration, demolition, or repair work done on projects of \$25,000 or less. The Bidder shall still comply with Labor Code sections 1720 et. seq. The only recognized exemptions are listed below:

**12.1.** Registration. The Bidder will not be required to register with the DIR for small projects. (Labor Code section 1771.1).

**12.2.** Certified Payroll Records. The records required in Labor Code section 1776 shall be required to be kept and submitted to the City of San Diego, but will not be required to be any interview of the particular sector.

will not be required to be submitted online with the DIR directly. The Bidder will need to keep those records for at least three years following the completion of the contract. (Labor Code section 1771.4).

**12.3.** List of all Subcontractors. The Bidder shall not be required to hire only registered subcontractors and is exempt from submitting the list of all subcontractors that is required in section 11 above. (Labor Code section 1773.3).

**B.** Living Wages. This Contract is subject to the City's Living Wage Ordinance (LWO), codified in San Diego Municipal Code Chapter 2, Article 2, Division 42. Bidder agrees to require all of its subcontractors, sublessees, and concessionaires subject to the LWO to comply with the LWO and all applicable regulations and rules.

1. **Payment of Living Wages**. Pursuant to San Diego Municipal Code section 22.4220(a), Bidder and its subcontractors shall ensure that all workers who perform work under this Contract are paid not less than the required minimum hourly wage rates and health benefits rate unless an exemption applies.

**1.1** Copies of such living wage rates are available on the City website at https://www.sandiego.gov/purchasing/programs/livingwage/. Bidder and its subcontractors shall post a notice informing workers of their rights at each job site or a site frequently accessed by covered employees in a prominent and accessible place in accordance with San Diego Municipal Code section 22.4225(e).

**1.2** LWO wage and health benefit rates are adjusted annually in accordance with San Diego Municipal Code section 22.4220(b) to reflect the Consumer Price Index. Service contracts, financial assistance agreements, and City facilities agreements must include this upward adjustment of wage rates to covered employees on July 1 of each year.

2. Compensated Leave. Pursuant to San Diego Municipal Code section 22.4220(c), Bidder and its subcontractors shall provide a minimum of eighty (80) hours per year of compensated leave. Part-time employees must accrue compensated leave at a rate proportional to full-time employees. **3. Uncompensated Leave.** Bidder and its subcontractors must also permit workers to take a minimum of eighty (80) hours of uncompensated leave per year to be used for the illness of the worker or a member of his or her immediate family when the worker has exhausted all accrued compensated leave.

**4. Enforcement and Remedies**. City will take any one or more of the actions listed in San Diego Municipal Code section 22.4230 should Bidder or its subcontractors are found to be in violation of any of the provisions of the LWO.

**5. Payroll Records.** Bidder and its subcontractors shall submit weekly certified payroll records online via the City's web-based Labor Compliance Program. Bidder is responsible for ensuring its subcontractors submit certified payroll records to the City.

**5.1** For contracts subject to both living wage and prevailing wage requirements, only one submittal will be required. Submittals by a Bidder and all subcontractors must comply with both ordinance requirements.

6. **Certification of Compliance**. San Diego Municipal Code section 22.4225 requires each Bidder to fill out and file a living wage certification with the Living Wage Program Manager within thirty (30) days of Award of the Contract.

7. Annual Compliance Report. Bidder and its subcontractors must file an annual report documenting compliance with the LWO pursuant to San Diego Municipal Code section 22.4225(d). Records documenting compliance must be maintained for a minimum of three (3) years after the City's final payment on the service contract or agreement.

8. Exemption from Living Wage Ordinance. Pursuant to San Diego Municipal Code section 22.4215, this Contract may be exempt from the LWO. For a determination on this exemption, Bidder must complete the Living Wage Ordinance Application for Exemption.

**C. Highest Wage Rate Applies.** Bidder is required to pay the highest applicable wage rate where more than one wage rate applies.

# 20000086-25-L, Treebeard\_LMS at Tierrasanta MAD, Final

Final Audit Report

2024-12-06

Created:	2024-12-05
By:	Lisa Hoffmann (Ihoffmann@sandiego.gov)
Status:	Signed
Transaction ID:	CBJCHBCAABAA2PUP71IMYGNhqDYAU3fknEMqOtFnQI

# "20000086-25-L, Treebeard\_LMS at Tierrasanta MAD, Final" His tory

- Document created by Lisa Hoffmann (lhoffmann@sandiego.gov) 2024-12-05 - 10:45:25 PM GMT- IP address: 156.29.5.177
- Document emailed to diane@treebeardlandscape.com for signature 2024-12-05 - 10:48:02 PM GMT
- Email viewed by diane@treebeardlandscape.com 2024-12-06 - 1:19:20 AM GMT- IP address: 172.226.7.13
- Signer diane@treebeardlandscape.com entered name at signing as Diane Patterson 2024-12-06 - 1:22:24 AM GMT- IP address: 72.220.152.147
- Document e-signed by Diane Patterson (diane@treebeardlandscape.com) Signature Date: 2024-12-06 - 1:22:26 AM GMT - Time Source: server- IP address: 72.220.152.147
- Agreement completed. 2024-12-06 - 1:22:26 AM GMT



# 20000086-25-L, Treebeard\_LMS at Tierrasanta MAD, vendor signed

Final Audit Report

2024-12-10

Created:	2024-12-10
By:	Lisa Hoffmann (Ihoffmann@sandiego.gov)
Status:	Signed
Transaction ID:	CBJCHBCAABAAC2wDUTfa9mSIWjJ3c3T1C5JrQDmKcdgW

# "20000086-25-L, Treebeard\_LMS at Tierrasanta MAD, vendor si gned" History

- Document created by Lisa Hoffmann (lhoffmann@sandiego.gov) 2024-12-10 - 7:05:23 PM GMT- IP address: 156.29.5.177
- Document emailed to Claudia Abarca (CAbarca@sandiego.gov) for signature 2024-12-10 - 7:10:29 PM GMT
- Document e-signed by Claudia Abarca (CAbarca@sandiego.gov) Signature Date: 2024-12-10 - 9:25:16 PM GMT - Time Source: server- IP address: 156.29.5.177
- Document emailed to Daphne Skogen (DSkogen@sandiego.gov) for signature 2024-12-10 - 9:25:19 PM GMT
- Email viewed by Daphne Skogen (DSkogen@sandiego.gov) 2024-12-10 - 11:28:29 PM GMT- IP address: 156.29.5.190
- Document e-signed by Daphne Skogen (DSkogen@sandiego.gov) Signature Date: 2024-12-10 - 11:29:31 PM GMT - Time Source: server- IP address: 156.29.5.190
- Agreement completed. 2024-12-10 - 11:29:31 PM GMT

Adobe Acrobat Sign

#### AA. CONTRACTORS CERTIFICATION OF PENDING ACTIONS

As part of this Contract, the Contractor must provide to the City a list of all instances within the past 10 years where a complaint was filed or pending against the Contractor in a legal or administrative proceeding alleging that Contractor discriminated against its employees, subcontractors, vendors or suppliers, and a description of the status or resolution of that complaint, including any remedial action taken.

#### CHECK ONE BOX ONLY.

- The undersigned certifies that within the past 10 years the Contractor has NOT been the subject of a complaint or pending action in a legal administrative proceeding alleging that Contractor discriminated against its employees, subcontractors, vendors or suppliers.
- The undersigned certifies that within the past 10 years the Contractor has been the subject of a complaint or pending action in a legal administrative proceeding alleging that Contractor discriminated against its employees, subcontractors, vendors or suppliers. A description of the status or resolution of that complaint, including any remedial action taken and the applicable dates is as follows:

DATE OF CLAIM	LOCATION	DESCRIPTION OF CLAIM	LITIGATION (Y/N)	STATUS	RESOLUTION/ Remedial Action Taken

Contractor Name: Treebeard Landscape

Certified By Diane Patterson Title General Manager

Equal Opportunity Contracting Sole Source Contracts, Cooperative Procurement Contracts Goods/Services Contracts Under \$150,000 Revised 1/1/16 OCA Document No. 1208377



EQUAL OPPORTUNITY CONTRACTING (EOC)

1200 Third Avenue, Suite 200 • San Diego, CA 92101 Phone: (619) 236-6000 • Fax: (619) 236-5904

## **BB. WORK FORCE REPORT**

The objective of the *Equal Employment Opportunity Outreach Program*, San Diego Municipal Code Sections 22.3501 through 22.3517, is to ensure that contractors doing business with the City, or receiving funds from the City, do not engage in unlawful discriminatory employment practices prohibited by State and Federal law. Such employment practices include, but are not limited to unlawful discrimination in the following: employment, promotion or upgrading, demotion or transfer, recruitment or recruitment advertising, layoff or termination, rate of pay or other forms of compensation, and selection for training, including apprenticeship. Contractors are required to provide a completed *Work Force Report (WFR).* 

#### NO OTHER FORMS WILL BE ACCEPTED CONTRACTOR IDENTIFICATION

Type of Contractor:  Construction Consultant	□ Grant Recipient			□ Lessee/Lessor ■ Other
Name of Company:Treebeard Landscape				
ADA/DBA:				
Address (Corporate Headquarters, where ap	oplicable): 9917 Campo Rd.			
City: Spring Valley, CA	County: San Diego		State: <u>CA</u>	Zip: <u></u>
Telephone Number: 619-507-8202		Fax Number:		
Name of Company CEO: Craig Des Laurie	rs			
Address(es), phone and fax number(s) of co Address: 9917 Campo Rd.	ompany facilities located in S	San Diego County	(if different from	above):
City: Spring Valley	County: San Diego		State: CA	Zip: 91979
Telephone Number: 519-507-8202				
Type of Business: Landscape Contractor		Type of License:	C-27	
The Company has appointed: Diane Patters	son			
As its Equal Employment Opportunity Offic		en given authority	to establish, diss	eminate and enforce equal
employment and affirmative action policies Address: 9917 Campo Rd	s of this company. The EEOO	) may be contacted	l at:	
		-		eebeardlandscape.com
Address: 9917 Campo Rd	Fax Number:		_Email: _info@tr	eebeardlandscape.com /ork Force - Mandatory
Address: 9917 Campo Rd	Fax Number:	nty (or Most Lo	_Email: _info@tr	
Address: 9917 Campo Rd	Fax Number: One San Diego Cour	ity (or Most Lo	_Email: _info@tr	
Address: 9917 Campo Rd	Fax Number: One San Diego Cour Branch Work Force Managing Office We	nty (or Most Lo * ork Force	_ Email:info@tr	
Address: 9917 Campo Rd Telephone Number: 619-507-8202	Fax Number: The one San Diego Court The Branch Work Force The Managing Office We Check the box above that	nty (or Most Lo * ork Force : applies to this W	_ Email: _info@tr ocal County) W FR.	ork Force - Mandatory
Address: 9917 Campo Rd	Fax Number: Fax Number: Done San Diego Cour Branch Work Force Managing Office Wo Check the box above that port for all participating bra pard Landscape	nty (or Most Lo * ork Force applies to this W nches. Combine V	_ Email: _info@tr ocal County) W FR.	ork Force - Mandatory
Address: <u>9917 Campo Rd</u> Telephone Number: <u>619-507-8202</u> *Submit a separate Work Force Rep I, the undersigned representative of <u>Treebe</u>	Fax Number: Description: Description: Descript	nty (or Most Lo * ork Force : applies to this W nches. Combine V n Name)	_ Email:info@tr ocal County) W FR. VFRs if more than	York Force – Mandatory
Address: 9917 Campo Rd Telephone Number: 619-507-8202 *Submit a separate Work Force Rep I, the undersigned representative of Treebe San Diego	Fax Number: The Decision of the Decisi	nty (or Most Lo * ork Force : applies to this W nches. Combine V n Name)	_ Email:info@tr ocal County) W FR. VFRs if more than	ork Force - Mandatory
Address: <u>9917 Campo Rd</u> Telephone Number: <u>619-507-8202</u> *Submit a separate Work Force Rep I, the undersigned representative of <u>Treebe</u>	Fax Number: The Decision of the Decisi	nty (or Most Lo * ork Force : applies to this W nches. Combine V n Name)	_ Email:info@tr ocal County) W FR. VFRs if more than hereby certify tha	York Force – Mandatory a one branch per county.
Address: 9917 Campo Rd Telephone Number: 619-507-8202 *Submit a separate Work Force Rep I, the undersigned representative of Treebe San Diego (County)	Fax Number:	nty (or Most Lo * ork Force : applies to this W nches. Combine V n Name)	_ Email: <u>info@tr</u> ocal County) W FR. VFRs if more than hereby certify than of <u>September</u>	York Force – Mandatory a one branch per county.

WORK FORCE REPO	
NAME OF FIRM:	Treebeard Landscape

DATE: \_09/04/2024

OFFICE(S) or BRANCH(ES): Spring Valley

COUNTY: San Diego

INSTRUCTIONS: For each occupational category, indicate number of males and females in every ethnic group. Total columns in row provided. Sum of all totals should be equal to your total work force. Include all those employed by your company on either a full or part-time basis. The following groups are to be included in ethnic categories listed in columns below:

- (1) Black or African–American
- (2) Hispanic or Latino
- (3) Asian

(4) American Indian or Alaska Native

- (5) Native Hawaiian or Pacific Islander
- (6) White
- (7) Other race/ethnicity; not falling into other groups

Definitions of the race and ethnicity categories can be found on Page 4

ADMINISTRATION OCCUPATIONAL CATEGORY	(1 Blac Afri Amer	k or can	Hispa	2) nic or ino	( <u>a</u> Asi	3) ian		rican 1/ Nat.	Pac	5) :ific nder		6) lite	Other	7) Race/ nicity
	(M)	(F)	(M)	(F)	(M)	(F)	(M)	(F)	(M)	(F)	(M)	(F)	(M)	(F)
Management & Financial			1								1	1		
Professional														
A&E, Science, Computer														
Technical														
Sales			1								1			
Administrative Support				3										
Services														
Crafts														
Operative Workers														
Transportation														
Laborers*														

\*Construction laborers and other field employees are not to be included on this page

Totals Each Column		2	3				2	1	
		2	0				2	•	

**Grand Total All Employees** 



Indicate by Gender and Ethnicity the Number of Above Employees Who Are Disabled:

Disabled							
Non-Profit Organizations Only:							
Board of Directors							
Volunteers							
Artists							

#### WORK FORCE REPORT - Page 3 Treebeard Landscape

DATE: 09/04/2024

OFFICE(S) or BRANCH(ES): Spring Valley

San Diego COUNTY:

INSTRUCTIONS: For each occupational category, indicate number of males and females in every ethnic group. Total columns in row provided. Sum of all totals should be equal to your total work force. Include all those employed by your company on either a full or parttime basis. The following groups are to be included in ethnic categories listed in columns below:

- (1) Black or African-American
- (2) Hispanic or Latino

NAME OF FIRM:

- (3) Asian
- (4) American Indian or Alaska Native

- (5) Native Hawaiian or Pacific Islander
- (6) White
- (7) Other race/ethnicity; not falling into other groups

Definitions of the race and ethnicity categories can be found on Page 4

TRADE OCCUPATIONAL CATEGORY	Blac Afr	1) ck or ican rican	(2 Hisp or La		(: Asi		Ame Indi	ian/ at.	Pac	5) cific nder	(6 Wh	-	(7 Other Ethn	Race/
	(M)	(F)	(M)	(F)	(M)	(F)	(M)	(F)	(M)	(F)	(M)	(F)	(M)	(F)
Brick, Block or Stone Masons														
Carpenters														
Carpet, Floor & Tile Installers Finishers														
Cement Masons, Concrete Finishers														
Construction Laborers														
Drywall Installers, Ceiling Tile Inst														
Electricians														
Elevator Installers														
First-Line Supervisors/Managers														
Glaziers														
Helpers; Construction Trade														
Millwrights														
Misc. Const. Equipment Operators														
Painters, Const. & Maintenance														
Pipelayers, Plumbers, Pipe & Steam Fitters														
Plasterers & Stucco Masons														
Roofers														
Security Guards & Surveillance Officers														
Sheet Metal Workers														
Structural Metal Fabricators & Fitters														
Welding, Soldering & Brazing Workers														
Workers, Extractive Crafts, Miners			135											
Totals Each Column			135											
Grand Total All Employees	]	14												
Indicate By Gender and Ethnicity the Nu	mber o	t Abov	e Empl	oyees V	Vho Ar	e Disab	oled:							
Disabled				1										



## **Work Force Report**

#### HISTORY

The Work Force Report (WFR) is the document that allows the City of San Diego to analyze the work forces of all firms wishing to do business with the City. We are able to compare the firm's work force data to County Labor Force Availability (CLFA) data derived from the United States Census. CLFA data is a compilation of lists of occupations and includes the percentage of each ethnicity we track (American Indian or Alaska Native, Asian, Black or African-American, Native Hawaiian or Pacific Islander, White, and Other) for each occupation. Currently, our CLFA data is taken from the 2010 Census. In order to compare one firm to another, it is important that the data we receive from the consultant firm is accurate and organized in the manner that allows for this fair comparison.

#### WORK FORCE & BRANCH WORK FORCE REPORTS

When submitting a WFR, especially if the WFR is for a specific project or activity, we would like to have information about the firm's work force that is actually participating in the project or activity. That is, if the project is in San Diego and the work force is from San Diego, we want a San Diego County Work Force Report<sup>1</sup>. By the same token, if the project is in San Diego, but the work force is from another county, such as Orange or Riverside County, we want a Work Force Report from that county<sup>2</sup>. If participation in a San Diego project is by work forces from San Diego County and, for example, from Los Angeles County and from Sacramento County, we ask for separate Work Force Reports representing your firm from each of the three counties.

#### MANAGING OFFICE WORK FORCE

Equal Opportunity Contracting may occasionally ask for a Managing Office Work Force (MOWF) Report. This may occur in an instance where the firm involved is a large national or international firm but the San Diego or other local work force is very small. In this case, we may ask for both a local and a MOWF Report<sup>1, 3</sup>. In another case, when work is done only by the Managing Office, only the MOWF Report may be necessary.<sup>3</sup>

#### **TYPES OF WORK FORCE REPORTS:**

Please note, throughout the preceding text of this page, the superscript numbers one <sup>1</sup>, two <sup>2</sup> & three <sup>3</sup>. These numbers coincide with the types of work force report required in the example. See below:

- <sup>1</sup> One San Diego County (or Most Local County) Work Force – Mandatory in most cases
- <sup>2</sup> Branch Work Force \*
- <sup>3</sup> Managing Office Work Force
- \*Submit a separate Work Force Report for all participating branches. Combine WFRs if more than one branch per county.

#### **RACE/ETHNICITY CATEGORIES**

American Indian or Alaska Native – A person having origins in any of the peoples of North and South America (including Central America) and who maintains tribal affiliation or community attachment.

Asian – A person having origins in any of the peoples of the Far East, Southeast Asia, or the Indian subcontinent including, for example, Cambodia, China, India, Japan, Korea, Malaysia, Pakistan, the Philippine Islands, Thailand, and Vietnam.

**Black or African American** – A person having origins in any of the Black racial groups of Africa.

**Native Hawaiian or Pacific Islander** – A person having origins in any of the peoples of Hawaii, Guam, Samoa, or other Pacific Islands.

**White** – A person having origins in any of the peoples of Europe, the Middle East, or North Africa.

**Hispanic or Latino** – A person of Cuban, Mexican, Puerto Rican, South or Central American, or other Spanish culture or origin.

#### Exhibit A: Work Force Report Job Categories – Administration

Refer to this table when completing your firm's Work Force Report form(s).

#### Management & Financial

Advertising, Marketing, Promotions, Public Relations, and Sales Managers Business Operations Specialists Financial Specialists Operations Specialties Managers Other Management Occupations Top Executives

#### Professional

Art and Design Workers Counselors, Social Workers, and Other Community and Social Service Specialists Entertainers and Performers, Sports and Related Workers Health Diagnosing and Treating Practitioners Lawyers, Judges, and Related Workers Librarians, Curators, and Archivists Life Scientists Media and Communication Workers **Other Teachers and Instructors Postsecondary Teachers** Primary, Secondary, and Special Education School Teachers **Religious Workers** Social Scientists and Related Workers

#### Architecture & Engineering, Science, Computer

Architects, Surveyors, and Cartographers Computer Specialists Engineers Mathematical Science Occupations Physical Scientists

#### Technical

Drafters, Engineering, and Mapping Technicians Health Technologists and Technicians Life, Physical, and Social Science Technicians Media and Communication Equipment Workers

#### Sales

Other Sales and Related Workers Retail Sales Workers Sales Representatives, Services Sales Representatives, Wholesale and Manufacturing Supervisors, Sales Workers

#### **Administrative Support**

Financial Clerks Information and Record Clerks Legal Support Workers EOC Work Force Report (rev. 08/2018) Material Recording, Scheduling, Dispatching, and Distributing Workers Other Education, Training, and Library Occupations Other Office and Administrative Support Workers Secretaries and Administrative Assistants Supervisors, Office and Administrative Support Workers

#### Services

**Building Cleaning and Pest Control Workers Cooks and Food Preparation Workers** Entertainment Attendants and Related Workers Fire Fighting and Prevention Workers First-Line Supervisors/Managers, Protective Service Workers Food and Beverage Serving Workers Funeral Service Workers Law Enforcement Workers Nursing, Psychiatric, and Home Health Aides **Occupational and Physical Therapist Assistants** and Aides Other Food Preparation and Serving Related Workers **Other Healthcare Support Occupations** Other Personal Care and Service Workers Other Protective Service Workers Personal Appearance Workers Supervisors, Food Preparation and Serving Workers Supervisors, Personal Care and Service Workers Transportation, Tourism, and Lodging Attendants

#### Crafts

Construction Trades Workers Electrical and Electronic Equipment Mechanics, Installers, and Repairers Extraction Workers Material Moving Workers Other Construction and Related Workers Other Installation, Maintenance, and Repair Occupations Plant and System Operators Supervisors of Installation, Maintenance, and Repair Workers Supervisors, Construction and Extraction Workers Vehicle and Mobile Equipment Mechanics, Installers, and Repairers Woodworkers

#### **Operative Workers**

Assemblers and Fabricators Communications Equipment Operators Food Processing Workers Metal Workers and Plastic Workers Motor Vehicle Operators Other Production Occupations Printing Workers Supervisors, Production Workers Textile, Apparel, and Furnishings Workers

#### Transportation

Air Transportation Workers Other Transportation Workers Rail Transportation Workers Supervisors, Transportation and Material Moving Workers Water Transportation Workers

#### Laborers

Agricultural Workers Animal Care and Service Workers Fishing and Hunting Workers Forest, Conservation, and Logging Workers Grounds Maintenance Workers Helpers, Construction Trades Supervisors, Building and Grounds Cleaning and Maintenance Workers Supervisors, Farming, Fishing, and Forestry Workers

#### Exhibit B: Work Force Report Job Categories-Trade

Brick, Block or Stone Masons Brickmasons and Blockmasons

#### Carpenters

Stonemasons

#### **Carpet, floor and Tile Installers and Finishers** Carpet Installers

Floor Layers, except Carpet, Wood and Hard Tiles Floor Sanders and Finishers Tile and Marble Setters

Cement Masons, Concrete Finishers

Cement Masons and Concrete Finishers Terrazzo Workers and Finishers

#### **Construction Laborers**

Drywall Installers, Ceiling Tile Inst Drywall and Ceiling Tile Installers Tapers EOC Work Force Report (rev. 08/2018) Electricians

**Elevator Installers and Repairers** 

**First-Line Supervisors/Managers** First-line Supervisors/Managers of Construction Trades and Extraction Workers

#### Glaziers

#### Helpers, Construction Trade

Brickmasons, Blockmasons, and Tile and Marble Setters Carpenters Electricians Painters, Paperhangers, Plasterers and Stucco Pipelayers, Plumbers, Pipefitters and Steamfitters Roofers All other Construction Trades

#### Millwrights

Heating, Air Conditioning and Refrigeration Mechanics and Installers Mechanical Door Repairers

Control and Valve Installers and Repairers

Other Installation, Maintenance and Repair Occupations

**Misc. Const. Equipment Operators** Paving, Surfacing and Tamping Equipment Operators Pile-Driver Operators Operating Engineers and Other Construction Equipment Operators

### Painters, Const. Maintenance

Painters, Construction and Maintenance Paperhangers

#### **Pipelayers and Plumbers**

Pipelayers Plumbers, Pipefitters and Steamfitters

#### **Plasterers and Stucco Masons**

#### Roofers

Security Guards & Surveillance Officers

**Sheet Metal Workers** 

#### Structural Iron and Steel Workers

#### Welding, Soldering and Brazing Workers

Welders, Cutter, Solderers and Brazers Welding, Soldering and Brazing Machine Setter, Operators and Tenders

Workers, Extractive Crafts, Miners

#### City of San Diego CONTRACTOR STANDARDS Pledge of Compliance

The City of San Diego has adopted a Contractor Standards Ordinance (CSO) codified in section 22.3004 of the San Diego Municipal Code (SDMC). The City of San Diego uses the criteria set forth in the CSO to determine whether a contractor (bidder or proposer) has the capacity to fully perform the contract requirements and the business integrity to justify the award of public funds. This completed Pledge of Compliance signed under penalty of perjury must be submitted with each bid and proposal. If an informal solicitation process is used, the bidder must submit this completed Pledge of Compliance to the City prior to execution of the contract. All responses must be typewritten or printed in ink. If an explanation is requested or additional space is required, Contractors must provide responses on Attachment A to the Pledge of Compliance and sign each page. Failure to submit a signed and completed Pledge of Compliance may render a bid or proposal non-responsive. In the case of an informal solicitation or cooperative procurement, the contract will not be awarded unless a signed and completed Pledge of Compliance is submitted. A submitted Pledge of Compliance is a public record and information contained within will be available for public review except to the extent that such information is exempt from disclosure pursuant to applicable law.

By signing and submitting this form, the contractor is certifying, to the best of their knowledge, that the contractor and any of its Principals have not within a five (5) year period – preceding this offer, been convicted of or had a civil judgement rendered against them for commission of a fraud or a criminal offense in connection with obtaining, attempting to obtain or performing a public (Federal, State or local) contract or subcontract.

"Principal" means an officer, director, owner, partner or a person having primary management or supervisory responsibilities within the firm. The Contractor shall provide immediate written notice to the Procurement Contracting Officer handling the solicitation, at any time prior to award should they learn that this Representations and Certifications was inaccurate or incomplete.

#### This form contains 10 pages, additional information may be submitted as part of Attachment A.

BIDDER/PROPOSER INFORMATIO	DN:			
Legal Name		DBA		
Street Address	City	State	Zip	
Contact Person, Title	Phone	Fax		

#### A. BID/PROPOSAL/SOLICITATION TITLE:

Β.

Provide the name, identity, and precise nature of the interest\* of all persons who are directly or indirectly involved\*\* in this proposed transaction (SDMC § 21.0103). Use additional pages if necessary.

\* The precise nature of the interest includes:

- the percentage ownership interest in a party to the transaction,
- the percentage ownership interest in any firm, corporation, or partnership that will receive funds from the transaction,
- the value of any financial interest in the transaction,
- any contingent interest in the transaction and the value of such interest should the contingency be satisfied, and
- any philanthropic, scientific, artistic, or property interest in the transaction.

Contractor Standards Form Revised: April 5, 2018 Document No. 841283\_4 \*\* Directly or indirectly involved means pursuing the transaction by:

- communicating or negotiating with City officers or employees,
- submitting or preparing applications, bids, proposals or other documents for purposes of contracting with the City, or
- directing or supervising the actions of persons engaged in the above activity.

Title/Position
Employer (if different than Bidder/Proposer)
Title/Position
Employer (if different than Bidder/Proposer)
Title/Position
Employer (if different than Bidder/Proposer)
Title/Position
Employer (if different than Bidder/Proposer)
Title/Position
Employer (if different than Bidder/Proposer)
Title/Position

Name	Title/Position
City and State of Residence	Employer (if different than Bidder/Proposer)
Interest in the transaction	
Name	Title/Position
City and State of Residence	Employer (if different than Bidder/Proposer)
Interest in the transaction	
Name	Title/Position
City and State of Residence	Employer (if different than Bidder/Proposer)
Interest in the transaction	

#### C. OWNERSHIP AND NAME CHANGES:

1. In the past five (5) years, has your firm changed its name? Yes No

If Yes, use Attachment A to list all prior legal and DBA names, addresses, and dates each firm name was used. Explain the specific reasons for each name change.

2. Is your firm a non-profit? Yes

🗆 No

If Yes, attach proof of status to this submission.

In the past five (5) years, has a firm owner, partner, or officer operated a similar business? 3. Yes No

If Yes, use Attachment A to list names and addresses of all businesses and the person who operated the business. Include information about a similar business only if an owner, partner, or officer of your firm holds or has held a similar position in another firm.

#### D. **BUSINESS ORGANIZATION/STRUCTURE:**

Indicate the organizational structure of your firm. Fill in only one section on this page. Use Attachment A if more space is required.

Corporation Date incorporated:	State of incorporation:	
	President: Vice Pres: Secretary: Treasurer:	
Type of corporation: C Sub Is the corporation authorized to do b	ochapter S ousiness in California: Yes	No
If Yes, after what date:		
Contractor Standards Form Revised: April 5, 2018 Document No. 841283_4	Page <b>3</b> of <b>12</b>	

Is your firm a publicly traded corporation?	Yes	No
---	-----	----

If Yes, how and where is the stock traded? \_\_\_\_\_

If Yes, list the name, title and address of those who own ten percent (10 %) or more of the corporation's stocks:

Do the President, Vice President, Secretary and/or Treasurer of your corporation have a third pa	arty interest or a	other financial
be the resident, vice resident, secretary analor reasoned of your corporation have a time pe	inty interest of t	
interests in a business/enterprise that performs similar work, services or provides similar goods?	Yes	No

If Yes, please use Attachment A to disclose.

	se list the following:	Authorized	Issued	Outstanding
а.	Number of voting shares:			
	Number of nonvoting shares:			
	Number of shareholders:			
d.	Value per share of common stock:		Par	\$
			Book	\$
			Market	\$
Limite	ed Liability Company Date formed: _	Sta	ate of formation:	
			100()	
List th	he name, title and address of members	who own ten percent (	10%) or more of t	ne company:
Partn				
	ership Date formed:			
	nership Date formed:	_ State of formation:		
	nership Date formed:	_ State of formation:		
List n	nership Date formed:	_ State of formation:		
List n	nership Date formed:	_ State of formation:		
List n	Proprietorship Date formed:	_ State of formation:	the past five (5) y	rears. Do not include ownershi
List n	ership Date formed:         names of all firm partners:         Proprietorship         Date started:         Ill firms you have been an owner, partne         Dilcly traded company:	_ State of formation:	the past five (5) y	rears. Do not include ownershi
List n Sole I List a pub	ership Date formed:         names of all firm partners:         Proprietorship         Date started:         Ill firms you have been an owner, partne         Dilcly traded company:	_ State of formation:	the past five (5) y	rears. Do not include ownershi

Revised: April 5, 2018 Document No. 841283\_4 Note: To be responsive, each member of a Joint Venture or Partnership must complete a separate Contractor Standards form.

#### E. FINANCIAL RESOURCES AND RESPONSIBILITY:

1. Is your firm preparing to be sold, in the process of being sold, or in negotiations to be sold? Yes No

If Yes, use Attachment A to explain the circumstances, including the buyer's name and principal contact information.

2. In the past five (5) years, has your firm been denied bonding? Yes No

If Yes, use Attachment A to explain specific circumstances; include bonding company name.

In the past five (5) years, has a bonding company made any payments to satisfy claims made against a bond issued on your firm's behalf or a firm where you were the principal?
 Yes
 No

If Yes, use Attachment A to explain specific circumstances.

4. In the past five (5) years, has any insurance carrier, for any form of insurance, refused to renew the insurance policy for your firm?

Yes No

If Yes, use Attachment A to explain specific circumstances.

 Within the last five years, has your firm filed a voluntary petition in bankruptcy, been adjudicated bankrupt, or made a general assignment for the benefit of creditors? Yes No

If Yes, use Attachment A to explain specific circumstances.

6. Are there any claims, liens or judgements that are outstanding against your firm? Yes No

If Yes, please use Attachment A to provide detailed information on the action.

7. Please provide the name of your principal financial institution for financial reference. By submitting a response to this Solicitation Contractor authorizes a release of credit information for verification of financial responsibility.

Name of Bank:
Point of Contact:
Address:
Phone Number:

8. By submitting a response to a City solicitation, Contractor certifies that he or she has sufficient operating capital and/or financial reserves to properly fund the requirements identified in the solicitation. At City's request, Contractor will promptly provide to City

a copy of Contractor's most recent balance sheet and/or other necessary financial statements to substantiate financial ability to perform.

9. In order to do business in the City of San Diego, a current Business Tax Certificate is required. Business Tax Certificates are issued by the City Treasurer's Office. If you do not have one at the time of submission, one must be obtained prior to award.

Business Tax Certificate No.:\_\_\_\_\_ Year Issued: \_\_\_\_\_

#### F. PERFORMANCE HISTORY:

 In the past five (5) years, has your firm been found civilly liable, either in a court of law or pursuant to the terms of a settlement agreement, for defaulting or breaching a contract with a government agency?
 Yes No

If Yes, use Attachment A to explain specific circumstances.

2. In the past five (5) years, has a public entity terminated your firm's contract for cause prior to contract completion? Yes No

If Yes, use Attachment A to explain specific circumstances and provide principal contact information.

In the past five (5) years, has your firm entered into any settlement agreement for any lawsuit that alleged contract default, breach of contract, or fraud with or against a public entity?
 Yes
 No

If Yes, use Attachment A to explain specific circumstances.

Is your firm currently involved in any lawsuit with a government agency in which it is alleged that your firm has defaulted on a contract, breached a contract, or committed fraud?
 Yes No

If Yes, use Attachment A to explain specific circumstances.

5. In the past five (5) years, has your firm, or any firm with which any of your firm's owners, partners, or officers is or was associated, been debarred, disqualified, removed, or otherwise prevented from bidding on or completing any government or public agency contract for any reason?

Yes No

If Yes, use Attachment A to explain specific circumstances.

6. In the past five (5) years, has your firm received a notice to cure or a notice of default on a contract with any public agency?

Yes No

If Yes, use Attachment A to explain specific circumstances and how the matter resolved.

7. Performance References:

Please provide a minimum of three (3) references familiar with work performed by your firm which was of a similar size and nature to the subject solicitation within the last five (5) years.

Please note that any references required as part of your bid/proposal submittal are in addition to those references required as part of this form.

Company Name: \_\_\_\_\_

Contractor Standards Form Revised: April 5, 2018 Document No. 841283\_4

Contact Name and Phone Number:
Contact Email:
Address:
Contract Date:
Contract Amount:
Requirements of Contract:
Company Name:
Contact Name and Phone Number:
Contact Email:
Address:
Contract Date:
Contract Amount:
Requirements of Contract:
Company Name:
Contact Name and Phone Number:
Contact Email:
Address:
Contract Date:
Contract Amount:
Requirements of Contract:

#### G. COMPLIANCE:

1. In the past five (5) years, has your firm or any firm owner, partner, officer, executive, or manager been criminally penalized or found civilly liable, either in a court of law or pursuant to the terms of a settlement agreement, for violating any federal, state, or local law in performance of a contract, including but not limited to, laws regarding health and safety, labor and employment, permitting, and licensing laws? No

Yes

If Yes, use Attachment A to explain specific circumstances surrounding each instance. Include the name of the entity involved, the specific infraction(s) or violation(s), dates of instances, and outcome with current status.

2. In the past five (5) years, has your firm been determined to be non-responsible by a public entity? Yes No

If Yes, use Attachment A to explain specific circumstances of each instance. Include the name of the entity involved, the specific infraction, dates, and outcome.

#### H. BUSINESS INTEGRITY:

- 1. In the past five (5) years, has your firm been convicted of or found liable in a civil suit for making a false claim or material misrepresentation to a private or public entity?
  - Yes No

If Yes, use Attachment A to explain specific circumstances of each instance. Include the entity involved, specific violation(s), dates, outcome and current status.

2. In the past five (5) years, has your firm or any of its executives, management personnel, or owners been convicted of a crime, including misdemeanors, or been found liable in a civil suit involving the bidding, awarding, or performance of a government contract?

Yes No

If Yes, use Attachment A to explain specific circumstances of each instance; include the entity involved, specific infraction(s), dates, outcome and current status.

3. In the past five (5) years, has your firm or any of its executives, management personnel, or owners been convicted of a federal, state, or local crime of fraud, theft, or any other act of dishonesty?

Yes No

If Yes, use Attachment A to explain specific circumstances of each instance; include the entity involved, specific infraction(s), dates, outcome and current status.

4. Do any of the Principals of your firm have relatives that are either currently employed by the City or were employed by the City in the past five (5) years?

Yes No

If Yes, please disclose the names of those relatives in Attachment A.

#### I. BUSINESS REPRESENTATION:

- 1. Are you a local business with a physical address within the County of San Diego? Yes No
- 2. Are you a certified Small and Local Business Enterprise certified by the City of San Diego? Yes No

Certification #

- 3. Are you certified as any of the following:
  - a. Disabled Veteran Business Enterprise Certification #\_\_\_\_\_
  - b. Woman or Minority Owned Business Enterprise Certification # \_\_\_\_\_
  - c. Disadvantaged Business Enterprise Certification #\_\_\_\_\_

#### J. WAGE COMPLIANCE:

In the past five (5)years, has your firm been required to pay back wages or penalties for failure to comply with the federal, state or local **prevailing, minimum, or living wage laws?** Yes No If Yes, use Attachment A to explain the specific circumstances of each instance. Include the entity involved, the specific infraction(s), dates, outcome, and current status.

By signing this Pledge of Compliance, your firm is certifying to the City that you will comply with the requirements of the Equal Pay Ordinance set forth in SDMC sections 22.4801 through 22.4809.

#### K. STATEMENT OF SUBCONTRACTORS & SUPPLIERS:

Please provide the names and information for all subcontractors and suppliers used in the performance of the proposed contract, and what portion of work will be assigned to each subcontractor. Subcontractors may not be substituted without the written consent of the City. Use Attachment A if additional pages are necessary. If no subcontractors or suppliers will be used, please write "Not Applicable."

Company Name:					
Address:					
Contact Name:	Phone:	_ Email:			
Contractor License No.:	ontractor License No.: DIR Registration No.:				
Sub-Contract Dollar Amount: \$	(per year) \$	(total contract term)			
Scope of work subcontractor will perform:					
Identify whether company is a subcontract	tor or supplier:				
Certification type (check all that apply):	DBE DVBE ELBE MBE	SLBE WBE Not Certified			
Contractor must provide valid proof of cert	ification with the response to the	bid or proposal to receive			
participation credit.					
Company Name: Address:					
Contact Name:	Phone:	Email:			
Contractor License No.:	DIR Registration N	0.:			
Sub-Contract Dollar Amount: \$	(per year) \$	(total contract term)			
Scope of work subcontractor will perform:					
Identify whether company is a subcontractor or supplier:					
Certification type (check all that apply):	DBE DVBE ELBE MBE	SLBE WBE Not Certified			
Contractor must provide valid proof of certification with the response to the bid or proposal to receive					
participation credit.					

#### L. STATEMENT OF AVAILABLE EQUIPMENT:

A full inventoried list of all necessary equipment to complete the work specified may be a requirement of the bid/proposal submission.

By signing and submitting this form, the Contractor certifies that all required equipment included in this bid or proposal will be made available one week (7 days) before work shall commence. In instances where the required equipment is not owned by the Contractor, Contractor shall explain how the equipment will be made available before the commencement of work. The City of San

Diego reserves the right to reject any response, in its opinion, if the Contractor has not demonstrated he or she will be properly equipped to perform the work in an efficient, effective matter for the duration of the contract period.

#### M. TYPE OF SUBMISSION: This document is submitted as:

Initial submission of *Contractor Standards Pledge of Compliance* Initial submission of *Contractor Standards Pledge of Compliance* as part of a Cooperative agreement Initial submission of *Contractor Standards Pledge of Compliance* as part of a Sole Source agreement Update of prior *Contractor Standards Pledge of Compliance* dated \_\_\_\_\_\_.

#### Complete all questions and sign below.

Under penalty of perjury under the laws of the State of California, I certify that I have read and understand the questions contained in this Pledge of Compliance, that I am responsible for completeness and accuracy of the responses contained herein, and that all information provided is true, full and complete to the best of my knowledge and belief. I agree to provide written notice to the Purchasing Agent within five (5) business days if, at any time, I learn that any portion of this Pledge of Compliance is inaccurate. Failure to timely provide the Purchasing Agent with written notice is grounds for Contract termination.

I, on behalf of the firm, further certify that I and my firm will comply with the following provisions of SDMC section 22.3004:

(a) I and my firm will comply with all applicable local, State and Federal laws, including health and safety, labor and employment, and licensing laws that affect the employees, worksite or performance of the contract.

(b) I and my firm will notify the Purchasing Agent in writing within fifteen (15) calendar days of receiving notice that a government agency has begun an investigation of me or my firm that may result in a finding that I or my firm is or was not in compliance with laws stated in paragraph (a).

(c) I and my firm will notify the Purchasing Agent in writing within fifteen (15) calendar days of a finding by a government agency or court of competent jurisdiction of a violation by the Contractor of laws stated in paragraph (a).

(d) I and my firm will notify the Purchasing Agent in writing within fifteen (15) calendar days of becoming aware of an investigation or finding by a government agency or court of competent jurisdiction of a violation by a subcontractor of laws stated in paragraph (a).

(e) I and my firm will cooperate fully with the City during any investigation and to respond to a request for information within ten (10) working days.

Failure to sign and submit this form with the bid/proposal shall make the bid/proposal non-responsive. In the case of an informal solicitation, the contract will not be awarded unless a signed and completed *Pledge of Compliance* is submitted.

Name and Title

Signature

Date

#### City of San Diego CONTRACTOR STANDARDS Attachment "A"

Provide additional information in space below. Use additional Attachment "A" pages as needed. Each page must be signed. Print in ink or type responses and indicate question being answered.

I have read the matters and statements made in this Contractor Standards Pledge of Compliance and attachments thereto and I know the same to be true of my own knowledge, except as to those matters stated upon information or belief and as to such matters, I believe the same to be true. I certify under penalty of perjury that the foregoing is true and correct.

Print Name, Title

Signature

Date